Logix5000 @ Allen-Bradley

1756 ControlLogix 1768 CompactLogix
1769 CompactLogix 1789 SoftLogix 1794 FlexLogix
DriveLogix  PowerFlex 700S

LISTEN.
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SGI-1.1 http://www.rockwellautomation.com/
literature/ )
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Allen-Bradley CompactLogix ControlLogix DriveLogix FLEX /O Kinetix MessageView MicroLogix POINT I/O PhaseManager PowerFlex RSFieldbus RSLinx Classic
RSLinx Enterprise  RSLogix 5000 RSNetWorx for ControlNet RSNetWorx for DeviceNet Rockwell Software Rockwell Automation Compact I/O RediSTATION Series 9000
FlexLogix PowerFlex 4 PowerFlex 40 PowerFlex 40P PowerFlex 70 PowerFlex 700 PowerFlex 700H PowerFlex 700S PowerFlex 753 PowerFlex 755 PowerFlex 7000 PLC-
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ControlFLASH DH+ Data Highway Plus Integrated Architecture Logix5000 ControlLogix-XT ~ GuardLogix RSView Encompass 1336 FORCE 1336 PLUS 1336 IMPACT
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FactoryTalk
Logix
(ALMD ALMA)

(XIC XIO OTE OTL
OTU ONS OSR OSF

OSRI  OSFI)

ALMD 38
ALMD 39
ALMD 39
ALMD 40

(ALMA) .« . oo 42

ALMA o7
ALMA 58
ALMA 99
ALMA 60



(TON TOF RTO (TON). ..o 106
TONR TOFR RTOR (TOF) . oo 110
CTU CTD CTUD RES) (RTO). 114

L 145

(MSG GSV SSV 10T7T) (MSG) ..o 146
MSG e 154

PLC SLC (ERR) .\, 158

MSG 170

€ T 175

GSV/ISSV 185



AddOnlInstructionDefintion — .................. 186

Controller . 187
ControllerDevice ... ... . 188
CST 190
DEL 191
FaultLog ... 194
Message ... 195
Module ... . 196
Program . ... ... 198
Routine ... 200
Safety .. 201
SerialPort .. 202
Task e 203
WallClockTime ... ... . . 205
GSVISSV e 206
................................ 206
.................................. 207
........................... 208
(IOT) . 209
5
.......................................... 213
(CMP EQU GEQ (CMP). . 214
GRT LEQ LES LIM CMP gig
MEQ NEQ) 217
................................ 217
......................... 218
(EQU). .o 219
(GEQ) . .ot 223
(GRT) . o e 227
(LEQ) ..o 231
(LES) ..o 235
(LIM). e 239
(MEQ) . ..o 245
........................... 246
(NEQ). ..o 250
6
L 255
(CPT ADD SUB (CPT) . e 256
MUL DIV MOD SQR et ggg
SQRT NEG ABS) 259
(ADD). . oo 260



/
(MOV MVM BTD
MVMT BTDT CLR
SWPB AND OR
XOR NOT BAND
BOR BXOR BNOT)

( )}
(FAL FSC COP CPS

FLL AVE SRT STD
SIZE)

“ [ 338

FAL 352

FSC 359



« )
(BSL BSR FFL FFU

LFL LFU)

(SQI SQO SQL)

(JMP LBL JSR RET
SBR JXR TND MCR
UiD UIE AFI NOP

EOT SFP SFR
EVENT)

(FLL) . .ot 369
(AVE). . . o 373
(SRT) . 378
(STD) . oo 383
(SIZE) . . .o 389
9
.......................................... 393
(BSL) ..o 394
(BSR) ..ot 398
FIFO (FFL). . oo 402
FIFO (FFU) . 408
LIFO (LFL) . oo 414
LIFO (LRU) . o 420
10
.......................................... 427
(SQD .« v 428
........................... 429
SQI SQO ... .. 431
(SQO) v v 432
........................... 433
SQI SQO...... ... 435
SQO Position................. . 435
(SQL). v v 436
11
.......................................... 441
(IMP)
(LBL) ..o 442
(JSR)
(SBR) (RET). oo e 444
(OXR) oo 455
(TND) ..ot e 458
(MCR) . .o 460
(UID) (UIE) .............. 462
(AFD .o 464
(NOP) . .. 465
(EOT) .o 466
SFC (SFP) . .o 468
SFC (SFR) . . 470
(EVENT) .o e 472
EVENT 472



/
(FOR FOR..DO BRK
EXIT RET)

(FBC DDT DTR PID) (=10 N 486

PID 510

(SIN COS TAN ASN (SIN) o 528
ASIN ACS ACOS (COS) .o 531
ATN ATAN) (TAN) . oo e 534

10



LN LOG XPY

(DEG RAD TOD
FRD TRN TRUNC)

ASCII
(ABL ACB ACL AHL
ARD ARL AWA AWT)

ASCII
(CONCAT DELETE
FIND INSERT MID)

ASCII
(STOD STOR DTOS
RTOS UPPER LOWER)

.......................................... 547
() P 548
10 (e ]c) M 551
X Y OXPY) oo 554
16
.......................................... 557
[(3]=c) 558
(RAD). . oo 561
BCD (TOD). . o vt ee e e 564
(FRD) &t ooe e 567
(TRN) . o e e e 569
17
.......................................... 573
.................................... 574
ASCIL 576
............................... 576
ASCII (ABL) .o 578
ASCII (ACB) ..o 581
ASCI (ACL) oo 583
ASCII (AHL) .« oo 585
ASCI (ARD). . . oo et 589
ASCI (ARL) .« oo 593
ASCI (AWA). . o oo 597
ASCI (AWT) & oo 602
18
.......................................... 607
............................... 608
(CONCAT). oot 609
(o] =3 1 =) 611
INo) R 613
(INSERT). . e oot 615
(MID) .+ o oo e 617
19
.......................................... 619
............................... 620
DINT (STOD). .+ v e eeeeeee e 621
REAL (STOR) . v v 624
DINT (DTOS). + e 627
REAL (RTOS) oot 629

11



(BPT TPT)

12

(UPPER) . . ettt
(LOWER). . o oot e

20



............................... 677
................................ 677
.......................................... 678
.......................................... 679
............................... 679

IF..THEN . .. 680
CASE..OF . . . 683
FOR DO. ... 686
WHILE DO...... ... 689
REPEAT..UNTIL . ... ... 692
.......................................... 695

13
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Logix )
MOTION-UMO002)
Logix5000 ( MOTION-RMO002)
PhaseManager PhaseManager LOGIX-UM001)
Logix5000 ( 1756-RMO006)

15


http://literature.rockwellautomation.com/idc/groups/literature/documents/um/motion-um002_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/rm/motion-rm002_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/um/logix-um001_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/rm/1756-rm006_-en-p.pdf

ABL 19-617 AWT 18-602
ASCII ASCII

ABS 7-285 BAND 8-325

BNOT 8-334
ACB 18-581

AScll BOR 8-328

ACL 18-583
ASCII BPT 21-635
ACS 15-540

BRK 13-481
ADD 7-260 BSL 10-394
AFI 12-464 BSR 10-398
AHL 18-585 BTD 8-302
ASCII

BTDT 8-302
ALM

BTR 5-146
ALMA 2-42

BTW 5-146
ALMD 2-30

BXOR 8-331
AND 8-311 cC

CLR 8-302
ARD 18-589
ASCII CMP 6-214
ARL 18-593
ASCII CONCAT 19-609
ASN 15-537

cop 0-363
ATN 15-543 cos 553l
AVE 9-373 CPS 9-363
AWA 18-597
sl CPT 7-256

16




CTD 4-134
CTuU 4-130
CTUD 4-138

14-494

17-558

DELETE

19-611

DIV 7-269
DTOS 20-627
DINT

DTR 14-502
EOT 12-466
EQU 6-214

EVENT 12-472
FAL 9-343
FBC 14-486

FFL 10-402
FIFO
FFU 10-408
FIFO

FIND 19-613
FLL 9-369
FOR 13-478
FRD 17-567
FSC 9-354
GEQ 6-223
GRT 6-227
GSV 5-182

ICON

INSERT

A-649

19-615

5-209

A-649

12-442

17



JSR 12-444
IXR 12-455
LBL 12-442

LEQ 6-231

LES 6-235

LFL 10-414

LIFO

LFU 10-420

LIFO

LIM 6-239

LN 16-548

LOG 16-551
10

LOWER 20-633




5-146

7-266

MVM 8-293
MVMT 8-296
NEG 7-282
NEQ 6-250
NOP 12-465
NOT 8-322

A-649
ONS 3-90
OR 8-314
OREF A-649
OSFI 3-101
OSF 3-96
OSRI 3-93

19



OSR 3-93 RES 4-143

OTE 3-84 RET 12-444
13-482

oTL 3-86

oTuU 3-88

20

RTO 4-114
RTOR 4-126
RTOS 20-629
REAL

SBR 12-444

SFP 12-468
SFC

SFR 12-470
SFC

SIN 15-528
SIZE 9-389

11-428

11-436




SQO 11-432 TRN 17-569
SQR 7-278 TRUNC 17-569
SQRT 7-278 uiD 12-462
SRT 9-378 UIE 12-462
SRTP UPDN
/

SSUM UPPER 20-631
SSV 5-182 XIC 3-78
STD 9-383 X10 3-81
STOD 20-621 XOR 8-318

DINT
STOR 20-624

REAL XPY 16-554

XY
SUB 7-263
SWPB 8-307
TAN 15-534
TND 12-458
TOD 17-564
BCD

TOFR 4-122
TOF 4-110
TONR 4-118
TON 4-106
TOT
TPT 21-639

21
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Logix
Logix

Logix5000

( 1756-PM001)

Logix5000 Logix5000
CompactLogix

ControlLogix

DrivelLogix

FlexLogix
SoftLogix5800

Logix5000

) [

23


http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf
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Logix5000




1 (ON)

0 (OFF)

DINT

REAL)

N\
Nl

I/0

FOR

25



_10+/-15

(+/_10+/-38)

+/

Enableln
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Enableln

Enableln

Enableln

EnableOut

EnableOut

Enableln

Enableln

Enableln

Enableln

Enableln
Enableln

EnableOut

Enableln
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FactoryTalk
Logix
(ALMD ALMA)

Logix
FactoryTalk View SE (V5.0

FactoryTalk View
Factory Talk View SE
ALMD 30
ALMA 42
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1 FactoryTalk Logix (ALMD ALMA)
(ALMD) ALMD « /7 ) (Prog)
(Oper)
— LhAC
] ill?:ﬂimarm 7| FOInAkerm S — (In)
Progack 7
7 H&cked —
ProgReset 7
T H Suppressed —
ProgDizakle 7
7T i Disabled —
ProgEnahle 7
7 HCInstructFaut —
MinCurationPRE T
MinDurationACC "
ALMD ALARM_DIGITAL ALMD
In BOOL
In
ProgAck BOOL ProgAck
(
ProgReset BOOL ProgReset
( )
ProgDisable BOOL ProgDisable
( )
ProgEnable BOOL ProgEnable
( )
MinDurationPRE | DINT
MinDurationACC | DINT
ALMD(ALMD, In, ProgAck,
( 9 ALMD

ProgReset, ProgDisable,

ProgEnable);

30



FactoryTalk

Logix (ALMD ALMA)

1

AL o

ALnaa
sn alag Adarm

HHInAlam

HinAlamm

LinAlam

Liinsdam

RO CPosinAlam

ROCHeglnAlam

HHA e d

HA ceed

L clos

4 s aasa2000000

LLaciead
ROCPosAdeed

-

ROCHegAcked

o

Suppresse =

[:}

LS BRI I

Dizabled

ALMD ALARM_DIGITAL ALMD

ALARM_DIGITAL

Enableln

BOOL

BOOL

InFault

BOOL

InFaulted (Status.1)

InFault
InFaulted (Status.1)

)

Condition

BOOL

Condition

Condition In
In

31



1 FactoryTalk

Logix

(ALMD  ALMA)

AckRequired BOOL Acked
Latched BOOL InAlarm
ProgAck BOOL

OperAck BOOL

ProgReset BOOL InAlarm  In
OperReset BOOL InAlarm  In
ProgSuppress BOOL

OperSuppress BOOL

ProgUnsuppress | BOOL

32



FactoryTalk Logix (ALMD ALMA) 1
OperUnsuppress | BOOL
ProgDisable BOOL
OperDisable BOOL
ProgEnable BOOL
OperEnable BOOL
AlarmCountReset | BOOL
UseProgTime BOOL ProgTime

ProgTime

33



1 FactoryTalk Logix (ALMD ALMA)
ProgTime LINT UseProgTime
( )

Severity DINT

=1...1000(1000 )

=500
MinDurationPRE | DINT )

InAlarm

=0...2,147,483,647

=0
EnableOut BOOL
InAlarm BOOL ( )
Acked BOOL

AckRequired Acked
InAlarmUnack BOOL (InAlarm ) (Acked
) )
Suppressed BOOL
Disabled BOOL
MinDurationACC | DINT MinDurationPRE
(InAlarm )

AlarmCount DINT (InAlarm )
InAlarmTime LINT
AckTime LINT
RetToNormalTime | LINT
AlarmCountReset | LINT
Time
DeliveryER BOOL

34



FactoryTalk Logix (ALMD ALMA) 1

DeliveryDN BOOL
DeliveryEN BOOL
NoSubscriber BOOL
NoConnection BOOL
CommError BOOL
AlarmBuffered BOOL (CommEtrror ) (NoConnection )
Subscribers DINT
SubscNotified DINT
Status DINT

Status.0 = InstructFault

Status.1 = InFaulted

Status.2 = Severitylnv
InstructFault BOOL
(Status.0)
InFaulted BOOL InFault In
(Status.1)
Severitylnv BOOL
(Status.2)

<1 Severity = 1
> 1000 Severity = 1000
ALMD « /7 )
RSLinx Enterprise  FactoryTalk View SE

ALMD FactoryTalk View SE

“ ”” (Alarm Summary) “* ”” (Alarm Banner)

“ ”” (Alarm Status Explorer) =< 7z

(Alarm Log Viewer)

35



FactoryTalk Logix (ALMD ALMA)

RSLinx Enterprise
RSLinx
Enterprise

Latched = False

In = Condition, MinDurationACC >= MinDurationPRE

InAlarm = False InAlarm = True
Acked = True - Acked = False

InAlarm = False z InAlarm = True
Acked = False Acked = True

Latched = True

In = Condition, MinDurationACC >= MinDurationPRE

InAlarm = True
Acked = False

InAlarm = False
Acked = True

In I= Condition, &1 2

InAlarm = True
Acked = True

TET MBI B AR M TR RHIAIRE . ProgAck, OperAck. % f4/1(RSLogix 5000 %44
RSView #x14).

2B ZMAE M7 Rk E Ak EProgReset, OperReset. % f#1(RSLogix 5000 4t ff.
RSView #x14),



FactoryTalk Logix (ALMD ALMA) 1

Latched = False

In = Condition, MinDurationACC >= MinDurationPRE

InAlarm = False l z InAlarm = True Acked = True
-
In I= Condition
Latched = True
In = Condition, MinDurationACC >= MinDurationPRE
InAlarm = False l z InAlarm = True Acked = True

In = Condition, £ i’

TANEE EMARNAXREMIRE. ProgReset, OperReset. % f#/l(RSLogix 5000 41 ff. RSView #f#)

InAlarm Acked

Enableln  EnableOut

In

Enableln  EnableOut

In

37



1 FactoryTalk Logix (ALMD ALMA)
InAlarm Acked
InAlarm Acked
Enableln
EnableOut EnableOut
Enableln
EnableOut EnableOut
ALMD
Iy == Condition [—I
Proghck/ Opariek |_| |_|
ProgResstiDparRasat |—| —| -|
sl arm
Ached

38




1

FactoryTalk Logix (ALMD  ALMA)
ALMD
In == Condition
Proghck/Operick |_| |_|
ndlanm =
L
Acked
ALMD

In == Candilian

Frog A O ok

Frnan‘-y_".-Cl;n?ar:jnl |-| -|

InAdanT

39



FactoryTalk Logix (ALMD ALMA)

ALMD
In == Condition
InAlarm e
Acked |
Motor101Ack
Motorl101Ack
Matar1 11 Crvertemp AL MWD
] F Digital Alarm
ALRD Motor1 01 Faut | ... | Indlarm > —
Motor! 01 FaittoStar Progack Motor 01 Aok
] [ 0De B Acked ==
ProgReset 0
o Suppressed —
ProgDizakble 0
H Disabled —
ProgEnakle 0
—C InatructFautt >—
MinDurationPRE 0+
hinCwuration4CC 0+




FactoryTalk Logix (ALMD  ALMA)

1

MotorlOlFaultConditions := Motorl0lOvertemp OR
MotorlOlFailToStart;

ALMD(Motorl0lFault,MotorlOlFaultConditions,
Motorl01Ack,0,0,0 );

BOR_01 Motori01F ault
BOR .. ALl
u] .
|I‘u1|:ut|:|r1EI1IIIuertem|:u :ID Boolean Or Crigital Alarm
u] u]
|- — — In1 Out— — — ] In In&larm [5
| >|3D— Inz Frogk Aded
mlotorid1FailtoStart — — ] In — — —] Frag ed [
u]
= In3 Suppressed [
u]
(=

|

& Ind | Dizabled [z
|
|

u]
il tor1 01 Ak [+ —

41



1 FactoryTalk

Logix

(ALMD  ALMA)

(ALMA)

ALMA

(Oper)

(Prog)

— Analog Alarv"nI " —
ALMA 7| . | FCHHInSErm —
In 7 FEHIRAErm > —
7T HELimdsarm —
ProgAckal 7 HCLLInAlErm 3—
77 HROCPosindlarm —
ProgDisable 7 HEROCMegindlarm —
"7 HCHHACked —
ProgEnable 7 O HACked —
27 L acked >—
HHLimit 27 HLLAcked —
HLirmit "7 HROCPosAckend —
LLirnit T HROCMegacked —
LLLirmit 77 HSuppressed —
HDisabled —
HCInatructFaut —
ALMA ALARM_ANALOG ALMA
In REAL In
DINT
INT
SINT
ProgAckAll BOOL ProgAckAll
ProgDisable BOOL ProgDisable
( )
ProgEnable BOOL ProgEnable
( )
HHIimit REAL
HLimit REAL
LLimit REAL
LLLimit REAL

42



FactoryTalk

Logix

(ALMD ALMA)

1

ALMACALMA, In, ProgAckAll,
ProgDisable, ProgEnable);

&

ALMA_01

ALMA
Analog Alarm

HHIrAlamm
HinAlam
LinAlam

LLinAlamm

ROCPosindlam
RO CHeqInAlam
HHAded

HA ched

LAched

LL Ached
ROCPosAdked
ROCHegAded
Suppressed
Disabled

L2 L I3 N N N 3 I 1 I 1 O ) B O C R I O

= T e = T = N = S = R =

ALMD

ALMA

ALARM_ANALOG

ALMA

43



1 FactoryTalk

Logix (ALMD  ALMA)

ALARM_ANALOG

Enableln BOOL
In REAL
=0.0
InFault BOOL InFault
InFaulted (Status.1)
InFaulted (Status.1) In
( )
HHEnabled BOOL
HEnabled BOOL
LEnabled BOOL
LLEnabled BOOL

44



FactoryTalk Logix (ALMD ALMA) 1
AckRequired BOOL HHAcked
HAcked LAcked LLAcked ROCPosAcked ROCNegAcked
ProgAckAll BOOL
OperAckAll BOOL
HHProgAck BOOL
HHOperAck BOOL
HProgAck BOOL
HOperAck BOOL
LProgAck BOOL
LOperAck BOOL
LLProgAck BOOL

45



1 FactoryTalk

Logix

(ALMD  ALMA)

LLOperAck BOOL
ROCPosProgAck | BOOL
ROCPosOperAck | BOOL
ROCNegProgAck | BOOL
ROCNegOperAck | BOOL
ProgSuppress BOOL
OperSuppress BOOL
ProgUnsuppress | BOOL
OperUnsuppress | BOOL
ProgDisable BOOL
OperDisable BOOL

46



FactoryTalk Logix (ALMD ALMA) 1
ProgEnable BOOL
OperEnable BOOL
AlarmCountReset | BOOL
HHLimit REAL
= HLimit < HHLimit <
=0.0
HHSeverity DINT
=1...1000(1000 1 )
=500
HLimit REAL

= LLimit < HLimit < HHLimit

=0.0

47



1 FactoryTalk

Logix

(ALMD  ALMA)

HSeverity DINT
=1...1000(1000 =
=500
LLimit REAL
= LLLimit < LLimit < HLimit
=0.0
LSeverity DINT
=1...1000(1000
=500
LLLimit REAL
= < LLLimit < LLimit
=0.0
LLSeverity DINT
=1...1000(1000
=500
MinDurationPRE | DINT
InAlarm

MinDurationPRE

=0...2,147,483,647

0

48



FactoryTalk Logix (ALMD  ALMA)
Deadband REAL
In
Deadband InAlarm( )
() In
. )
. )
Deadband
=0 = Deadband <
=0.0
ROCPosLimit REAL / ROCPeriod >0.0
> 0.0
=0.0
=0.0
ROCPosSeverity | DINT
=1...1000(1000 1 )
=500
ROCNegLimit REAL / ROCPeriod >0.0
> 0.0
=0.0...
=0.0
ROCNegSeverity | DINT
=1...1000(1000 1 )
=500
ROCPeriod REAL (
In ROC
> 0.0
=0.0
=0.0

49



1 FactoryTalk Logix (ALMD ALMA)

EnableOut BOOL
InAlarm BOOL

( )
AnylnAlarmUnack BOOL

( )

HHInAlarm BOOL
HinAlarm BOOL
LInAlarm BOOL
LLInAlarm BOOL
ROCPosInAlarm BOOL
ROCNegInAlarm BOOL
ROC REAL In ROCPeriod

ROC ROCPosInAlarm  ROCNeglInAlarm

ROC = (In -In )/ROCPeriod
HHAcked BOOL AckRequired
HAcked BOOL AckRequired
LAcked BOOL AckRequired
LLAcked BOOL AckRequired
ROCPosAcked BOOL AckRequired
ROCNegAcked BOOL AckRequired
HHInAlarmUnack BOOL

(HHInAlarm ) ( )
HinAlarmUnack BOOL (HInAlarm

) ( )

50



FactoryTalk Logix (ALMD ALMA) 1

LInAlarmUnack BOOL (LInAlarm
) ( )
LLInAlarmUnack BOOL
(LLInAlarm ) ( )
ROCPosInAlarmUnack | BOOL
(ROCPosInAlarm ) (
)
ROCNegInAlarmUnack | BOOL
(ROCNeglInAlarm ) (
)
Suppressed BOOL
Disabled BOOL
MinDurationACC DINT MinDurationPRE
(XInAlarm )
HHInAlarmTime LINT ALMA In
HHAlarmCount DINT
HinAlarmTime LINT ALMA In
HAlarmCount DINT
LInAlarmTime LINT ALMA In
LAlarmCount DINT
LLInAlarmTime LINT ALMA In
LLAlarmCount DINT
ROCPosInAlarmTime | LINT ALMA In
ROCPosInAlarmCount | DINT
ROCNegInAlarmTime | LINT ALMA In
ROCNegAlarmCount | DINT




1 FactoryTalk Logix (ALMD ALMA)

AckTime LINT

RetToNormalTime LINT

AlarmCountResetTime | LINT

DeliveryER BOOL

DeliveryDN BOOL

DeliveryEN BOOL

NoSubscriber BOOL

NoConnection BOOL

CommError BOOL

AlarmBuffered BOOL (CommeError ) (NoConnection

Subscribers DINT

SubscNotified DINT

Status DINT
Status.0 = InstructFault
Status.1 = InFaulted
Status.2 = Severitylnv
Status.3 = AlarmLimitsinv
Status.4 = Deadbandinv
Status.5 = ROCPosLimitinv
Status.6 = ROCNegLimitinv
Status.7 = ROCPeriodInv

InstructFault BOOL

(Status.0)

52



FactoryTalk Logix (ALMD ALMA) 1
InFaulted (Status.1) BOOL InFault In
Severitylnv (Status.2) | BOOL
<1 Severity = 1
> 1000 Severity = 1000
AlarmLimitsinv BOOL ( LLimit < LLLimit)
(Status.3)
Deadbandinv BOOL Deadband = 0.0
(Status.4)
=0 = Deadband <

ROCPosLimitinv BOOL ROCPosLimit = 0.0
(Status.5)
ROCNegLimitinv BOOL ROCNegLimit = 0.0
(Status.6)
ROCPeriodIlnv BOOL ROCPeriod = 0.0
(Status.7)

ALMA

RSLinx Enterprise  FactoryTalk View SE
ALMA FactoryTalk View SE
“ 77 (Alarm Summary) “© ”” (Alarm Banner)

”” (Alarm Status Explorer)  “<
(Alarm Log Viewer)

RSLinx Enterprise

RSLinx Enterprise

53



1 FactoryTalk Logix (ALMD ALMA)

In >= HLimit, MinDurationACC >= MinDurationPRE In >= HHLimit, MinDurationACC >= MinDurationPRE

HinAlarm = True HHInAlarm = False HHInAlarm = True

HinAlarm = False
HHAcked = True HHAcked = False

HAcked = True HAcked = False

HinAlarm = False HinAlarm = True HHInAlarm = False W HHInAlarm = True
HAcked = False HAcked = True HHAcked = False HHAcked = True
A £ AR E A TR IA_ERRIRE &4, HProgAck, HOperAck. ProgAckAll, OperAckAll, % 4l o I & AR E A ST R HRIA L ERRIBE &1, HHProgAck, HHOperAck, ProgAckAll, OperAckAll, % f#l
(RSLogix 5000 %+, RSView i ff), (RSLogix 5000 &, RSView #4t),

In <= LLimit, MinDurationACC >= MinDurationPRE In <= LLLimit, MinDurationACC >= MinDurationPRE

LinAlarm = False LinAlarm = True LLInAlarm = False LLInAlarm = True
LAcked = True LAcked = False LLAcked = True LLAcked = False

LinAlarm = False LInAlarm = True LLInAlarm = False LLInAlarm = True
LAcked = False LAcked = True LLAcked = False LLAcked = True

T LGEE SRR A R KB TRIRE &4 LProgAck. LOperAck. ProgAckAll. OperAckAll. 7 /4L 1o B Z AR A SRR BEIA T TIRIRE &1, LLProgAck, LLOperAck. ProgAckAll, OperAckAll, % /4
(RSLogix 5000 #f4. RSView #4f), (RSLogix 5000 #f4. RSView #ff),

ROC= In(CurrentSample) - In(PreviousSample) Hh, 7 ROCPeriod i} {8k fFH T —XK
- ROCPeriod AR REEFHA,

ROC <= -RocNegLimit

RocNegInAlarm = False RocNeglInAlarm = True
RocNegAcked = True RocNegAcked = False

ROC >= RocPosLimit

RocPosInAlarm = False RocPosInAlarm = True
RocPosAcked = True RocPosAcked = False

RocPoslInAlarm = False RocPoslInAlarm = True RocNegInAlarm = False RocNeglInAlarm = True

RocPosAcked = False RocPosAcked = True RocNegAcked = False RocNegAcked = True

T ORI B AR A7 Rk #EIA ROCPos 3R %4, RocPosProgAck. RocPosOperAck. ProgAckAll TR B AR R Rk #E A ROCNeg 3R %14, RocNegProgAck. RocNegOperAck. ProgAckAll, OperAckAll, %S4l
OperAckAll, Z 4/l (RSLogix 5000 #:ff. RSView &) (RSLogix 5000 #:f4. RSView #ff),
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In >= HLimit, MinDurationACC >= MinDurationPRE
HinAlarm = False l < HinAlarm = True HAcked = True

In < (HLimit - Deadband)

In <= LLimit, MinDurationACC >= MinDurationPRE

LinAlarm = False l < LInAlarm = True LAcked = True

In > (LLimit + Deadband)

»

HHInAlarm = False l < HHInAlarm = Tru HHAcked = True

In >= HHLimit, MinDurationACC >= MinDurationPRE >
e

In < (HHLimit - Deadband)

In <= LLLimit, MinDurationACC >= MinDurationPRE
LLInAlarm = False l < LLInAlarm = True LLAcked = True

In > (LLLimit + Deadband)

ROC = In(CurrentSample) - In(PreviousSample) $h, 7 ROCPeriod FHAEIA B T—%K
ROCPeriod PP REBFREAR,

ROC >= ROCPosLimit

RocPosInAlarm = False l RocPosInAlarm = True RocPosAcked = True

-

ROC < ROCPosLimit

ROC <= -ROCNegLimit

X

RocNeglInAlarm = False l

-t

ROC > -ROCNegLimit

ROC

RocNeglnAlarm = True RocNegAcked = True

ROC 4 4
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xInAlarm
EnableOut
EnableOut
xInAlarm xInAlarm
Enableln
EnableOut EnableOut
Enableln
EnableOut EnableOut
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ALMA

FriogAck AU CperickAll |_| |_|

ey en— Ack Ppguent
AMarm Condiion = HH A Cordsnn = HH
Caonian i Tim = {F Cordion s Tiew = 111
Alprm Sonnwces B

irAlares SsbeCongtion = W
Carnililicrs b T = [T

HHiInAlarm | | |

HinAkarm

LinAdarm

Mn__]

LLEnAlarm

HiAcked J |_

LAcked

LLACKed
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HHInAkarm

HinAlarnm

Linddim

LLInAdarm

HHAzked

HAcked

Lchond

LLAckad
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Alarm Condition

ProgAckAll/OperAckAll

Alarm Services

ROCPosInAlarm

Ack Request
Alarm Condition = ROCPos
Conditien In Time = {7

Ack Request
Alarm Conditicn = ROCMNeg
Condifion In Time = 16

ROCNegInAlarm

ROCPosAcked

ROCNegAcked
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ALMA

Alarm Condibon

ROCPosinAlarm

ROC HeginAdanmm

ROCPosAsksd

ROLNagAckad
Tank32LevelAck

Tank32LevelAck



ALMA(Tank32Level ,Tank32LT,Tank32LevelAck,0, 0);

a0
TankzZLT In
]
E—— —— ] Progadaall

[ Tankez Levalack

TankzZZLeuel
AL bl
Analog Alam
L]
HH InAlarm 3
HinAlarm IIE
LinAslarm 3
LLInAlarm T_ID
FOCFoslnAlarm IID
FOCHeaglnAal arm EID
HH 2ucdie d II:
HAcked [0
Loched 31
LL Ackoed 31
RO CFosAcke d 31
ROCH e g Acke d 31
Suppressaed T_Il:l
Disabled IID

FactoryTalk Logix (ALMD ALMA) 1
A1 h2,
Analog Alarm
ALMA, Tank32Level HCHHInA larm —
In Tank32LT HCHInA Erm —
0& HLindlarm>—
Progackal Tank32LevelAck HCLLInAErm —
0& | ROCPosindlarm»—
ProgDizakle ] o ROCHEgInAlErm —
B HHACKE e
ProgEnakle ] T H A ke =
L A ke e
HHLimit 00e [ELLAcked ==
HLimit 800€ pEROCPosAcked ==
LLimit 00& EROCNegAcked e
LLLimit 00e H Suppressed—
H Dizabled 3—
o InetructFaut —
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ALMD Properties - Motor101Fault (Rung 1)

ALMD ALMA
”” (Alarm Configuration)

A LMD
— Digital Alarm
ALMD hctor! 01Faul )—(In.&larm}—
Progack hatar 01 Ack
Oep [EAcked ==

ProgReset ]

M Suppressed —
Proglizakle ]

H Dizabled —
ProgEnakle ]

HCInstructF aut 3 —
hlinDurationPRE 0+«
hlinCuration&CC 0«

“c ”” (Properties) “c i
(Configuration)

ALMA Properties - Tank32Level (Rung 2)

62

EOWIQUIGUOHW Status | Parameters| Tag | Conhguratlon] Messages| Status| Parameters| Tag |
Condiior: = [~ Latched Input Level o - Inpu it o Erenge S
Severity: A00 E|: v Acknowledgement Required ¥ High High: ,9007 m Pasitive lﬂﬂi s m
Minimum Duration: |0 = m ¥ High 0.0 S0 = Megative: 0.0 /s [500 =
Message [ J N Low [ 500 = Periad: [N B
Associated Tags W Low Low: oo 500 El:
e Tyee Desaripion | Minimum Duration: 0 s
1
] Deadband [
E]
7 [ Acknowledgement Required
Alar Class: [
MewTap | FactonTak View Conmand, |
Alarm Class: |
FactoryT alk View Command: |
Status: OK
D Alam: N | & 3 Disabled +
aim: Moima isable I
Acknowledged € O Suppressed -
) s w © Ao Mol )
Dy & Disabled .
K. Cancel | | Help ‘ ® Al Acknowledged e @ Suppressed .
Drelivery:
oK Cancel | Help




FactoryTalk Logix (ALMD ALMA) 1

- ALMD
In=1 “ =17 In=0
€ :0”
- ALMA ( ) (
)
- ALMA
0
1...1000
1 1000
FactoryTalk
«1 250
«251 500
501 750
«751 1000
FactoryTalk
FactoryTalk
ms
- ALMD ( )
(InAlarm) “ ”” (Latched)
- ALMA << ”” (Deadband) In
(InAlarm) In
80 20 5
=80 =75 =
20 ==25
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”” (Alarm Summary)
”” (Alarm Summary)
FactoryTalk View

HMI “ *? (Alarm
Summary) “c ”” (Acknowledgement
Required)
Acked
“e A”” (Tank Farm A)
“c ”” (Control Loop) PID
HMI
PID

FactoryTalk View

64
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(InAlarm)
ALMD “ ”” (Configuration)
ALMA “c ”” (Message)

ALMD Properties - Motor101Fault (Rung 1) [5X) I ALMA Properties - Tank3ZLevel (Rung 2) X
Ennfigulalmnlsmtus] Paramelers} Tag ] Configuration MESSE‘DESISIalus] Panamale.s} Tag ]
Contion: = I Latched Level
High High
Severity 500 =] W Acknowledgement Fequired EAIED |
- High [
Mirirwum Duratior: [0 = ms
Low:
Message: [ J 0w [
Low Lowe |

Associsted Tags

ET1ED | [E1IE][ET(ED

| Name Tope Description | Rate 0f Change
1 Fositive: |
42 Megative: ‘
I
3 Associsted Tags
| Name: Typs D escription |
Mew Tag... 4“2
Alarmn Class [ g
4

FactoryTalk Wiew Command: |

Mew Tag...

Status: 0K

Az Nomal . Dissbled <
D Alsmr Normal O Disable Status: 0K
® Acknawledged i ) G 46 O Alarm: Mormal

Delivery: ‘3 Disabled s

oK Cancel | ‘ Help | ® All Acknawledged - @ Suppressed ’
Delivery:
i3 Cancel Help

255 (
) 1¥S:0 %Tag1*/
13
82
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ubT

(BOOL DINT INT SINT REAL)

/*S:0 %AlarmName*/
[ZonelController]Program:Main.MyAlarmTa
gName
/*S:0 %ConditionName*/
. HiHi Hi Lo LoLo
ROC_POS ROC_NEG
/*N:5 %InputValue NOFILL DP:0*/
. 0O 1
/*N:5 %LimitValue NOFILL DP:0*/
. 0 1
/*N:5 %Severity NOFILL DP:0*/
/*N:5 %Tagl NOFILL DP:0*/
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TYPE

TAG

ALMMSG en-us
ALMMSG en-us
ALMMSG en-us
ALMMSG en-us
ALMMSG en-us
ALMMSG en-us
ALMMS G de-ch
ALMMS G de-ch
TAG

AL MMSE en-us

BOOL /*N:1 %Tagl NOFILL DP:0*/
DINT 9 /*N:9 %Tag2 SPACEFILL DP:0*/
REAL 9 ( ) /*N:9 %InputValue NOFILL DP:3*/
3
REAL 8 ( ) /*N:8 %Tag3 ZEROFILL DP:4*/
4
/*S:0 %Tag4d*/
26 /*S:26 %Tagd*/
RSLogix
5000 / (.CSV .TXT)
/ (.CSV  .TXT)
“ ”? (TYPE) ISO
( ) “ ”” (DESCRIPTION)
e >” (SPECIFIER)
SCOPE (MNAME DESCRIFTION DATATYPE SPECIFIER

alma ALARM_ANALOG

alma’l HH alarrm for aperatar in English HH

alma’l H alarm for aperatar in English H

alma’l L alarmm for operator in English L

alma’l LL alarm for aperator in English LL

alma’l ROC positive alarm for operatar in English FOS

alma’l ROC positive alarm for operatar in English MNEG

alma’l HH Mitteilung fir den Operator auf Deutsch HH

alma’l H Mitteilung fir den Operator auf Deutsch H

alrmd1 ALARR DIGITAL

almd1 digital alarrm for operator in English A
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(ALMD ALMA)

68

Motor101Fault (Rung, 1)

Configuiation  Status | Parameters | Tag |

TIXT

) CSV

.CSV . TXT
ACD

.CSV . TXT

“ 7 (Status)

Configurstion| Messsges  5tatus | Parameters| Tag |

L) 4l alaim times are displayed in the workstation tine zane of [MT-05:00) (i) &l alam times are displayed in the workstation ime zane of (GMT-05:00]
In Alarm Level Rate Of Change
Time:
Acknowledge 3 High High 0] <+ @ Acknowledged 2 Positive (0] € O Acknowledged
Time In Alarm Time: In Alarm Time:
Retun To
Mormal Time: 2 High (0] < ® Acknowledged 2 Negative (0) € ) Acknowledged
Alarrn Count In Alarmn Tire: In Alarm Time:
Reset T
cee e DLow < ® Acknawledged
Subscribers: ] In Alarmn Time:
Subscriber Connection: ~ Yes 3 Low Low 0] e ® Acknowledged
Notfied Subsciibers: 0 Ao Time: .
Communication Error. N
Buftered N
Acknowledge Subscribers: 1}
Count, i Time
Subscriber Cornection:  “es
e Retun To
Marmal Time: Motified Subscribers: [t}
Alarm Count Communication Enor Mo
Reset Time:
Buftered No
Status: DK
& Alarm: Namal i3 O Disabled e
Status: OK
Acknowledged - 2 Suppressed «
O e o o @ Alam: Nomal
el © Disabled .
oK Cancel Help ® Al dcknowledged - 2 Suppressed £

Delivery:

Ok, Cancal

Help

(

) Logix

RSLinx Enterprise
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100 KB
(0...120 20 )
( InAlarmTime  RetToNormalTime
AckTime )
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* ProgAck
* ProgReset

* ProgDisable
* ProgEnable

* ProgSuppress MyDigitalAlarm.ProgDisable ALARM_DIGITAL

MyDigitalAlarm

HMI » OperAck
* OperReset

« OperDisable
* OperEnable

HMI

* OperSuppress MyDigitalAlarm.OperDisable

HMI

FactoryTalk View

HMI

ProgAck
ProgReset
ProgDisable
ProgEnable

L]

MyAnalogAlarm.ProgAck)

70

ALARM_DIGITAL  MyDigitalAlarm

( ProgAck)
(



FactoryTalk Logix (ALMD  ALMA)
MyAnalogAlarm.ProgAck ProgAck
MyAnalogAlarm.ProgAck

oL b,
— Analog Alarm
AL Wy Analogalarm | . | FCHHInSlEm 3—
In Amplituclet CHIRAlarm —
o0&  CLInAlarmy—
Progackall My & nalogalarm Progackal HCLLInAErm —
0& HCROCPozinAkarm—
ProgDizakle My tnalogdlarm ProgDisakble HCROCMegIndlarm 3—
& ECHHACKed =
ProgEnakle Ry 2 il & larm ProgEnable = HA ke =
0e ELAcked ==
HHLimit 10000 €  [ELLAcked Je=
HLirmit 1000 B ROCPosACked ==
LLirmit 200«  ECROCHegSCched e
LLLimit 100 [ Suppressed—
H Dizatled 3—
HCInstructFaut >—
HMI
. In
L]
FactoryTalk View SE
. (InAlarm
Acked ) In
. In
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. MinDuration
. InAlarmTime  RetToNormalTime

. Prog Oper

* DeliveryEN  DeliveryER  DeliveryDN
* NoSubscriber NoConnection CommError AlarmBuffered

72

SubscNotified
. RSLogix 5000 / /
. FactoryTalk View SE /
MinDuration
ReturnToNormal 10 ms
10 ms
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. 1 KB
1012
A
1100
A
1=DINT
2 =DINT
1522
A
1=DINT
2 =STRING
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2.2 KB

* HH
*H
L
o LL

2228

* HH
*H
L
e LL

1 =DINT
2 =DINT

2604

* HH
*H
L
. LL

A
1=DINT
2 = STRING

4536
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ALMD ALMA
(ALMD) (ALMA)
8 Us 17 ps
8 Us 60 Ys
35 us 17 ps
35 us 126 ps
( )
( )
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(XIC XIO OTE OTL OTU ONS OSR OSF

OSRI OSFI)
( )
XIC 78
1)
XIO 81
(1)
OTE 84
(1)
( ) OTL 86
(1)
( ) OoTuU 88
(1)
ONS 90
(1)
OSR 93
OSF 96
OSRI 98
OSFI 101

D



2 (XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)
(XIC) XiC
)
—J
BOOL
=)
XIC IF...THEN

78

IF data bit THEN
<statement>;

END_IF;

XIC



(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2

1 limit_switch_1 ( )

‘ [irmit_zwibch_1
J1LC
L

IF Timit_switch THEN

<statement>;
END_IF;
2 SV ( ) (
)
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XIC XIO OTE OTL OTU ONS OSR OSF OSRI

OSFI)

80

L
=

IF S:V THEN
<statement>;

END_IF;



(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2

(XIO) Xio

e

BOOL

El
XIO IF.. THEN
IF NOT data_bit THEN

<statement>;

END_IF;

XIO



(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

82

1 limit_switch_2

‘ lirmit_zwitch_2
J/F
L

IF NOT limit_switch_2 THEN

<statement>;
END_IF;
2 S:v ( )
)



(XIC XIO OTE OTL OTU ONS OSR OSF

OSRI

OSFI)

2

L
=

IF NOT S:V THEN
<statement>;

END_IF;
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

(OTE)

OTE

BOOL

OTE

data_bit [:=] BOOL_expression;

OTE

OTE
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2
switch OTE ( Jlight 1 switch OTE
( )ight_1
awitch light_1
1 E o

light_1 [:=] switch;

-
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

(OTL) oTL ()

—

BOOL

OTL IF.. THEN

IF BOOL_expression THEN
data_bit := 1;

END_IF;

OTL OTL
OoTu OTL

OTL
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

oTL oTL light_2
oTU

light_2 ‘
Ig.f]_“.

IF BOOL_expression THEN
light 2 = 1;

END_IF;
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

(OTU)

ouT ( )

BOOL

OoTuU IF.. THEN

IF BOOL_expression THEN
data_bit := 0O;

END_IF;

OTU OTU OTU

OTU
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

OoTU oTU light_2

light_2 ‘
IR

IF BOOL_expression THEN
light 2 = O;

END_IF;
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2 (XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

(ONS) ONS

?
_TONs -
BOOL

ONS IF.. THEN

IF BOOL_expression AND NOT storage bit THEN

<statement>;
END_IF;
storage_bit := BOOL_expression;
ONS ONS

ONS ONS
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XIC XIO OTE OTL OTU ONS OSR OSF OSRI

OSFI)

2

=0
4>
=1
|
-
ONS
ONS ONS

ONS
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

limit_switch_1 storage_1
limit_switch_1 storage 1 ONS
storage_1 ADD sum 1 limit_switch_1
sum limit_switch_1
sum
lirmit_zwitch_1  storage_1 A 00
1 E [OMN5T] Add

Source A 2um

] L

Source B 1

Deszt 2um

] L

IF limit_switch_1 AND NOT storage_1 THEN

sum = sum + 1;
END_IF;
storage_1 := limit_switch_1;




(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2

(OSR) OSR
OSRI 98
05A | e
— [One Shot Riging
Starage Bit 7 CSED— BOOL
Cutput Bit ?

BOOL

OSR OSR OSR

OSR




XIC XIO OTE OTL OTU ONS OSR OSF OSRI

OSFI)
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2
limit_switch_1 OSR
output_bit 1 ADD sum 5 limit_switch_1
sum limit_switch_1
sum
output_bit 1
[irmit_zwibch_1 05A
1 E One Shat Rising OB
Starage Bit storage_bit_1 | SB—
Cutput Bit output_bit_1
output_bit_1 A 00
JE Add
Source A 2um
0+
Source B A
Deszt 2um
0+

95



(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

96

(OSF) OSF
OSFI 101
05k | coms_
Ore Shat Falling
Storage Bit 7 |SE— BOOL
Cutput Bit ?
BOOL
OSF OSF OSE
OSF




(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

2

[irmit_zwibch_1
J1LC
L

limit_switch_1
output_bit 2 ADD
sum

output_bit_2

sum 5

sum

OSF
limit_switch_1
limit_switch_1

output_bit_2
1F
L

Q5F
Ore Shat Falling I |y
Storage Bit storage_hit?  —SBT—
Cutput Bit output_bit_2
A0D
Add
Source &, Fum
0+
Source B a
Dzt Fum
0+
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2 (XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

OSRI
(OSRI)
OSR 93

OSRI(OSRI1_tag);

OSRI FBD_ONESHOT OSRI
B OSRI_tag

OSRI =l
One Shot Rizsing with Input OSRI FBD_ONESHOT OSRI
[ InputBit CutputBit [

FBD_ONESHOT
Enableln BOOL
InputBit BOOL OSR
EnableOut BOOL
OutputBit BOOL

98



(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2

InputBit InputBit,,_; OSRI
OutputBit InputBit,,_; InputBit OSRI
OutputBit

| — T N
InputBit : \—
f e 0o 0
InputBit,,_; : L
OutputBit ﬂ L)

40048

InputBit ,,_1 InputBit ,,_1
InputBit ,,_1 InputBit .1
Enableln EnableOut
Enableln InputBit InputBit
InputBit ,,_1 InputBit ,, 4
Enableln

EnableOut




2 (XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

limit_switchl OSRI
OutputBit

OSRI_O1.InputBit := limit_switchl;

OSRI(OSRI_01);

State := OSRI_01.0utputBit;

OSRI_04

OsRI _|

One Shot Rising with Input

o o
limit_switch1 F— — — InputBit OutputBit [F— —
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2

InputBit OSFI OutputBit
(OSFI)
OSF 96

OSFI(OSFI_tag);

OSFI FBD_ONESHOT OSFI
B O5FI_tag

OEF =
One Shot Falling with Input . OSEI FBD_ONESHOT OSEI
[ InputBit CutputBit [

FBD_ONESHOT
Enableln BOOL
InputBit BOOL OSF
EnableOut BOOL
OutputBit BOOL
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2 (XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)

InputBit InputBit ,_; OSFI OutputBit
InputBit ., InputBit OSFI OutputBit

I o 00 U
InputBit
e 00
InputBit,,_; U
OutputBit s o0 -

40047

InputBit .1 InputBit .1
InputBit .1 InputBit .1
Enableln EnableOut
Enableln InputBit InputBit
InputBit ,_; InputBit ,_;
Enableln
EnableOut
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(XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl) 2

limit_switchl OSFI
OutputBit

OSFI_O1.InputBit := limit_switchl;

OSFI(OSFI_01);

Output_state := OSFI_01.0utputBit;

OSFI_02

O5FI _I

One Shot Falling with [Inpuf

a a
limit_awitch1 [ — =] InputBit OutputBit f— — E] Ouput_state

103



2 (XIC XIO OTE OTL OTU ONS OSR OSF OSRI OSFl)
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(TON TOF RTO TONR TOFR RTOR CTU

CTD CTUD RES)
TON 106
TOF 110
RTO 114
TONR 118
TOFR 122
RTOR 126
CTU 130
CTD 134
CTUD 138
RES 143

1ms
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

(TON)  TON )
TONR
TOM
—— Timer On Delay —CEN—
Tirmner 7 DN— TIMER
Preset 7 (Timer)
Accum ?
DINT
(Preset)
Accum DINT
0
TIMER
.EN BOOL TON
TT BOOL
.DN BOOL .ACC = .PRE
.PRE DINT .DN ( 1
.ACC DINT TON
TON
. TON
« ACC = .PRE
1ms 2000 .PRE
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

TON ACC
Bl L
|| | |
(EN) g ﬁ_
(TT) Jﬂ {—\ }
‘ |
(.DN) 4'—} i | -
il e
-_\ _\ ____________________ I -\
(ACC) o ™ PRE jﬁﬁi 16649

ACC = ACC + (current_time - last _time_scanned)

ACC last_time_scanned current_time

last_time_scanned 69 69
ACC
69
« JMP LBL
. (SFC)
.PRE<O 4 34
ACC <0 4 34
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RTO TONR TOFR RTOR CTU CTD CTUD RES)

(TON TOF
.EN .TT DN
ACC
EN .TT DN
ACC
DN =1

ACC = .ACC + (current_time -

last_time)
last_time = current_time

'

.EN

TT
last_time = current_time

ACC

ACC = 2,147,483,647

ACC = .PRE

ACC —
.ACC < .PRE DN
TT
- v
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

limit_switch_1 light 2 180 ms(timer_1 )
timer_1.acc 180 light_2 light_3 Light_3
TON timer_1
limit_switch_1 light 2
[irmit_zwibch_1 TOM
] E Tirner O Delay L EM—
Tirmner timer 1 —DMN3—
Preset 180 €
Accum ne
birmer_1.t light_2
1T e
L
timer_1.dn light_3
TF T
L
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

(TOF)  ToF ( )
TOFR
TOF
— Timer Off Delay L EM—
Tirmner 7 DN— TIMER
Preset ? (Timer)
Accum ?
DINT ( )
(Preset)
Accum DINT
0
TIMER
.EN BOOL TOF
TT BOOL
.DN BOOL .ACC = .PRE
.PRE DINT .DN ( 1
)
ACC DINT TOF
TOF
. TOF
« . ACC= .PRE
1ms 2000 .PRE
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

TOF ACC

(EN)

(TT)
(.DN)

(.ACC)

ﬁ 16650
.PRE

ACC = ACC + (current_time - last_time_scanned)

ACC last_time_scanned current_time

last_time_scanned 69 69
ACC
69
« JMP LBL
. (SFC)
.PRE<O 4 34
ACC<0 4 34
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

.EN

.ACC

.TT .DN

.PRE

r IT

.EN
last_time = current_time

.ACC = .PRE
ACC = .ACC + (current_time - last_time) ——— ACC —
last_time = current_time v
| ACC<.PRE|  .DN
IT
.EN
ACC L - %
ACC =2,147,483,647
.EN .DN a7
ACC
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3
limit_switch_2 light 2 180 ms(timer_2 )
timer_2.acc 180 light_2 light_3 Light_3
TOF timer_2
limit_switch_2 light 2
lirmit_zwitch_2 TOF
1 E Timer Off Delay L BN
Tirmner timer 2 —CDMN3—
Preszet 180
Accum ne
tirmer_2. tt light_2
1T s
L
timer_2.dn light_3
J7E o
o L
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(TON TOF RTO TONR TOFR

RTOR CTU CTD CTUD RES)

(RTO) RTO
RTOR
RTO
— Retentive Timer On L BN
Tirner 7 DN — TIMER
Preset ? (Timer)
Accum ?
DINT ( )
(Preset)
Accum DINT
0
TIMER
.EN BOOL RTO
JT BOOL
.DN BOOL ACC .PRE
.PRE DINT DN ( 1 )
.ACC DINT RTO
RTO RTO
ACC ACC TIMER RES
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3
1ms 2000 .PRE
} \ } \
| | | |
(EN) L L] \
| | | |
BN U
| | |
(TT) J‘ \J \ ‘ ’—‘ }
|
=
(.DN) | | — —
| | ] | |
| | o IR
L o I
L . |
\ | \ L,JJ
| fw 16651
(.ACC) | * |

ACC = ACC + (current_time - last_time_scanned)

ACC

last_time_scanned

current_time

last_time_scanned 69 69
ACC
69
« JMP LBL
. (SFC)
.PRE<O 4 34
ACC<O0 4 34
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(TON TOF RTO TONR TOFR RTOR CTU

CTD CTUD RES)

.EN .TT .DN

ACC

EN TT

.DN

ACC

.EN
TT
last_time = current_time

TT
.ACC = .ACC + (current_time - last_time)
last_time = current_time

'

ACC
A

.ACC = .PRE

.DN
TT

ACC = 2,147,483,647
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3
limit_switch_1 light 1 180 ms(timer_2 )
timer_3.acc 180 light_1 light_2 Light 2
timer_3 timer_3
limit_switch_2 light 1 limit_switch_2
RES timer_3( ACC )
[irmit_zwibch_1 RT0O
1 E Retertive Timer On - EM
Tirmner timer_ 3 | DMN3—
Preset 180 €
Accum ne
birmer_3.t light_1
1T T
L
timer_3.dn light_2
TE T
L
lirmit_zwitch_2 timer_3
1L CRESD—]
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3 (TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

TONR TimerEnable
(TONR)
« TON( 106
« RES( 143
TONR(TONR_tag);
TONR FBD_TIMER TONR
E ToNR [
Timer On Delay with Rezet
E| TimerEnable ACC O TONR FBD_T||V|ER TONR
O FRE o [
E|l Reset
FBD_TIMER
Enableln BOOL
TimerEnable BOOL
PRE DINT ACC 1ms
Status
=0
(Reset) BOOL
EnableOut BOOL
ACC BOOL
EN BOOL
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

TT BOOL
DN BOOL
Status DINT
InstructFault BOOL
(Status.0)
Presetinv BOOL
(Status.1)
TONR
. TONR
« ACC = PRE
1ms 2000 PRE
TimerEnable ﬂ
| | | |
E A{AT | |
(Tm 4(1 (47 }
| ‘ ]
] el
’ >‘ } . ’_H;JJJ— 16649
(ACC) 0o le—— "
Reset Reset
TimerEnable Reset TONR

ACC = ACC + (current_time - last_time_scanned)
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(TON TOF RTO TONR TOFR

RTOR CTU CTD CTUD

RES)

ACC

last_time_scanned

current_time

last_time_scanned 69 69
ACC
69
« JMP LBL
. (SFC)
EN TT DN EN TT DN
ACC 0 ACC 0
EN TT DN EN TT DN
ACC 0 ACC 0
Enableln EnableOut
Enableln Enableln Enableln
EnableOut
Reset Reset
EN TT DN ACC =0 EN TT DN ACC =0
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

limit_switchl TONR ACC
ACC PRE
ACC ? PRE DN timer_state

TONR_O1.Preset := 500;
TONR_O1.Reset := reset;

TONR_O1.TimerEnable := limit _switchl;

TONR(TONR_01);

timer_state := TONR_O1.DN;

TONR_O4

TONR [

Timer On Delay with Rezet

u]
limit_snitzh1 [ — —— —fz| TimerEnable ACC O
u]

oulo? — e e
a00
oo | — — — —ef st
o |
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3 (TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

TOFR TimerEnable
(TOFR)
« TON( 106
« RES( 143
TOFR(TOFR_tag);
TOFR FBD_TIMER TOER
E TOFR E|
Timer Off Delay with Feset
E] TimerEnable ACC O TOER FBD_T||V|ER TOER
O FRE oH B
E| Reset
FBD_TIMER
Enableln BOOL
TimerEnable BOOL
PRE DINT ACC 1ms
Status
=0
(Reset) BOOL
EnableOut BOOL
ACC BOOL
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

EN BOOL
TT BOOL
DN BOOL
Status DINT
InstructFault BOOL
(Status.0)
Presetinv BOOL
(Status.1)
TOFR
. TOFR
« ACC=PRE
1ms 2000 PRE
TimerEnable
(EN)

(TT)

(DN)

(ACC) e

ﬁ PRE
Reset Reset
TimerEnable Reset TOFR

ACC = ACC + (current_time - last_time_scanned)
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(TON TOF RTO TONR TOFR

RTOR CTU CTD CTUD

RES)

ACC

last_time_scanned

current_time

last_time_scanned 69 69
ACC
69
« JMP LBL
. (SFC)
EN TT DN EN TT DN
ACC PRE ACC PRE
EN TT DN EN TT DN
ACC PRE ACC PRE
Enableln EnableOut
Enableln Enableln Enableln
EnableOut
Reset Reset
EN TT DN ACC = PRE EN TT DN ACC = PRE
TOF RES TOF RES
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

limit_switchl TOFR ACC
ACC PRE ACC = PRE DN
timer_state2

TOFR_0O1.Preset :-= 500
TOFR_0O1.Reset := reset;

TOFR_O1.TimerEnable := limit _switchl;

TOFR(TOFR_01);

timer_state2 := TOFR_01.DN;

TOFR_04

TOFR o |

Timer Off Drelay with Reset

u}
limit_awitch [ —— —=| TimerEnable ACC [

u}

a
FRE OH o— — =] timer_statez
a00
m- r— ——=| Reseat

125



(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

RTOR TimerEnable
*« RTO( 114 )
« RES( 143 )
RTOR(RTOR_tag);
RTOR FBD_TIMER RTOR
B RTOR =
Retentive Timer On with Rezet
El TimerEnable ACC O RTOR FBD_‘“MER RTOR
O FRE oN @
E| Reset
FBD_TIMER
Enableln BOOL
TimerEnable BOOL
PRE DINT ACC 1ms
Status
=0
(Reset) BOOL
EnableOut BOOL
ACC DINT TimerEnable
TONR
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

EN BOOL
TT BOOL
DN BOOL
Status DINT
InstructFault BOOL
(Status.0)
Presetinv BOOL
(Status.1)
RTOR RTOR
ACC Reset ACC
1ms 2000 PRE
i \ \ \ \ \
TimerEnable <l—\_‘ | |
| \
EN) m | | |
\ | | \
\ | ] | \ ]
\ \ | \
\ \ |
(TT) _ | | |
| | | |
\ | . T
(DN) \ i 1 i
| | | | |
\ | | I ‘
\ | | | |
o o
L . |
| Hf | -
(o) S B
0
PRE
Reset Reset
TimerEnable Reset RTOR

ACC = ACC + (current_time - last_time_scanned)
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(TON TOF RTO TONR TOFR

RTOR CTU CTD CTUD

RES)

ACC

last_time_scanned

current_time

last_time_scanned 69 69
ACC
69
« JMP LBL
. (SFC)
EN TT DN EN TT
ACC ACC
EN TT DN EN TT
ACC ACC
Enableln EnableOut
Enableln Enableln
Enableln
EnableOut
Reset Reset
EN TT DN ACC =0 EN TT DN ACC =0
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

limit_switchl RTOR ACC
ACC PRE
ACC = PRE DN timer_state3

RTOR_O1.Preset := 500

RTOR_Ol1.Reset := reset;

RTOR_O1.TimerEnable := limit_switchl;

RTOR(RTOR_01);

timer_state3 := RTOR_01.DN;

RTOR_O4

RTOR
Retentive Timer On with Reset
u] )
limit_switchq o — — TimerEnakble ACC :ID
FRE DN Of— — — | timer_state3
A00
nl i —=| Rezet
o |
=
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD

RES)

(CTU) CTU
CTuD
CTu
— Count Up Tl
Counter 7 DN— COUNTE
Preszet ? (Counter) |R
Accum ?
DINT
(Preset)
Accum DINT
0
COUNTER
.CU BOOL CTU
.DN BOOL ACC .PRE
.0V BOOL 2,147,483,647
-2,147,483,648
.UN BOOL -2,147,483,648
2,147,483,647
.PRE DINT .DN
ACC DINT
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

CTu .CU CTu 1 CTu
.CU CTU CTU
ACC

\
\
\
\
\
| | | |
\
| | —
BRI EREEEREEE oo |- ---- ‘
| —
(ACC) 16636
.DN
RES 0
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3 (TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

.CU

.CU

cu .CU =0 .CU
ACC=.ACC+1
CuU =1
-
.UN
.DN
oV
.UN =0 OV =0
.UN — P oV ,
.UN =1 OV =1 l‘

.ACC = .PRE

ACC < .PRE
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3
limit_switch_1 10 .DN light 1
limit_switch_1 counter_1
.DN limit_switch_2 RES
counter_1( ACC ) light 1
[irmit_zwibch_1 CTU
1 E Count Up Iy [y W
Counter counter_1  —CDM—
Preset mn*
Accum ne
counter_1.dn light_1
1T T
L
lirmit_zwitch_2 counter_1
Tk CRESS—
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD

RES)

(CTD) CTD
CTuD
CTD
— Count Do —CD 7 —
Counter 7 =DN— COUNTE
Preset ? (Counter) |R
Accum ?
DINT
(Preset)
Accum DINT
0
COUNTER
.CD BOOL CTD
.DN BOOL ACC .PRE
.0V BOOL 2,147,483,647
-2,147,483,648
.UN BOOL -2,147,483,648
2,147,483,647
.PRE DINT .DN
ACC DINT
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3

(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

CTuU

CTD

CTD

CTD
CTD

.CD

CTD

CTD

.CD

ACC

gy

(CD)

(.DN)

(.ACC)

.DN

RES
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

.CD
.CD
cD .Ch =0 CD
ACC=.ACC-1
CDh =1
-
.oV
.DN
.UN
.UN =0 -
.UN — P oV 'QV =0
-
UN =1 oV =1
.ACC = .PRE
|
.ACC < .PRE
.DN
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES) 3

limit_switch_1
counter_ 1 1 limit_switch_2
counter 1 1 100 (counter_1.dn
) conveyor A

restart counter_1
1 E CRESS |
[irmit_zwibch_1 CTU
] E Count Up Iy [y W
Courter counter_1  —CDM—
Prezet 100 %
Accum ne
lirmit_zwitch_2 CTD
] E Court Daw I
Courter counter_1  —CDM—
Prezet 100 %
Accum ne
counter_1.dn u:u:unvegsr_.-’-'-.
If'
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

/ (CTUD) CUEnable CTUD 1
CDEnable
« CTUY( 130 )
« CTD( 134 )
« RES( 143 )
CTUD(CTUD_tag);
CTUD FBD_COUNTER CTUD
B CTUD 04
ETUD 1]
Count UpsCrown
CTUD FBD_COUNTER CTUD
& CUEnable ACC O
5| ClEnable CH [0
O FRE
= Reset
FBD_COUNTER
Enableln BOOL
CUEnable BOOL
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

3

CDEnable BOOL 1
PRE DINT DN
0
(Reset) BOOL
EnableOut BOOL
ACC DINT
Cu BOOL
CD BOOL
DN BOOL
oV BOOL 2,147,483,647
-2,147,483,648
UN BOOL -2,147,483,648
2,147,483,647
CTuD CUEnable CTuD
CTUD CDEnable CTUD 1

CUEnable CDEnable
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

CUEnable

(Cu)
(DN)

(ACC)

16636

CDEnable

(CD)

(DN)

(ACC)

16637

CTuUD

CTuD
FBD_COUNTER

Reset
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(TON TOF RTO TONR TOFR

RTOR CTU CTD CTUD RES) 3

CUEnable,,;, CDEnable,_;

CUEnable,,;, CDEnable,_;

CUEnable,,;, CDEnable,_;

CUEnable,,;, CDEnable,_;

Enableln

EnableOut

Enableln

CUEnable,.;, CDEnable,.;

Enableln

. EnableOut

CUEnable,,.;, CDEnable,.;

Enableln

CUEnable,.;, CDE
nable,; CU CD DN OV UN
ACC=0

CUEnable,; CDE
nable,;, CU CD DN OV UN
ACC=0

limit_switchl
CTUD

ACC 1

CUEnable
ACC = PRE

DN CTuD

CTUD_Ol1l.Preset := 500;

CTUD Ol.Reset := Restart;

CTUD_O1.CUEnable := limit_switchl;

CTUD(CTUD_01);

counter_state := CTUD_O1.DN;
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3 (TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

CTUD_DZ

CTuD J

Count Ups/Crovun

) u]
limit_awitch o —— —— —— 7| CUERable ACC O
u]
dovenae  onfpt — — o oo
500

— — — —— —T| Reset
e |

il
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(TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

(RES)

@
—CRES™-

RES TIMER COUNTER CONTROL

TIMER
CONTROL
COUNTER

RES

RES

TIMER

ACC

COUNTER

ACC

CONTROL

.POS

JAN

RES ACC .DN
RES TOF

TT
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3 (TON TOF RTO TONR TOFR RTOR CTU CTD CTUD RES)

RES
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/
(MSG GSV SSV

10T)

MSG 146
GSV 182
SSV 182
I/0 10T 209
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4 / (MSG GSV Ssv 10T)

(MSG) MSG

MEG
— Meszage

Message > e o MESSAGE MESSAGE
(Message control)

MSG(MessageControl); MSG
MESSAGE
2 DN ER EW ST
FLAGS FLAGS
I e
DN
 EN
* ER
« EW
* ST

FLAGS
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(MSG GSvV Ssv I0T7) 4

FLAGS INT FLAGS ()
2 EW
4 .ER
5 .DN
6 ST
7 .EN
8 .TO
9 EN_CC
FLAGS EW ER DN ST
FLAGS
.ERR INT .ER MSG
.EXERR INT
.REQ_LEN INT
.DN_LEN INT
.EW BOOL ST
EW
EW
.ER BOOL
.ER
ER
.DN BOOL
.DN
DN
ST BOOL MSG .DN .ER ST
ST
.EN BOOL .DN .ER
.DN .ER
.EN
EN
.TO BOOL .TO .ER
EN_CC BOOL MSG 179
EN_CC MSG
.ERR_SRC SINT RSLogix 5000 < ”” (Message Configuration)
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(MSG GSV Ssv

I0T)

.DestinationLink INT DH+ == ID CIP”” (CIP with Source ID) << >z

(Destination Link)
.DestinationNode | INT DH+ =< ID CIP~” (CIP with Source ID) = i

(Destination Node)
.SourceLink INT DH+ =< ID CIP*” (CIP with Source ID) e i

(Source Link)
.Class INT ““CIP *” (CIP Generic) < *? (Class)
Attribute INT ““CIP > (CIP Generic) < ”* (Attribute)
.Instance DINT ““CIP >” (CIP Generic) < ”” (Instance)
.Locallndex DINT [*1 Locallndex
.Channel SINT 1756-DHRIO

ASCII A B
.Rack SINT )
.Group SINT (
.Slot SINT
I}

ControlNet (0 15)

.Path STRIN
G
. []
1,0,2,42,1,3 $01$00$02$2A$01$03
“e ”” (Go to Message Path Editor)

.Remotelndex DINT [*1 Remotelndex
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/ (MSG GSV SSV 10T7) 4
.RemoteElement STRIN
G ASCI
.UnconnnectedTim | DINT 30
eout
UnconnectedTimeout ER
UnconnectedTimeout
ER
.ConnectionRate DINT
.TimeoutMultiplier | SINT

= ConnectionRate x TimeoutMultiplier

ConnectionRate 7.5

TimeoutMultiplier ~ 0(

30 (7.5
ConnectionRate

4)
x4=30 )
TimeoutMultiplier

MSG

149



(MSG GSV Ssv 10T)

1

.EN_CC

ST

0

EN_CC

.ER

.DN

41382

|I|AH_3

SRR G N
- - -
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(MSG GSvV Ssv I0T7)

5
EN ST
EW EW
.
6
ST
EW DN ER
ST
( EEN_CC =0)
7 DN .ER
EN
DN .ER
ST
( EN_CC=0)
EN (
N/A N/A
DN .ER
EN
EW *
DN .ER
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I0T)

(MSG GSV Ssv

=0
.ER

EN
N/A

.EN
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/ (MSG GSV SsVv

10T)

Enableln

N/A

Enableln

.EwW ST .TO .DN .ER

.EN
\/
.EN
.EwW ST .TO .DN ER
.EN
ﬁ
.ER
o oyt
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(MSG GsV

SSV  10T)

MSG

MSG

RSLogix 5000

0001

0002

0003

0004

(o]

0005

0006

0007

0008

0009

000A

000B

000C

000D

000E

000F

0010

0011

0012

0013

0014

0015

001A

001B

001C
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(MSG GSV SsVv

10T)

4

001D

001E

001F

0022

0025

0026

101

0027

0028

DeviceNet

0029

DeviceNet

00D1

00FB

00FC

00FD

O00OFE

O0OFF
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4 / (MSG GSV Ssv 10T)

RSLogix 5000
0001
( (
) )
0100 0203
0103 0204
0106 0205
0107 0206
0108 0301
0109 0302
0110 0303
0111 EPR 0305
0114 0311
0115 0312
0116 0315
0118 0317
011A
001F
( )
0203
0004 0005
( )
0000
0001
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(MSG GSV SsVv

10T)

4

OOFF

( (
2001 o] 2108
2002 2109
2018 210A
201B 210B
201C 210E
2100 210F
2101 2110
2102 2111
2103 2112
2104 2113
2105 2114
2106
2107
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4 / (MSG GSV Ssv 10T)

PLC SLC (ERR)
Logix 10.x PLC SLC (PCCC
)
. RSLogix 5000
O00OFO
. ( PLC-5 )
R9.x R10.x
.ERR PCCC
.EXERR

PLC SLC ( )
R9.x R10.x
.ERR .EXERR .ERR .EXERR
0010 1000
0020 2000
0030 3000
0040 4000 ( )
0050 5000
0060 6000
0070 7000
0080 8000
0090 9000
00BO B00O
00FO0 0001 FOO01
O0FO0 0002 F002
00FO0 0003 FO03
00FO 0004 FO004 -
O0FO0 0005 FO05 - 0
00FO 0006 FOO06
00FO0 0007 FOO07
O0OFO0 0008 FO08
00FO0 0009 FO09
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(MSG GSV SsVv

10T)

4

PLC SLC
R9.x R10.x
.ERR .EXERR | .ERR .EXERR
00FO 000A FOOA
00FO 000B FOOB
00FO 00oC FOOC
00FO 000D FOOD
00FO 000E FOOE
00F0 000F FOOF
00FO 0010 FO10
00FO 0011 FO11
00FO 0012 FO12
O00FO 0013 FO13
00FO 0014 FO014

PLC-3
00F0 0015 FO15
00F0 0016 FO16 1771
00FO 0017 FO17
00F0 0018 F018 1771
00FO 0019 FO19
00FO0 001A FO1A
00FO 001B FO1B
00FO 0o01C FolC ( )
00FO 001D FO1D

( )
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(MSG GSV Ssv 10T)

Logix5000

00D0

3.5

00D1

00D2

00D3

00D6

00EA

OOEB

00EC

00ED

OOEE

BT_READ BT_WRITE

O00EF

O00FO

I/0

O00F3

O00F5

O00F6

I/O

O00F7

OOF8

00F9

O0FA

O0OFB

00FC

00FD
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/ (MSG GSV SSV I0T) 4

MSG MESSAGE “ 77
(Message Configuration)

tSGE

—— Message - CEH——
MSG Mo—
MEssane @}—_&DH}

I\

? MSG

Message Configuration - msg

Configuration® |Eu:-mmuni-:atiu:un“ Tan

Mezsage Type: | CIP Data Table 'WWrite W
Source Element: | “
Mumber OF Elements, |1 E

. . 42976
Destination Element; | |

Logix5000 CIP (CIP Data Table Read) 162
CIP (CIP Data Table Write)
RSLogix 5000 (Module Reconfigure) 163
Vo CIP (CIP Generic) 164
PLC-5 PLC5 (PLC5 Typed Read) 165
PLC5 (PLCS5 Typed Write)
PLC5 (PLC5 Word Range Read)
PLC5 (PLC5 Word Range Write)
SLC SLC (SLC Typed Read) 167
MicroLogix SLC (SLC Typed Write)
(Block-Transfer Read) 167
(Block-Transfer Write)
PLC-3 PLC3 (PLC3 typed read) 168
PLC3 (PLC3 typed write)
PLC3 (PLC3 word range read)
PLC3 (PLC3 word range write)
PLC-2 PLC2 (PLC2 unprotected read) | 169
PLC2 (PLC2 unprotected write)
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4 / (MSG GSV SsV 10T)
Logix5000
Logix5000
(Source Element)
. (SINT INT DINT
LINT REAL)
/
(Number of Elements) timer1
o . “ 7 Logix5000
(Destination Element)
CIP
CIP Logix5000

CIP
(CIP Data Table Read)

CIP
(CIP Data Table Write)
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/ (MSG GSV SSsV 10T) 4
1/0
[ ¥ - I/O
(Message Type) (Module Reconfigure)
I/O
1.
2 . [ ¥ >
reconfigure[5] 4
60 & & 7
reconfigure[5]
reconfigure[5]  reconfigure[B] A
] E [OMS ] Move
Source E0
Dest Local:4:C.ChOCanfig. Halarmlimit
7E0e
change_Halarm.EM MS0GE
5/ E Type - Module Reconfigure T
Mezzage Contral change_Halam [] F—<DN>—
—ER>—

IF reconfigure[5] AND NOT reconfigure[6]THEN
Local:4:C.ChOConfig.HAlarmLimit := 60;
IF NOT change_Halarm.EN THEN
MSG(change_Halarm);

END_IF;
END_IF;
reconfigure[6]

:= reconfigure[5];

163



(MSG GSV Ssv 10T)

“CIP 22

““CIP 77 I/O

CIP (CIP Generic)

(Message Type)
(Pulse Test)
(Service Type)
(Source) INT [5] tag_name

tag_name[0]

tag_name[1] 0
tag_name[2] ( 20)
tag_name[3] ControlLogix 1/0 (

40)

tag_name[4]

(Destination)

CIP (CIP Generic)

(Message Type)
(Service Type) (Reset Electronic Fuse)
(Source) DINT tag_name

(Destination)

CIP (CIP Generic)

(Message Type)
(I) (Reset Latched Diagnostics (1))
(Service Type)
(Source) DINT tag _name
CIP (CIP Generic)
(Message Type)
(O) (Reset Latched Diagnostics (O))
(Service Type)
(Source) DINT tag_name
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/ (MSG GSV SSV I0T) 4

(Message Type)

CIP (CIP Generic)

(Service Type) . (1) (Unlatch All Alarms (1))
. (I) (Unlatch Analog High Alarm (1))
. (I) (Unlatch Analog High High Alarm (1))
. (I) (Unlatch Analog Low Alarm (1))
. (I) (Unlatch Analog Low Low Alarm (1))
. (I) (Unlatch Rate Alarm (1))

(Instance)
CIP (CIP Generic)
(Message Type)

(Service Type)

. (O) (Unlatch All Alarms (O))
. (O) (Unlatch High Alarm (O))
. (O) (Unlatch Low Alarm (O))
. (O) (Unlatch Ramp Alarm (O))
(Instance)
PLC-5
PLC-5 PLC-5
PLC5 16 ““PLC5
(PLC5 Typed Read) 77 ““PLC5 7z 166
PLC5 16 ““PLC5
(PLC5 Typed Write) *?  <<p|C5 i 166
PLC5 PLC-5 16

(PLC5 Word Range
Read)

16

”” (Source Element)

”” (Destination Tag)
”” (Source Element)

PLC5
(PLC5 Word Range
Write)

Logix5000 16 PLC-5

”” (Source Tag)
16

PLC-5 “c ”” (Destination Element)
“c ”” (Source Tag)
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4 / (MSG GSV SSvV 107)
>” (PLC5 Typed Read) ““PLC5
”” (PLC5 Typed Write)
““PLCS5 ““PLCS5 i
PLC-5 Logix5000
INT
REAL
INT
DINT( =-32,768 = 32,767
DINT PLC-5 )
S INT
ST STRING
“c ”” (Typed Read)  “ ?” (Typed Write)
SLC 5/03 (0S303 ) SLC5/04
(0S402
SLC 5/05
PLC-5 Logix5000
PLC-5 Logix5000 PLC-5 Logix5000
16 32 16 32
1 1 1 2 1
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(MSG GSV SsVv

10T) 4

SLC
SLC SLC  MicroLogix
Logix5000
SLC  MicroLogix Logix5000
F REAL
L(MicroLogix 1200 1500 ) | DINT
N INT
1/O
(Block-Transfer Read)
BTR
(Block-Transfer Write)
BTW
. MESSAGE AXIS MODULE (
BTW) ( BTR)
. 16 (INT) 0 64
16 0
(BTR)
64 (BTW)
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4 / (MSG GSV SsV 10T)
PLC-3
PLC-3 PLC-3
PLC3 REAL
(PLC3 Typed Read)
PLC-3 16
Logix5000 SINT INT DINT
PLC-3 Logix5000
REAL
PLC3 REAL
(PLC3 Typed Write)
SINT INT PLC-3
DINT INT
(-32,768 = = 32,767)
Logix5000 REAL PLC-3
PLC3 PLC-3 16
(PLC3 Word Range Read)
“c ”” (Source Element)
16
“c ”” (Destination Tag) “c
”” (Source Element)
PLC3 Logix5000 16 PLC-3
(PLC3 Word Range Write)
“e ”” (Source Tag)
16
PLC-3 “ ”” (Destination Element)
“c ”” (Source Tag)
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(MSG GSvV Ssv I0T7)

4

PLC-3
16

PLC-3 Logix5000
Logix5000 PLC-3 Logix5000
32 16 32
T T
1 | 1 2 | 1
| |
2 | 2 4 | 3
| > | |
3 | 3 |
| |
| i
4 | 4 |
1 1
PLC-2
PLC-2 PLC-2
PLC2 PLC-2 PLC-2
(PLC2 Unprotected Read) 16
PLC2 16 PLC-2 PLC-2
(PLC2 Unprotected Write)
16 Logix5000
( INT )
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4 / (MSG GSV Ssv

I0T)

MSG

Logix5000 MSG
Logix5000 - Logix5000 array_1[0]
array_2[0]
( Logix5000
Logix5000 - PLC-5 array_1[0]
Logix5000 — SLC N7:10
( Logix5000
Logix5000 - PLC-2 array_1[0]
010
Logix5000 MSG
Logix5000 - Logix5000 array_1[0]
array_2[0]
( Logix5000
Logix5000 - PLC-5 N7:10
Logix5000 . SLC array_1[0]
( Logix5000
Logix5000 - PLC-2 010
array_1[0]
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/ (MSG GSV SSV 10T7) 4
MSG “ 7
(Message Configuration)
MSG(aMsg) aMsg “ ””(Message

Configuration)

MSG

“ ”” (Communication)

Message Configuration - msg

Configuration® | Communication® |Tag

@ Path; |2.255

2.255

() Broadcast:

Communication kethod

[J connected

I/0

/0 “c ”” (Browse)
/10 “c ”” (Browse)
I/O
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(MSG GSV Ssv 10T)

172

110
“ ”” (Browse)
Path: |Peer_Controller
Peer_Cantraller
110
—  EtherNet/IP
10.10.10.10
’7 0
Patt: |LocalEME, 2, 10.101010,1.0 Browse. . |
LocalEME, 2,10107010,1, 0
110
.. 1
—  ControlNet
4
’7 0
Path; |1.1.2.4.1.0 Browse. . |

1.1.2.4.1.0
|




/ (MSG GSV SSV I0T) 4

DF1( 2
0)
ControlNet
EtherNet/IP
DH+ A
DH+ B 3
DF1 1(
1)
DF1( ) (0-254)
ControlNet (2-99 )
DH+ 8# (1-77 )
37 8#37
EtherNet/IP EtherNet/IP
IP ( 10.10.10.10)
IP : ( 10.10.10.10:24)
DNS ( tanks)
DNS : ( tanks:24)
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(MSG  GSV

SSV 10T7)

174

RSLogix 5000 18

©€2,2557”

“ ”” (Broadcast)

= 77 (Path) ¢ »” (Communication)

( )

“ ”” (Broadcast)

1. “ ”” (Controller)
“ ”” (Properties)

“ ”” (Controller Properties)
2. “ ”” (System Protocol)
3. “c ”” (Protocol) ““DF1 ”” (DF1 Master)
“c ”” (Message Based)(
)
4. “ 7”7 (OK)
5. MSG
MSG
— hezzane Pl
wessage Control  [JTEE Dt o—
ER>—
“ ”” (Message Configuration)

“F ”” (Configuration)

6. “c ”” (Message Type) ““CIP
>> (CIP Data Table Write)

161

@ “ 7 (Broadcast) 175



/ (MSG GSV SSV I0T) 4

7. “ 7 (OK)

“ ”? (Communication) “ 7z
(Broadcast)

8. “ ?” (Communication)
9. “ ”” (Broadcast)
0 1 “ ”” (Message Configuration)

2,255(  0)
3,255( 1) == **(Path)

10. << 77 (OK)

RSLogix 5000 ControlLogix

”” (Controller Properties)
(System Protocol) “ 7”7 (Message
Configuration) <77 (write)

”” (Message Type) 161

1. RSLogix 5000

2. s & 9
(Properties)

Werify

~[13 Cantroller Fau
f 27 Power-Up Han
-5 Tasks

=58 MainTask

: Cﬂ; MainPragr

Generate Repart, ..
Prink k

Properties [~ Alt+Enter
iy e —
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4 / (MSG GSV Ssv 10T)

“c ”” (Controller Properties)
# Controller Properties - L63_Controller _ 1Ol x|
[ ate/Time I Advanced I SFC Execution | File | Fiedundancy I Marwolatile Mermory I M ermary I
General | Serial Part System Protocol® | IUser Pratocol | Wajor Faults I Miror Faults
Error Detection
Pratocal IDF‘I b aster "I ’V @ BCC ¢ CRC
" DF1 Master
Station dddress: - .
Aen Atress DF1 Point to Paint k ¥ Enable Duplicate Detection
) ) DF1 Radio Modem
Trangmit B etries: DIF1 Slave
ACK, Timeout: D485 o
Reply Meszage W ait: |5 [x20 mz)
Folling Mode: IMessage Based [slave can initiste messages) j

I aster Transmmit: IW
iarmal Foll Mode Tag: E Wommal Poll Group Size;: ID—
Friarity FallHode T ag: E
Aictive Station Tiag: E

()4 I Cancel | Apply Help

3. “ ”” (System Protocol)

4, “c ”” (Protocol)

_ - ** (Message Configuration)
°f ”” (Message Type)

(Broadcast)
5. “c ”” (System Protocol)
DF-1
(Protocol) DF-1
(Station Address)
(Transmit Retries) 3
ACK (ACK Timeout) 50
5
(Reply Message Wait)
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/ (MSG GSV SSsV 10T) 4
DF-1
(Polling Mode)
o “ ”” (Message
Based)
o “F ”” (Slave
can initiate message)
o “€ ”” (Standard)
(Error Detection) BCC
(Duplicate Detection) ( )
DF-1
(Protocol) DF-1
(Station Address)
(Transmit Retries) 3
(Slave Poll Timeout) | 3000
EOT (EOT Suppression) ( )
(Error Detection) BCC
(Duplicate Detection) ( )
DF-1
(Protocol) DF-1
(Station Address)
(Enable Store and ( )
Forward)
BCC
6. [ X1 > (OK)
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4 / (MSG GSV SsVv 1I0T)
11O
I/O
ControlNet . ( 1756-CNB )
. ( 1771-ACN )
I/O . ( 1756-DHRIO )
. ( 1771-ASB )
. ( )
Logix5000 CIP
EtherNet/IP
PLC-5
ControlNet
PLC-5
SLC 5/05
DH+ DH+ DH+ 1756-DHRIO
PLC-5 (Channel) A B
DH+ SLC 1756-DHRIO
(Source Link) ID (
)
PLC-3 DH+
(Destination Link) ID
PLC-2
(Destination Node)
DH+ RSLinx
DH/RIO “e ”” (Source Link)  “*
”” (Destination Link) 0
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/ (MSG GSV SSV 10T7) 4
ID CIP(CIP RSLinx ID
RSLinx with Source ID) (Source Link)
EtherNet/IP :
RSLinx
ControlNet (Destination Link) ID(O 65535)
( RSLinx ID(0
(Destination Node) |77 ) RSLinx
) DDE 77
ControlLogix “e ”” (Source Node)
110 RIO (Channel) RIO 1756-DHRIO
A B
(Rack) ( )
(Group)
(Slot)
ControlNet ControlNet (Slot)
MSG
CIP - (1)
PLC-2 PLC-3 PLC-5 SLC( Cip
)
ID CIP (CIP with
Source ID)
DH+ X
CIP 2
p | X
@ cip CIP
@ cip CIP
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/ (MSG GSV SSV I0T)

MSG
( )
MSG
MSG
11.x . 16
. 16
12.x 32
MSG
> MSG
MSG
MSG
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/ (MSG GSV SSV 10T7) 4
MSG
MSG MSG
. = MESSAGE
/ MSG “e ”” (Controller Tags)
( )
MSG 16 16 ( PLC-5® sLC500®
MSG INT ) ( REAL )
DINT INT DINT
32 (DINT) Logix
INT  DINT Logix5000
( 1756-PM001)
MSG MSG
16 MSG 16 MSG MSG
Logix5000 ( 1756-PM001)
Logix5000 ( 1756-PM001)
MSG 10...40 10
. ( 40 ) 5
. Logix5000

(

1756-PM001)
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http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf

(MSG GSV Ssv

I0T)

(GSV)
(SSV)

GSV/ISSV

354 LoV
et System YWalue Set System Value
Clazz name ? Clazs name 7
Inztance name 7 |nztance name 7
Attribute Mame 7 Attribute Mame K
Dest 7 Source ?
7 7

(Class name)

(Instance name)

(Attribute Name)

(GSV) SINT
(Destination
(GSV)) INT
DINT
REAL
(SSV) SINT
(Source (SSV))
INT
DINT
REAL

GSV(ClassName, InstanceName ,AttributeName,Dest);
SSV(ClassName, InstanceName , AttributeName, Source);

GSV
SSV
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/ (MSG GSV SSV I0T) 4

GSV/SSV
PLC-5
GSV
SSV
GSV/SSV
GSV
SSv (SSV)
GSvV SSv
1
[=]-My_Tag
asv [=|-My_Tag Member_a
Attribute [ | » | #-My_TagMember_A[0]
> [-:-]-M y_TagMember_a[1]
* [+ -My_TagMember_B
Member_A GSv
Member_B
2
asv =My_Tog
. [=]-My_T ag.Member_a,
Aftribute . [+ My_Tag Member_A[0]
e [+ My_Tag.Member_A[1]
™ [+-My_TagMember B
-
(Tag is too small.
Minor fault
My Tag GSvV
““GSV/SSV >z
Program MajorFaultRecord DINT[11]
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(MSG GSV Ssv 10T)

GSV/SsV

SSV

GSV

N/A

N/A

Enableln

N/A

Enableln
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(MSG GSvV Ssv I0T7)

4

GSV/SSV

GSV/SSV
TASK
SINT
A DINT DINT 8 24
GSV/SsV
AddOnlInstructionDefinition 4 -186
Axis SERCOS
Axis_Consumed MOTION—UMOOl()
Axis_Generic
Axis_Generic_Drive
Servo
Servo_Drive
Virtual
Axis_CIP_Drive CIP
MOTION-UI\(/IOOS)
Controller 4 -187
ControllerDevice 4 -188
CoordinateSystem
( MOTION-UMO002)
CST 4  -190
DF1 4 -191
FaultLog 4 -194
Message 4 -195
Module 4 -196
MotionGroup
( MOTION-RMO001)
Program 4 -198
Redundancy ControlLogix
1756-UM535) (
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http://literature.rockwellautomation.com/idc/groups/literature/documents/um/motion-um003_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/um/motion-um003_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/um/motion-um003_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/um/motion-um003_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/um/motion-um002_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/rm/motion-rm001_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/um/1756-um535_-en-p.pdf

(MSG GSV Ssv

I0T)

GSV/SSV

Routine 4

-200

SafetyAddonlinstructionDefinition
SafetyController SafetyProgram
SafetyRoutine  SafetyTask

GuardLogix
1756-UM020)

SerialPort 4

-202

Task 4

-203

TimeSynchronization

CIP
( IA-AT003)

WallClockTime 4

-205

AddOnlInstructionDefintion

AddOnlInstructionDefinition

Logix5000
( 1756-PM010)

LastEditDate

LINT

GSV

MajorRevision

DINT

GSV

MinorRevision

DINT

GSV

Name

GSV GSV

RevisionExtendedText

GSV

SafetySignaturelD

DINT

GSV

SignaturelD

DINT

GSV

32

Vendor

GSV
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http://literature.rockwellautomation.com/idc/groups/literature/documents/um/1756-um020_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/at/ia-at003_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm010_-en-p.pdf

/ (MSG GSV SSV I0T)

Controller
Controller
CanUseRPIFrom | DINT GSvV RPI
Producer
0 RPI
1 RPI
ControllerLog DINT GSvV /
Execution
Modification SSv RAM
Count DINT
ControllerLog DINT GSV RAM
TotalEntryCount DINT
SSV
DataTablePad INT GsvV (0...100)
Percentage
IgnoreArrayFaults | SINT GSV SFC Action SFC
DuringPostScan
SsV
0
( - )
1 SFC Action 4/20(
) 4/83( )
InhibitAutomatic BOOL GSV
FirmwareUpdate
SSV
0
1
KeepTestEditsOn | SINT GSsvV
Switchover
0
1
Name GSV
Redundancy SINT Gsv
Enabled
0
1
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4 / (MSG GSV Ssv 10T)

ShareUnused INT GSV
TimeSlice
SSv
0
( )
1
2
TimeSlice INT GSV CPU (10...90)
SSV

ControllerDevice

ControllerDevice

DeviceName | SINT[33] | GSV ASCII
ASCII

ProductCode |INT GSV

15SoftLogix5800

49  DrivelLogix5725  PowerFlex
52  DrivelLogix5730 PowerFlex
53Emulator

541756-L61 ControlLogix
551756-L62 ControlLogix
561756-L63 ControlLogix
571756-L64 ControlLogix
641769-L31 CompactLogix
651769-L35E CompactLogix
671756-L61S GuardLogix
681756-L62S GuardLogix
691756-LSP GuardLogix
721768-L43 CompactLogix
741768-L45 CompactLogix
761769-L32C CompactLogix
771769-L32E CompactLogix
801769-L35CR CompactLogix
851756-L65 ControlLogix
861756-L63S GuardLogix
871769-L23E-QB1 CompactLogix
881769-L23-QBFC1 CompactLogix
891769-L23E-QBFC1 CompactLogix

ProductRev INT GSsv

SerialNumber | DINT GSV
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/ (MSG GSV SSV I0T)

Status INT GSvV
7.4 13...12
0000 01
0001 10
0010 11
0011
0100 15...14
0101 01
0110 10 ( )
0111
11...8
0001
0010
0100
1000
INT GSvV =14
INT GSV Allen-Bradley = 0001
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4 / (MSG GSV SsVv 1I0T)
CST
(CST)
CurrentStatus | INT GSvV
0
1 16+
2 CST ControlLogix
3 CST 64  CurrentValue
CST
4 CST
5 CST
6
0
7
8-9 00 =
01=
10 =
11 =
10-15
CurrentValue | DINT[2] GSV DINTI[O] 32 DINT[1] 32
CurrentStatus
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/ (MSG GSV SsVv

10T)

DF1
DF1 DF1
ACKTimeout DINT GSvV ( )
0-32,767 20 501 )
Diagnostic INT[19] GSvV DF1
Counters
DF1 DF1
0 (0x0043) (0x0042) (0x0044)
1
2
3
4
5
6 NAK NAK
7 ENQ
8 NAK ACK ACK
9 NAK ACK
10
11
12 DCD DCD DCD
13
14
15
16
17
18 ENQ
Duplicate SINT GSV
Detection
0
Embedded SINT GSV ( )
ResponseEnable
0 ( )
1
EnableStoreFwd | SINT GSV
0
( )
ENQTransmit SINT GSV ACK (ENQ) ( )
Limit 0-127 3
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4 / (MSG GSV SsVv 1I0T)
EOTSuppression | SINT GSvV EOT ( )
0 EOT ( )
EOT
ErrorDetection SINT GSV
0 BCC( )
1 CRC
MasterMessageTr | SINT GSV ( )
ansmit
0 ( )
1 ( )
MaxStation SINT GSV DH-485 (0...31) 31
Address
NAKReceiveLimit | SINT GSV NAK  (
0..127 3
NormalPollGroupS | INT GSV
ize ( )
0...255 0
PollingMode SINT GSV ( ) 1
0
1 ( )
2
3
ReplyMessage DINT GSV ACK ( )
Wait ) 0...65,535 20
5 (100 )
SlavePollTimeout | DINT GSV
( )( 0...32,767 20
3000 1 )
StationAddress INT GSV 0..254 0
TokenHoldFactor | SINT GSV DH-485
(1...4) 1
TransmitRetries SINT GSV ( )
0..127 3
PendingACK DINT Ssv ACKTimeout
Timeout
Pending SINT SSV DuplicateDetection
Duplicate
Detection
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/ (MSG GSV SsVv

10T)

4

Pending SINT SSV EmbeddedResponse
Embedded

ResponseEnable

PendingEnable SINT SSV EnableStoreFwd
StoreFwd

PendingENQ SINT SSV ENQTransmitLimit
TransmitLimit

PendingeOT SINT SSV EOTSuppression
Suppression

PendingError SINT SSvV ErrorDetection
Detection

PendingMaster SINT SSV MasterMessageTransmit
Message

Transmit

PendingMax SINT SSV MaxStationAddress
StationAddress

PendingNAK SINT SSsvV NAKReceiveLimit
ReceiveLimit

PendingNormal INT SSv NormalPollGroupSize
PollGroupSize

PendingPolling SINT SSV PollingMode

Mode

PendingReply DINT SSV ReplyMessageWait
MessageWait

PendingSlavePoll | DINT SSv SlavePollTimeout
Timeout

PendingStation INT SSV StationAddress
Address

PendingToken SINT SSv TokenHoldFactor
HoldFactory

PendingTransmit | SINT Sy TransmitRetries

Retries
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4 / (MSG GSV SsVv 1I0T)
FaultLog
FaultLog
MajorEvents | INT GSV
SSV
MajorFaultBits | DINT GSV
SSV
1
3 I/0
4
5
6
7
8
11
MinorEvents | INT GSvV
SSV
MinorFaultBits | DINT GSvV
SSV
4
6
9
10
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/ (MSG GSvV Ssv I0T7)

Message
GSV/SSV Message
Message Message
PLC-5
MG
ConnectionPath | SINT[130] | GSV ( )
SYY ( )
ConnectionRate | DINT GSV
SYY
MessageType SINT GSV
SSV
0
Port SINT GSV
Ssv
1
2
Timeout SINT GSsV
Multiplier
SSvV
0 4 )
1 8
2 16
Unconnected DINT GSV ( ) 30,000,000
Timeout (30 )
SSV
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4 / (MSG GSV SsVv 1I0T)
Module
Module Module
GSV/SSV “ ”” (Object Name)
““1/0 ”7 (10
Configuration)
EntryStatus INT GSV 12
12...15
16#0000
16#1000 Module
Module
“ i (16#4000) FaultCode
0
FaultCode  Faultinfo
16#2000 Module
Module
16#3000 Module
16#4000
16#5000 Module
16#6000 Module (Mode
)
16#7000 Module
FaultCode INT GSvV
Faultinfo DINT GSvV Module
Firmware INT GSsvV
SupervisorSta
tus
0
1
ForceStatus INT GSV
0 a= 0 )
1 @a 0 )
Instance DINT GSvV
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/ (MSG GSV SSV I0T)

LEDStatus INT GSV 110
0 Module
( ““1/O ”” (I/O Configuration) )
1 Module
2 Module
3 Module
Mode INT GSvV Module
SSV
0 Module
2
Module < i
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4 / (MSG GSV SsV 10T)
Program
Program
Program
DisableFlag SINT GSV
SSsv
0
1
Instance DINT GSV GSV
LastScanTime | DINT GSV
SV
MajorFault DINT[11] |GSV GsV
Record
SSV SSV MajorFaultRecord

TimeLow DINT

TimeHigh  DINT

Type INT
Code INT
Info DINTI[8]

32
32

I/O
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(MSG

GSV SSsV 107) 4

MinorFault DINT[11] |GSV GSvV
Record
S\ SSvV MinorFaultRecord
TimeLow DINT 32
TimeHigh DINT 32
Type INT ( /1o )
Code INT
Info DINT[8] )
MaxScanTime | DINT GSv
SSv
Name GSv GSv
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(MSG GSV Ssv 10T)

Routine
Routine
Routine
Instance DINT GSV GSV 0 65,535
Name GSvV GSV
SFCPaused INT GSvV SFC SFC
0 SFC
1 SFC
SFCResuming | INT GSV SFC SFC
SSV
0 SFC
1 SFC Action
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/ (MSG GSV SSV 10T7) 4
Safety
SafetyTask
SafetyFaultRecord
GuardLogix ( 1756-UM020)

SafetylLocked SINT GSvV
SafetyStatus INT GSvV

1000000000000000

1000000000000001

00000000000000000

00000000000000001

00000000000000010

00000000000000011
SafetySignature | SINT GSsV GSV
Exists
SafetySignature | DINT GSvV 32
ID
SafetySignature GSsV 32
SafetyTaskFault | DINT[11] | GSV
Record
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http://literature.rockwellautomation.com/idc/groups/literature/documents/um/1756-um020_-en-p.pdf

(MSG GSV Ssv 10T)

SerialPort
SerialPort
BaudRate DINT GSV 110 300 600 1200 2400 4800 9600
19200 ( )
CombDriverID SINT GSV
0xA2 DF1( )
0xA3 ASCII
DataBits SINT GSV
7 7 ( ASCII)
8 8 ( )
DCDDelay INT GSvV (DCD)
0
Parity SINT GSV
0 ( )
1 ( ASCII)
2
RTSOffDelay INT GSV RTS 0...32,767
20
RTSSendDelay INT GSV RTS
0...32,767 20
StopBits SINT GSsV
1 1 ( )
2 2 ( ASCII)
PendingBaudRate | DINT SV BaudRate
PendingCOM SINT SSsV COMDriverID
DriverID
PendingDataBits SINT SsvV DataBits
PendingDCD INT SSv DCDDelay
Delay
PendingParity SINT SsvV Parity
PendingRTSOff INT S\ RTSOffDelay
Delay
PendingRTSSend | INT SSV RTSSendDelay
Delay
PendingStopBits SINT SV StopBits
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/ (MSG GSvV Ssv I0T7) 4

Task
Task
Task
DisableUpdate DINT GSV
Outputs
SSV
EnableTimeOut DINT GSsv
SSv
InhibitTask DINT GSV
SSv
0o(
( )
Instance DINT GSV GSV 0..31
LastScanTime DINT GSV
SSV
Maximuminterval | DINT[2] GSvV DINT[O]
32 DINT[1] 32 0
SSv 1
MaximumScan DINT GSvV
Time
SSvV
MinimumInterval DINT[2] GSV DINTIO]
32 DINT[1] 32 0
SSv 1
Name GSv GSvV
OverlapCount DINT GSV GSV
0
SSv SSv
Priority INT GSV GSV
...15
SSv
Rate DINT GSV GSV
SSv
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(MSG GSV Ssv

I0T)

StartTime DINT[2] GSV WALLCLOCKTIME
DINT[O] 32 DINT[1]
SSV 32
Status DINT GSV
SSV
0 EVENT (
1 ( )
2
Watchdog DINT GSV GSV
Ssv
0
0.5

5.0
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/ (MSG GSvV Ssv I0T7) 4

WallClockTime
WallClockTime
ApplyDST SINT GSV
SSV
0
CSTOffset DINT[2] GSV CST CurrentValue (
190 ) DINTI[O] 32
SsvV DINT[1] 32 0
CurrentValue DINT[2] GSvV DINTI[O] 32 DINT[1]
32 1972 1 1 0000
SSV CST WALLCLOCKTIME
CST CurrentValue
WALLCLOCKTIME CTSOffset
WALLCLOCKTIME CurrentValue
DateTime DINT[7] GSV
SSV
DINTI[0]
DINT[1] (1...12)
DINT[2] (1...31)
DINT[3] (0...23)
DINT[4] (0...59)
DINT[5] (0...59)
DINTI6] (0...999,999)
DSTAdjustment | INT GsvV
SSV
LocalDateTime | DINT[7] GSV
SSV
DINTI[0]
DINT[1] (1...12)
DINT[2] (1...31)
DINT[3] (0...23)
DINT[4] (0...59)
DINT[5] (0...59)
DINTI6] (0...999,999)
TimeZoneString | INT GsvV
SSV
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4 / (MSG GSV Ssv 10T)

GSV/SSV

GSV

1 /0 disc_in_2
disc_in_2_info

GSY
Get system value —
Object class MODULE
Object name disc_in_2
Altribute narme FaultCode
Dest disc_in_2_info.FaultCode
D *
G5
Get system value —
Object class MODULE
Object name disc_in_2
Altribute narme Faullnfa
Dest disc_in_2_info.Faultinfo
D *
G5
Get system value —
Object class MODULE
Object name disc_in_2
Altribute name Mode
[rest dizc_in_2_info.Mode
2#0000_0000_0000_0000_0000_0000_0000_0000 €

GSV(MODULE,disc_in_2,FaultCode,disc_in_2 info.FaultCode);
GSV(MODULE,disc_in_2,Faultinfo,disc_in_2 info.Faultinfo);

GSV(MODULE,disc_in_2,Mode,disc_in_2info.Mode);
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/ (MSG GSV SSV I0T) 4

discrete
discrete_info
G5 G5
Get system value Get system value
Object class FROGRARM Object class FROGRARM
Object name DISCRETE Object name DISCRETE
Altribute name  LASTSCANTIME Altribute name  MAXSCANTIME
Dest discrete_info.LastScanTime Dest discrete_info.MaxScanTime
49 € 4500 €

GSV(PROGRAM,DISCRETE, LASTSCANTIME,
discrete_info.LastScanTime);

GSV(PROGRAM,DISCRETE ,MAXSCANTIME ,discrete_info.MaxScanT
ime);

IO_test
io_test_info

G5 G5 G5

Get system value Get system value Get system value
Object class TASK Object class TASK Object class TASK
Object name I0_TEST Object name I0_TEST Object name I0_TEST
Altribute name  LASTSCANTIME Altribute name  MAXSCANTIME Altribute name WATCHDOG
Dest io_test_info.LastScanTime Dest io_test_info.Ma=5 canTime(0] Dest io_test_info.w atchDog
2998 € 6547 € 500000 €

GSV(TASK, 10_TEST, LASTSCANTIME, io_test_info.LastScanTime);
GSV(TASK, 10_TEST,MAXSCANTIME, io_test_info.MaxScanTime);

GSV(TASK, 10_TEST,WATCHDOG, io_test_info.WatchDog);
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4 / (MSG GSV Ssv 10T)

SSV
I/0 PLC-5
SW.1 discrete disableflag
S 1 e O
] E Move

Source enable_prog
n®
Dest dizcrete_prog_flag
0%

S 1 e O

J/F Move
Source dizable_prog
1%
Dest dizcrete_prog_flag
0%
S5
Set system value
Object clazs FROGRAM
Object name DISCRETE
Aftribute name  DISABLEFLAG
Source dizcrete_prog_flag
0%
IF SW.1 THEN
discrete prog_flag := enable_prog;
ELSE

discrete prog flag := disable prog;
END_IF;

SSV(PROGRAM,DISCRETE ,DISABLEFLAG,discrete_prog_flag);
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/ (MSG GSV SSV I0T) 4

(10T) ot ( )

o7
1 Immediate Output -
|Jpdate Tag 7

(Update Tag)
ife}

Local:5:0
Local:5:0.Data

10T (output_tag);
10T

loT (RPI)

. I/O

. 10T
10T

10T

& Tag Properties - Produced_Tag

General Connection® |

b axirmum Congumers: I 3:

——® [ Frogrammatically IOT Instruction] Send Event Trigger to Consume

10T
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4 / (MSG GSV SsVv 1I0T)
10T
ControlLogix
EtherNet/IP
ControlNet ( )
(API)
SoftLogix5800 ControlNet ( )
(API)
IOT EtherNet/IP  ControlNet
EtherNet/IP ControlNet

IOT
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(MSG GSvV Ssv I0T7)

N/A
N/A
Enableln N/A Enableln
. RPI
1 0T Local:5:0

1aT

10T (Local:5:0);

Immediate Output
dpdate Tag Localb:0
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4 / (MSG GSV Ssv 10T)

2 24 ( 25)
0T

ft: Tag Properties - Produced_Tag

General  Connection® |

b axirnurn Consunmers: I 3:

Produced_Tag 10T
—» [ Programmatically (|07 Instuction] Send Event Trigger to Consume
New_Data
CPS Produced_Tag Source_Tag
10T Produced_Tag ( 25)
Mew Data  Trigger_Consumer CP5 10T
1 F [ONS ] Synchronous Copy File Immediate Dutput
Source Source_Tag dpdate Tag Produced_Tag
Dest  Produced_Tag
Length 1

IF New_Data AND NOT Trigger_Consumer THEN
CPS (Source_Tag,Produced Tag,1);
10T (Produced_Tag);

END_IF;
Trigger_Consumer := New_Data;
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(CMP EQU GEQ GRT LEQ LES LIM MEQ

NEQ)

CMP 214
&

EQU 219
@

GEQ 223
€

GRT 227
€

LEQ 231
€

LES 235
€

LIM 239
€

MEQ 245
€

NEQ 250
€

1
)
( DINT
REAL)
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)
(CMP) cMP
P
— Compare —
Eupreszion ?
SINT (
(Expression) )
INT
DINT
REAL
SINT INT DINT
=
CMP IF...THEN
IF BOOL_expression THEN
<statement>;
END_IF;
CMP ()
CMP
CMP
+ - /)
CMP
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

CMP
P
Compare
Ewxpreszion walue_1 =wvalue_2
P
Compare —
Ewpreszion [wvalue_1 * value_2] - value_3 < value_4
P
Compare —
Ewpreszion  walue_1
( value_1 +value_2

value_1)
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(CMP EQU GEQ GRT LEQ LES LIM

MEQ NEQ)

CMP
CMP FSC
+ DINT REAL DEG DINT REAL
- / DINT REAL FRD BCD DINT
* DINT REAL LN REAL
/ DINT REAL LOG 10 REAL
= DINT REAL MOD DINT REAL
< DINT REAL NOT DINT
<= DINT REAL OR DINT
> DINT REAL RAD DINT REAL
>= DINT REAL SIN REAL
<> DINT REAL SQR DINT REAL
> ®x y )|onT rea. AN REAL
ABS DINT REAL Top BCD DINT
ACS REAL TRN DINT REAL
AND DINT XOR DINT
ASN REAL
ATN REAL
CcosS REAL
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

( ) ABS(tag_a)

a b | etag b+5
etag c AND tag d

* (tag_e ** 2) MOD
(tag_f/tag_g)

1. 0

2. ABS ACS ASN ATN COS
DEG FRD LN LOG RAD SIN
SQR TAN TOD TRN

3. *%

4. —( ) NOT

5. * [ MOD

6. <!<:1>!>:!:

7. - ) +

8. AND

9. XOR

10. OR
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

218

. ASCII

L]

« ASCII
<<a*” ($61)

““A”7 ($41)

ASCII
1ab $31$61$62
A 1b $31$62
A $41
AB $41$42
$42
a $61
v ab $61$62

— AB<B

—_a>B



(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5
(EQU) EQU Source A Source B
EQL
— Equal —
Source &, ?
77 A (Source A) | SINT Source B
Source B ?
7 INT
DINT
REAL
B (Source B) | SINT Source A
INT
DINT
REAL
. SINT INT DINT
. REAL REAL
LIM
- STRING
. Source A Source B
IF sourceA = sourceB THEN “e=7> sourceA

<statements>;

sourceB
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

B EQU_01

EQl E|
Equal
EQU FBD_COMPARE EQU
O Sources Dest [5]
O SourceB
FBD_COMPARE
Enableln BOOL
SourceA REAL SourceB
SourceB REAL SourceA
EnableOut BOOL
Dest BOOL EQU
EQU ASCII
« ASCII ““A7 ($41)

“<a”” ($61)
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

Source A = Source B

Enableln EnableOut

Enableln

EnableOut
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(CMP EQU GEQ GRT

LEQ LES LIM MEQ NEQ)

222

light_a

value 1 value_2 light a value 1
value_2 light_a
EQU
Equal
Source A& walue_1
0 &
Source B walue_2
ne
light_a := (value_1 = value_2);
EQU_04
Eou
Equal
u} u}
EIED: s peap’ — — —a i
SourceB

wvalue_2 [l

il




(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

(G EQ) GEQ Source A Source B

GEQ

—| Grtr Than or Egl [&>=B] —
Source b 7
5 B ?3 A SINT Source B
ouree s (Source A)
C INT
DINT
REAL
B SINT Source A
(Source B)
INT
DINT
REAL
. SINT INT DINT
- STRING
. Source A Source B
IF sourceA >= sourceB THEN “e>=7z
<statements>; sourceA sourceB
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(CMP EQU GEQ GRT

LEQ LES LIM MEQ NEQ)

E GEQ_01
GEQ E
Grtr Than or Eql (Ax=H)
GEQ FBD_ COMPARE GEQ
O Sources Dest [=
O SourceB
FBD_COMPARE
Enableln BOOL
SourceA REAL SourceB
SourceB REAL SourceA
EnableOut BOOL
Dest BOOL GEQ
GEQ Source A Source B
ASCII
lab $31$61%$62
A 1b $31$62
A $41
AB $41%42 — AB<B
1
B $42 —
$61 — a>B
V ab $61%$62
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(CMP EQU GEQ GRT LEQ LES

LIM MEQ NEQ)

5

Source A = Source B

Enableln

EnableOut

Enableln

EnableOut
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

value 1 value 2 light b value_1
value_2 light_b
GED light_b

Grtr Than or Eql [&>=B]
Source & value_1

Ne
Source B value_2

0 &

light b := (value_1 >= value_2);

GEQ_O4
GEQ |
artr Than ar Eql (Ax=H)

u] u]

l Sourced Dest — —— =] light_b
SourceB
ETERp:

[u}
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

(G RT) GEQ Source A Source B

GRT

—— [GGreater Than [&xB]  —
Source b 7
G SINT
S oure B 2 A (Source A) Source B
* INT
DINT
REAL
B (Source B) | SINT Source A
INT
DINT
REAL
. SINT INT DINT
- STRING
. Source A Source B
IF sourceA > sourceB THEN ce>rz sourceA
<statements>; sourceB
B GRT_01
GRT E|
zreater Than (A=B)
] Saurced Crest [4 GRT FBD_COMPARE GRT
O SourceB
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

FBD_COMPARE

Enableln BOOL
SourceA REAL SourceB
SourceB REAL SourceA
EnableOut BOOL
Dest BOOL GRT
GEQ Source A Source B
ASCII
lab $31$61%$62
A 1b $31$62
A $41
AB $41%42 — AB<B
_ 1
B $42 —
$61 — a>B
\ ab $61%$62
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

Source A > Source B

Enableln EnableOut

Enableln

EnableOut
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(CMP EQU GEQ GRT

LEQ LES LIM MEQ NEQ)

230

GRT
Greater Than [&>B]
Source & walue_1
ne
value_2
ne

Source B

value 1
value_2

value_2
light_1

light_1

value_1

light_1

light 1 := (value_1 > value_2);

u}
I
[z

il

GRT_OM1
GRT _I
Greater Than (A=H)
Sources [rest jD— e
SourceB

=1 light_1



(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

(|_ EQ) LEQ Source A Source B

LEQ

— Lesz Thanor Eql [A<=B] —
Source b 7
s
£ SINT
— 2 A (Source A) Source B
o INT
DINT
REAL
B (Source B) | SINT Source A
INT
DINT
REAL
. SINT INT DINT
- STRING
. Source A Source B
IF sourceA <= sourceB THEN “fc="7
<statements>; sourceA
sourceB
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(CMP EQU GEQ GRT

LEQ LES LIM MEQ NEQ)

LEQ_04

LEL =
Less Than or Eql (A==HB)
O Sources [rest [ LEQ FBD_COMPARE LEQ
O Sourced
FBD_COMPARE

Enableln BOOL

SourceA REAL SourceB

SourceB REAL SourceA

EnableOut BOOL

Dest BOOL LEQ

LEQ Source A Source B
ASCII
lab $31$61%$62
A 1b $31$62
A $41
AB $41%42 — AB<B
1
B $42 —
$61 — a>B
v ab $61%$62
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(CMP EQU GEQ GRT LEQ LES

LIM MEQ NEQ)

5

Source A = Source B

Enableln

EnableOut

Enableln

EnableOut
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

value 1 value 2 light 2 value_1
value_2 light_2
LEQ) light_2

Less Than or Eql [&<=B]
Source & value_1

Ne
Source B value_2

ne

light_2 := (value_1 <= value_2);

LEQ_04

LEQ [

Lezz Than ar Eql (A==H)

o u]
l Sources Dest [f— —0 light_2
SourceB
[awz

u}
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

(|_ ES) LES Source A Source B

LES

— Leszz Than [4<B] —
Source b 7
7 SINT
Source B 2 A (Source A) Source B
i INT
DINT
REAL
B (Source B) | SINT Source A
INT
DINT
REAL
. SINT INT DINT
- STRING
. Source A Source B
IF sourceA < sourceB THEN ceg?? sourceA
<statements>; sourceB
B LES_01
LEs  []
Lesz Than (#=B)
d sourcen Dest I LES FBD_COMPARE LES
] Sourced
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

FBD_COMPARE

Enableln BOOL
SourceA REAL SourceB
SourceB REAL SourceA
EnableOut BOOL
Dest BOOL LES
LES Source A Source B
ASCII
lab $31$61%$62
A 1b $31$62
A $41
AB $41%42 — AB<B
1
B $42 —
$61 — a>B
\ ab $61%$62
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

Source A < Source B

Enableln EnableOut

Enableln

EnableOut
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(CMP

EQU GEQ GRT LEQ LES LIM MEQ NEQ)

238

LEQ
Lesz Than or Eql [4<=R]

value 1 value_2
value_2 light_3

light_3

value_1

light_2
’

Source & value_1
e

Source B wvalue_2
Ik

light_3 = (value_1 < value_2);

u}
KX

walue_2 o

u]

LES_04

LES

=

Less Than (A=B)

Sourced

SourceB

Dest

= light_3



(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

(LIM)

LIM

Lirnit Test [CIRC]
Lo Lirik
Test

High Lirnit

7
e
7 (Low limit) | SINT
e
? INT
e

DINT
REAL

SINT INT DINT

(Test) SINT
INT
DINT

REAL

SINT INT DINT

(High limit) | SINT
INT

DINT
REAL

SINT INT DINT

LIM

IF (LowLimit <= HighLimit AND
(Test >= LowLimit AND Test <= HighLimit)) OR
(LowLimit >= HighLimit AND
(Test <= LowLimit OR Test >= HighLimit)) THEN
<statement>;

END_IF;
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

E LIM_01
LM ]
Limit Test (CIRC)
LIM FBD_LIMIT LIM
] Lowlimit [rest [
] Test
] HighLimit
FBD_LIMIT
Enableln BOOL
LowLimit REAL
Test REAL
EnableOut BOOL
Dest BOOL LIM
HighLimit REAL
LIM
=
=
16 (INT ) 32,767
16#7FFF( 0O 14
16#8000( 15 )
16#8000 -32,768 1 16
16#FFFF -1
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(CMP EQU GEQ GRT LEQ LES

LIM MEQ NEQ)

IA

-(n+1)

n=

+n

+1

=

) LM
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

Enableln EnableOut

Enableln

EnableOut
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

1 |I|l
LYY

Lirnit Test [CIRC]
Lo Lirik ]
Test walue
0%
High Lirnit 100

=

0 =value = 100 light 1 value <0 value >100
light_1

light_1
i

IF (value <= 100 AND(value >= 0 AND value <= 100)) OR
(value >= 100 AND value <= 0 OR value >= 100)) THEN

light 1 := 1;
ELSE
light 1 := 0;
END_IF;
Liki_0
M
DD_I—[ Limit Test (CIRE)
0 LowLimit [rest jD— e
100 HighLimit
100 O
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

2 =
value=0 value =-100 light 1 value <0
value >-100 light_1

LIbd light_1

Lirmit Test [CIRC) !
Lo Lirnit 0
Test wvalue
|:| =
High Limit -100

IF (0O <= -100 AND value >= 0 AND value <= -100)) OR
(0 >= -100 AND(value <= 0 OR value >= -100)) THEN

light 1 = 1;
ELSE
light 1 := 0;
END_IF;
Lin_o4
Lm
D':'_l—[ Limit Test (CIRC)
o LowLimit Lest jn— _—
HighLimit
g 100
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

(MEQ)

MED

— Mazk Equal

Source
b azk,

Compare

7
7

7

MER_01

=

MEQ
hiask Equal

Source
Il ash

Compare

=]

Crest [

MEQ Source

Compare

(Source) SINT
INT
DINT

Compare

SINT INT

DINT

(Mask) |SINT
INT

DINT

SINT INT

DINT

SINT
(Compare)
INT

DINT

Source

SINT INT

DINT

MEQ

IF (Source AND Mask) = (Compare AND Mask) THEN

<statement>;
END_IF;
MEQ FBD_MASK_EQUAL MEQ
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

FBD_MASK_EQUAL

Enableln BOOL
Source DINT Compare
Mask DINT ( )
Compare DINT
EnableOut BOOL
Dest BOOL MEQ
(X3 1 > [ ¥ O 9
Source Mask Compare
0
16#
16#0FOF
8#
8#16
2#
2#00110011
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

source =
compare

Enableln EnableOut

Enableln

EnableOut
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)
1 value_1 value_2 light 1
value_1 value_2 light_1
0 (
X )
value_l‘o‘1‘0‘1‘0‘1‘0‘1‘1‘1‘1‘1‘1‘1‘1‘1‘ value_2’0’1’0’1’0’1’0’1’1’1’1’1’0’0’0’0‘
mask_l‘l‘l‘l‘l‘l‘1‘1‘1‘1‘1‘1‘1‘0‘0‘0‘0‘ mask_l‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘0‘0‘0‘0‘
O|1{02|0|2({0|2|2|1|2|2|x|x|x]|xXx 0|1{02|0|2{0|2|2|1f21|2|x|x|x]|x
value_1 value_2
b azk Equal e Iigﬁtﬂj
Source walue_1
ZHOT01_0T01_1111_1111 ¢
b azk, mazk_1
2H1111_1111_1111_0000 ¢
Compare walue_2
ZHOT01_0101_1111_0000 ¢

248

light_1 = ((value_1 AND mask_1)=(value_2 AND mask_2));

MEQ_O1
WEQ _l
a
Jul

Source Last (— — — —] light_1
, X

Compare
u]

(W n



(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

2 value_1 value_2 light 1
value_1 value_2 light_1
0 (
X )
value_l‘O‘1‘0‘1‘0‘1‘0‘1‘1‘1‘1‘1‘1‘1‘1‘1‘ value_2‘O‘1‘0‘1‘0‘1‘0‘1‘1‘1‘1‘1‘0‘0‘0‘0‘
mask_l‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘l‘l‘l‘l‘ mask_l‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘1‘1‘1‘1‘
XX X[X[X[X[X[X|[X|x|x|x]|1]1]1]1 X|X|X| X X|X|X|X|X|X|[x|[x]|0][0]|0|O
value_1 value_2
b azk Equal e Iigﬁtﬂj
Source walue_1
ZHOT0T_0101_1111_1111 €
b azk, mazk_1
ZH0000_0000_0000_1111 €
Compare walue_2
ZH0107_0107_1111_0000 €

light_1 = ((value_1 AND mask_1)=(value_2 AND mask_2));

MEQ_01
MER _|
o Mask Equal
[ n |
u]
Source Lest [— — — —1] light_1
, [_tart1)
Compare
Jul
[mz r
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)
(N EQ) NEQ Source A Source B
MHEL]
—1 Mot Equal
Source b 7
7 A (Source A) | SINT Source B
Source B 7
I INT
DINT
REAL
B (Source B) | SINT Source A
INT
DINT
REAL
. SINT INT DINT
- STRING
. Source A Source B
IF sourceA <> sourceB THEN “L<>77
<statements>; sourceA sourceB
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5

B NEQ_ 01

HEQ D
Mot Equal
NEQ FBD_COMPARE NEQ
O Sources Lrest [6
] Sourced
FBD_COMPARE
Enableln BOOL
SourceA REAL SourceB
SourceB REAL SourceA
EnableOut BOOL
Dest BOOL NEQ
NEQ Source A Source B
« ASCII ““A”7 ($41)
= ‘a’, ($61)
ASCII
lab $31$61%$62
A 1b $31$62
A $41
AB $41%42 — AB<B
1
B $42 —
$61 — a>B
\ ab $61%$62
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

Source A = Source B

Enableln EnableOut

Enableln

EnableOut
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(CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ) 5
value_1 light 4 value_1
value_2 light_4
MED light_4
Mot Equal
Source s value_1
ne
Source B walue_2
ne

light 4 := (value_1 <> value_ 2);

u]
[owes
u]
[awz n

HEG_04

NEQ
Mot Equal

Sourced

SourceB

=

Dest f— ——

i
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5 (CMP EQU GEQ GRT LEQ LES LIM MEQ NEQ)

254



/

(CPT ADD SUB MUL DIV MOD SQR SQRT
NEG ABS)
/

CPT 256
(1)

ADD 260
@)

SUB 263
@

MUL 266
@

DIV 269
@

MOD 274
@

SQR 278

SQRT®

NEG 282
@

ABS 285

€]
(2

(©)

SV

255



6 / (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

DINT
REAL)
(CPT) CPT
CPT
— Compute —
Dzt ?
o
. !l SINT
?
E4pression ' (Destination) INT
DINT
REAL
SINT (
Expression INT
(Exp ) DINT
REAL
SINT INT DINT
=
CPT
destination := numeric_expression;
CPT CPT
Destination
/ CPT

CPT
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

6

Destination
CPT value_1 5 value_2 7
result 1
ZPT
Compute
Dzt result_1
noe
Ewpreszion [value_175)/[value_2/7)
CPT float_value_1 float value_2

float_value_2

float_value_1
float_value_result_cpt

Compute

Dest float_walue_result_cpt
14000067 <

Exprezzion [tmifloat_value_1)MOD[n{float_wvalue_212]
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6 (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)
+ DINT REAL LN REAL
- / DINT REAL LOG 10 REAL
* DINT REAL MOD DINT REAL
/ DINT REAL NOT DINT
wx (x DINT REAL OR DINT
ABS DINT REAL RAD DINT REAL
ACS REAL SIN REAL
AND DINT SQR DINT REAL
ASN REAL TAN REAL
ATN REAL TOD BCD DINT
CcoS REAL TRN DINT REAL
DEG DINT REAL XOR DINT
FRD BCD DINT
(
ABS(tag_a)
b -tag b+5

258

- tag_c AND tag_d
- (tag_e ** 2) MOD

(tag_f/tag_g)




(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

0

ABS ACS ASN ATN COS
DEG FRD LN LOG RAD SIN
SQR TAN TOD TRN

**

3.

4. —( ) NOT
5. * | MOD
6. -( ) +

7. AND

8. XOR

9. OR

259



6 / (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)
(ADD) ADD Source A Source B
Destination
40D
—1 Add —
Source b 7
s
Source B 7 A SINT Source B
7 (Source A)
Dzt ? INT
s
DINT
REAL
SINT INT DINT
B SINT Source A
(Source B)
INT
DINT
REAL
SINT INT DINT
SINT
(Destination)
INT
DINT
REAL
dest := sourceA + sourceB; R St sourceA
sourceB dest
E ADD_ 04
ADD =
Add
O Sources Crest O ADD FBD_MATH ADD
O SourceB
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

6

FBD_MATH

Enableln BOOL

SourceA REAL SourceB

SourceB REAL SourceA

EnableOut BOOL

Dest REAL
ADD Source A Source B
Destination

Destination = Source A + Source B
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(CPT ADD SuB MUL DIV MOD SQR SQRT NEG

ABS)

Enableln

EnableOut

Enableln

EnableOut

262

float_value_1

add_result
A0D
— Add
Source & float_walue_1
noe
Source B float_value_2
noe
Dzt add_result
noe

float_value_2

add_result

float_walue_1 [,
0.0
float_walue_2

oo

ADD_O6

ADD

Add

Sources

SourceB

=l

Drest

:= float_value_1 + float_value 2;

oo

] add_result



/ (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

(SUB) SuB Source A Source B
Destination

SUE

— Subtract —

Source &, ?
T

Source B ?3 A (Source A)  SINT Source B

Dzt ?
- INT

DINT

REAL
SINT INT DINT

B (Source B) SINT Source A
INT

DINT

REAL
SINT INT DINT

Destination SINT
INT
DINT
REAL

dest := sourceA - sourceB; ce_»» sourceA
sourceB dest
B sUB_01
SUB El
Subtract
SUB FBD_MATH SUB
O Sources Crest O
O SourceB
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6 (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)
FBD_MATH

Enableln BOOL

SourceA REAL SourceB

SourceB REAL SourceA

EnableOut BOOL

Dest REAL
SUB Source A Source B
Destination

Destination = Source B - Source A
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS) 6

Enableln EnableOut
Enableln
EnableOut
float_value_1 float_value_2

subtract_result

SUE
— Subtract
Source & float_walue_1
noe
Source B float_walue_2
noe
Dzt subtract_result
noe
subtract_result := float value 1 - float value 2;
suB_01
sue L
Subtract
0o 0o
| floatvaluet 7 Sourcer Dest o subtiact_resutt
Sourced
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6 / (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)
(I\/|U|_) MUL Source A Source B
Destination
MLIL
——1 Multiply I
Source A ?
7
Source B ? A (Source A) SINT
7
Dest 7 INT
7
DINT
REAL
SINT INT DINT
B (Source B) | SINT
INT
DINT
REAL
SINT INT DINT
(Destination) | SINT
INT
DINT
REAL
dest := sourceA * sourceB; “Ex77 sourceA
sourceB dest
E MUL_01
MUL ]
hultiply
] Sources Dest O MUL FBD_MATH MUL
O SaurceB
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

6

FBD_MATH
Enableln BOOL
A (Source A) REAL
B (Source B) REAL
EnableOut BOOL
Dest REAL
MUL Source A Source B
Destination

Destination = Source B x Source A
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6 / (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

Enableln EnableOut

Enableln

EnableOut

float_value_1 float value 2
multiply_result

b LIL
—1 bultiply
Source & float_walue_1
noe
Source B float_walue_2
noe
Dest mltiply_rezult
noe
multiply result := float value 1 * float value 2;
mLL_0
MUL
tdultiply

0.0 0.0
float_walue_1 [ Sourced [ra=t | multiply_result
SourceB
0.0
float_walue_2
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(CPT ADD SUB MUL DIV MOD SQR SQRT

NEG ABS)

6

(DIV)

]
Divide
Source &, ?
Source B ?

Dzt ?

dest := sourceA / sourceB;

DIV Source B

Source A

Destination

A (Source A)

SINT

INT

DINT
REAL

SINT

INT

DINT

B (Source B)

SINT
INT
DINT

REAL

SINT

INT

DINT

(Destination)

SINT

INT

DINT

REAL

sourceA

“/,7

dest

sourceB
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(CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

B Div_01
Dl |II
Divide
DIV FBD_MATH DIV
O Sources [rest
O SourceB
FBD_ MATH
Enableln BOOL
A (Source A) REAL
B (Source B) REAL
EnableOut BOOL
Dest REAL
Destination REAL
source A
Source B A DINT 5
REAL (Source A)
B DINT 3
(Source B)
Destination | DINT
Source B A REAL |[5.0
REAL (Source A)
B DINT 3
(Source B)
Destination | DINT 2

270




/ (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS) 6
Source B( )
- 4
- 4
. Destination
source B Destination Destination
(SINT - - A (Source A)
INT DINT)
REAL SINT INT DINT -1
0
REAL 1.%( )
-1.%5( )
(S:MINOR)
Logix5000 ( 1756-PMO001)
4 4

Destination = Source A / Source B
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http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf

6 / (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

Enableln EnableOut
Enableln
EnableOut
1 float_value_2 float_value_1 divide_result
(N

— Divide

Source &, float_valus 1

noe

Source B float_value_2

noe

Dest divide_result

=

divide_result := float value_1 / float value_2;

Dlv_0z

o L

Divide

a0 0.0
float_walue_1 N Sources Dest O divide_razult
Sourced
a0
float_walue_2
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS) 6
2 DIV MOV
- DIV dint_b dint_a
. Destination REAL ( Destination
(SINT INT DINT) )
« MOV (real_temp) DIV

divide_result_rounded

divide_result_rounded  DINT real_temp
DINT Destination

Dl A 1%
Divide Mowve
Source & dint_a Source real_temp
b 1.6EEEERE &
Source B dint_b Dest divide_result_rounded
de 2
Dest real_temp
1.6EEEEEE €

43009
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6 / (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

(MOD) MOD Source B Source A Destination

: 0D
b aodula

Source &, 7
7

Source B 7 A (Source A) | SINT
e

Dest 7 INT
7

DINT
REAL

SINT INT DINT

B (Source B) | SINT
INT
DINT

REAL

SINT INT DINT

SINT
(Destination)
INT

DINT

REAL

dest := sourceA MOD sourceB; MOD sourceB
sourceA dest

E MOD_01
MOD ]

fadulo

MOD FBD_MATH MOD

0

Sources Lest O

SourceB

s
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(CPT ADD SUB MUL DIV MOD SQR SQRT

NEG ABS) 6

FBD_MATH
Enableln BOOL
A (Source A) REAL
B (Source B) REAL
EnableOut BOOL
Dest REAL
Source B( )
- 4
- 4
. Destination
source B Destination Destination
(SINT - - A (Source A)
INT DINT)
REAL SINT INT DINT -1
0
REAL 1.9( )
-1.9( )
(S:MINOR)
Logix5000 ( 1756-PMO001)
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http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf

6 / (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

Destination = Source A (TRN ( Source A / Source B) * Source B)

Enableln EnableOut
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

divisor
3 10

dividend
3 1

0D
Maodulo

Source A dividend
10

divizor
L 2

remainder
1%

Source B

[rest

remainder

remainder := dividend MOD divisor;

MOD_01

oo
(i

MO

tdadule

Sources

SourceB

=

Drest

oo

0.0
o rmanaa]
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/ (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

dest

278

(SQR)

SQR

Source

Destination

SOR
— Square Root
Source 7
"
Dzt ?
"
= SQRT(source);

(Source)

SINT
INT
DINT

REAL

SINT

INT

DINT

(Destination)

SINT
INT
DINT

REAL

SQRT
dest

source



(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

6

B SQR_04
S0R |Z|
Square Root
SQR FBD_ MATH_ADVANCED SQR
O Source Dest O
FBD_MATH_ADVANCED
Enableln BOOL
Source REAL
EnableOut BOOL
Dest REAL
Destination REAL
Source
REAL Source DINT 3
Destination | DINT 1
REAL Source REAL 3.0
Destination | DINT 2
Source Source
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6 / (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

Destination = ./Source
Enableln EnableOut
Enableln
EnableOut

280



(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS) 6

value_1 sqr_result

SOR
—— Square Root
Source  walue_1
0+
Dzt sqr_result
noe

sqr_result := SQRT(value_1);

SOR_04

soR L

Square Root

a .o
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6 / (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)
(NEG) NEG Source Destination
NEG
Megate —
Source ?
K
Dest ? (Source) SINT
K
INT
DINT
REAL
SINT INT DINT
SINT
(Destination)
INT
DINT
REAL
dest := -source; “e_2> source
dest
B NEG_0O1
NEG  []
Megate
NEG FBD_MATH_ADVANCED NEG
Source [rest
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

6

FBD_MATH

Enableln BOOL
Source REAL
EnableOut BOOL
Dest REAL

Destination = 0 — Source

Enableln

EnableOut

Enableln

EnableOut

283



(CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

284

value 1

— Megate
Source

MNEG

walue_1
e

Dest negate_result

D(‘

negate_result

negate_result := -value_1;

walue_1 [t
walue_2 [t

u]

[u}

HEQ_01

HEDQ
Mot Equal

Sources

SourceB

Dest [f— ——

= light_a



(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)

6

dest

(ABS)

485

—| Abzalute Value

Source

Dest

?
7
?
"

:= ABS(source);

ABS_04

ABS E

Absolute Walue

Source [rest

ABS Source Destination
(Source) SINT
INT
DINT
REAL
SINT INT DINT
SINT
(Destination)
INT
DINT
REAL
dest
ABS FBD_MATH_ADVANCED ABS
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6 (CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS)
FBD_MATH_ADVANCED

Enableln BOOL

Source REAL

EnableOut BOOL

Dest REAL

ABS Source

Destination

Destination = | Source |

Enableln

EnableOut

Enableln

EnableOut
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(CPT ADD SUB MUL DIV MOD SQR SQRT NEG ABS) 6

value 1 value_1 absolute -4
+4

ABS
Abzolute WValue
Source walue_1
i
Dest walue_1_absolute
4e

value_1 absolute := ABS(value_1);

Abszolute Value

a 0.0
l Souree [ra=t | walue_1_absolute
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6 / (CPT ADD SuB MUL DIV MOD SQR SQRT NEG ABS)

288



/

(MOV MVM BTD MVMT BTDT CLR SWPB
AND OR XOR NOT BAND BOR BXOR BNOT)

SV
( DINT
REAL)
MOV 291
@
MVM 293
MVMT 296
BTD 299
BTDT 302
CLR (@))] 305
INT DINT REAL SWPB 307

(€]
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

311

& @
314

)
318

@
322

@)
(BAND) ) 325
(BOR) ) 328
(BXOR) ) 331
(BNOT) () 334

@

@ AND OR XOR NOT
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/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

(|\/| OV) MOV Source Destination Source

kA0

— Move —
Source ?

Dest 73 (Source) | SINT ( )

7

INT

DINT

REAL

SINT INT DINT

SINT
(Destination)
INT

DINT

REAL

=)
dest := source; “.=zz source
dest

MOV Source Destination Source

291



/

(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR

BXOR BNOT)

292

Source Destination
value_1 value_2
b 1%

— Move
Source walue_1
0+
Dzt walue_2
G
value 2 := value _1;



/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

(MVM)

MM

— Mazked Move

Source
b azk,

Dzt

dest := (Dest AND NOT (Mask))
OR (Source AND Mask);

MVM Source Destination
MVMT
296
, I
77
? (Source) | SINT
77
? INT
77
DINT
SINT INT DINT
SINT
(Mask)
INT
DINT
SINT INT DINT
SINT
(Destination)
INT
DINT
MVMT
Destination
Source
MVM Mask Source
“1’, “O,’
0
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/

(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR

BNOT)

16#
16#0FOF

8#
8#16

2#
2#00110011

Mask Source Destination
Destination
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

value_a value_b
value_a )

0

‘1‘1‘1‘1 1‘1‘1‘1 1‘1‘1‘1 1‘1‘1‘1 1‘1‘1‘1

1‘1‘1‘1

1‘1‘1‘1

AEEE

‘o|1|0|1 o|1|0|1 0|1|0|1 o|1|o|1 o|1|o|1

o|1|o|1

o|1|o‘1

ofx[o]]

‘1‘1‘1‘1 o‘o‘o‘o 1‘1‘1‘1 o‘o‘o‘o 1‘1‘1‘1

o‘o‘o‘o

1‘1‘1‘1

o[o[o]e]

‘0‘1‘0‘1 1‘1‘1‘1 0‘1‘0‘1 1‘1‘1‘1 0‘1‘0‘1

1‘1‘1‘1

0[1]o]1

JEEE

value_b

b
— Masked Move

Source

b azk,

Dzt

value_a

2H0101_0101_0101_0101_0101_0101_0101_0101 €

mazk_2

2#1111_0000_1111_0000_1111_0000_1111_0000 €

value_b

2ZETT_ T _ T _ T _ 1 €

value b := (value_b AND NOT (mask 2)) OR

(value_a AND mask_2);
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT

BAND BOR BXOR BNOT)

(MVMT) MVMT Target Destination Source
Destination Destination Target
Source
MVM 293
MVMT (MVMT_tag) ;
MVMT FBD _MASKED_ MOVE MVMT
E bt T_0
%l T E
Mo Wfith hdask with Target
MVMT FBD_MASKED_MOVE MVMT
O Source Lest 4
] hdask
] Target
FBD_MASKED_ MOVE
Enableln BOOL
Source DINT Mask Destination
Mask DINT Source Dest 1
Source Dest 0 Source
Dest
Target DINT Mask Source Dest
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

EnableOut BOOL
Dest DINT
MVMT Mask Source
= & 1 b B = & 0 b B
0
16#
16#0FO0F
8#
8#16
2#
2#00110011
Enableln EnableOut N/A
Enableln Enableln
EnableOut
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

1. Target Dest

Target|1| 1| 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘

Dest|1|1|1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘l‘l‘l‘l‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘

2. Source Dest Dest
Source  Target 0
( X )

SOurce|o|1|o|1 o|1|o|1 o|1|o|1 o|1|0|1 0|1|0|1 o|1|o|1 o|1|o|1 o|1|o|1‘

Mask1|1|1|1‘1 0‘0‘0‘0 1‘1‘1‘1 0‘0‘0‘0 1‘1‘1‘1 o‘o‘o‘o 1‘1‘1‘1 0‘0‘0‘0‘

Dest|0|1|0‘l 1‘1‘1‘1 0‘1‘0‘1 1‘1‘1‘1 0‘1‘0‘1 1‘1‘1‘1 0‘1‘0‘1 1‘1‘1‘1‘

MVMT _01.Source := value_ 1;
MVMT_01.Mask := maskl;
MVMT_0O1.Target := target;

MVMT (MVMT_01) ;

value_masked := MVMT_01.Dest;

MUMT 01

MW

Mazed Mowe with Target

I Source Dest O value_mashed
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/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7
(BTD) BTD Source
Destination
BTDT
302
BETD
Bit Field Distribute —
Source 7
77
Source Bit 7 (Source) SINT
Dest 7
i INT
Dest Bit 7
SINT INT DINT
DINT (
(Source bit) (0-31 DINT) )
(0-15 INT)
(0-7 SINT) Source
SINT
(Destination) INT
DINT
L DINT Source
EJ[ii)estmatmn (0-31 DINT) ( )
(0-15 INT) o
(0-7 SINT) Destination
DINT
(Length) (1-32)
BTD Source Destination
Source bit( Length( )
Destination bit Destination Source
Destination
0
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

Source Destination
1 BTD value_1
BTD
Bit Field Digtribute
Source walue_1
281111_1111_1111_1111_1111_1000_0000_00a0 €
Source Bit 3
Dzt walue_1
281111_1111_1111_1111_1111_1000_0000_00a0 €
Drezt Bit 10
Length B
destination bit source bit

oro [ [[3[3[3[s[a s a[a[[ [ [ [ 2[3[2[a]o]o[ o] [ [ o[ [ e[ ]
el |

valu ‘
: ;

BTD [2[2]2]efe[a]2]2[2]a]a]2[2]1]2]1]o]o] oo o]o] oo o] o] o0 0] o] o] )
value_1

value_1
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

2 BTD value_1 10 value_2
BTD
—— Bit Field Distribute

Source walue_1
281111_1111_1111_1111_1111_1000_0000_00a0 €

Source Bit 3

Dzt walue_2
2#0000_0000_0000_0000_0000_0000_000d_oaan €

Drezt Bit a

Length 10

source bit

|

vaMe_l‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘1‘?‘1‘1‘1‘1‘1‘1‘1‘1‘?‘1‘1‘1‘

destination bit
5 v

sro [o[o[e[e[o[o[o[e[e[o]o[o[e[o[o] oo e[o[o] o o[ [o[o] o[ [ o[ o[ ]]
value_2 : :

oro_ [Ooo[a[a[efelelelelelo[o[o[o[ [Tl

value_2
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

BTDT Target Destination
Source
BTDT o
( ) Destination Target  Source
BTD 299
BTDT(BTDT_tag);
BTDT FBD_BIT_FIELD DISTRI BTDT
BUTE
E BTDT_04
BTDT =
Bit Field Cristribute with Target
BTDT FBD BIT _FIELD DISTRI BTDT
O Source st O BUTE - -
= SourceBit
] Length
O DestEit
O Target
FBD_BIT_FIELD DISTRIBUTE
Enableln BOOL
Source DINT Destination
SourceBit DINT Source ( )
=0 31
Length DINT
=1 32
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/ (MOV

MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

DestBit DINT Dest ( )
=0 31
Target DINT Source Dest
EnableOut BOOL
Dest DINT
BTD Source Destination
Source bit( ) Length(
) Destination bit Destination
Source
Destination
Enableln EnableOut N/A
Enableln Enableln
EnableOut
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

1. Target Dest

Target‘l‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘

Dest‘l‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘

2. SourceBit  Length Source Dest
(  DestBit ) Source Target

DestBit SourceBit

Source‘l‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘ 1‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘
|

! ;

Dest‘l‘l‘l‘l‘l‘l‘l‘l‘l‘ 1‘ 1‘1‘1‘1‘1‘1‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘

BTDT_O1.Source := source;
BTDT_O01.SourceBit := source_bit;
BTDT_Ol1.Length := length;
BTDT_O1.DestBit := dest bit;
BTDT_Ol1.Target := target;

BTDT(BTDT_01);

distributed_value := BTDT_01.Dest;

BTOT_04

a BTDT
B -
Bit Field Dristribute with Target
Source [Dest

i}
|source_bit :D—I l—C SourceBit

i}
a length Length
dest_bit {] DestBit
Target
i}
E»:
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/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

(CLR)

— Clear
Dzt

CLR

I dest :=

0;

CLR Destination

SINT
(Destination)
INT

DINT

REAL

CLR
dest

CLR Destination

Destination
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND

BOR BXOR BNOT)

306

value 0
LR
—— Clear
Dzt walue
999939 €
value := 0;



/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

(SWPB) SWPB
SWwPE
—— Swap Byte
Source ?
7
Order bMode ?
Dzt ?
7
(Source) INT
DINT
REAL
Source (
(Order Mode) )
INT N/A
DINT ABCD DCBA REVERSE(
0)
REAL
ABCD CDAB WORD( 1)
ABCD BADC HIGH/LOW(
2)
INT
Destination .
( ) DINT Source Destination
REAL INT INT
DINT
DINT DINT
REAL REAL
SWPB(Source,OrderMode,Dest);
SWPB HIGH/LOW
HIGHLOW  HIGH_LOW( )
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

SWPB Source
Destination

ASCII ASCII
(ARD ARL AWA AWT)

_ _ ARD
®i}‘* W‘ ASCI Read
Channel 1]
) oJm BA Destination bar_code[0]
5 P > _ 2g'¢] —— bar_code[0] AB ASCIl |INT
J SenalPort Control bar_code_read
42969 SenalPort Control Length 28
Characters Read 2%
42968
AB
N/A
N/A
Enableln N/A Enableln
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

RSLogix 5000 RSLogix 5000\Projects\Samples
Swap_Bytes_in_Array.ACD

1. SIZE array
array_length

2. array
- SWPB index
index 0 SWPB array|[0]
« ADD index SWPB
array
3. SWPB
. index (array_length)
. index array_length SWPB

1 SWPB DINT_1
ASCII
Destination
SwiFE SwiFPB SwiFE
Swap Byte Swap Byte Swap Byte
Source DIMT_1 Source DIMT_1 Source DIMT_1
BECD' & BECD' & BECD' &
Order Mode REVWERSE Order Mode WORD Order Mode HIGHALOW
Dest  DINT_1_reverse Dest DINT_1_swap_word Dest DINT_1_swap_high_low
‘DCBA & 'COAR' & BADC &
SWPB(DINT_1,REVERSE,DINT_1 reverse);
SWPB(DINT_1,WORD,DINT_1 swap_word);
SWPB(DINT_1,HIGHLOW,DINT_1 swap_high_low);
2
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

LR SIZE
Clear Size in Elements
Dest indeyx Source array[0]
0« M234'
Dirn. ToWamy 0
Size array_length
46
swap_bytes SwWPE 00
— LBL } Swap Bute Add
Source array[index] Source & 1
1234
Order Mode REWERSE Source B ifde
Dest aray_bytes_reverse(index) N«
‘4321 Dest indes
0&
SWPB
LES swap_bytes
Less Than [4<B) I M
Source &, ifde
0&
Source B aray_length
1€
index := 0;
SIZE (array[0],0,array_length);
REPEAT

SWPB(array[index] ,REVERSE ,array_bytes reverse[index]);
index := index + 1;
UNTIL(index >= array_length)END_REPEAT;
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/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

(AND)

AND

— Bitwize aMD
Source &, ?
T
Source B ?
T
Dzt ?
T
dest := sourceA AND sourceB

B AND_04

AND
Bitwise AND

O Sources

=

SourceB

=

[rest

AND Source A Source B

Destination

A SINT Source B
(Source A)
INT
DINT
SINT INT DINT
B SINT Source A
(Source B)
INT
DINT
SINT INT DINT
SINT
(Destination)
INT
DINT
AND
sourceA AND sourceB
AND FBD_ LOGICAL AND
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

FBD_LOGICAL

Enableln BOOL

SourceA DINT SourceB

SourceB DINT SourceA

EnableOut BOOL

Dest DINT

Source A Source B Destination

0 0 0
0 1 0
1 0 0
1 1 1

312



/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

Enableln EnableOut
Enableln
EnableOut
AND SourceA  SourceB
Dest

SoumeA‘O‘O‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0

0‘1‘0‘1‘0‘1‘0‘1

of]ofa[a]r]r]a]a]a]a]1]

SoumeB‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0‘0

1‘1‘1‘1‘1‘1‘1‘1

o[o[o[o]o]o[ofo[o[o[0]0)

Dea‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o

0‘1‘0‘1‘0‘1‘0‘1

o[0[o[o]o[o[o[o[o[o[o]0)

A D
— Bitwize AND

Source A walue_1
2R0000_0000_0000_001_o_01m_ 11111111 #

Saurce B walue_2
2H0000_0000_0000_1111_1111_0000_0000_0000 «

[rest value_result_and
2R0000_0000_0000_0101_0101_0000_0000_0000 <

value_result_and := value_1 AND value_2;
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR

NOT BAND BOR BXOR BNOT)

(OR)

OR

— Bitwize Incluzive OR  +—
Source &, ?
T
Source B ?
T
Dzt ?
T
dest := sourceA OR sourceB

B OR_04
o =

Bitwize Incluzive OR

O Sources Crest O

=]

SourceB

314

OR

Source A

Destination

Source B

A
(Source A)

SINT
INT
DINT

Source B

SINT INT

DINT

B
(Source B)

SINT
INT

DINT

Source A

SINT INT

DINT

(Destination)

SINT
INT

DINT

sourceB

OR

sourceA OR

OR

FBD_LOGICAL

OR




(MOV MVM BTD MVMT

BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

FBD_LOGICAL

Enableln BOOL

SourceA DINT SourceB

SourceB DINT SourceA

EnableOut BOOL

Dest DINT

Source A Source B Destination

0 0 0
0 1 1
1 0 1
1 1 1
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

Enableln EnableOut
Enableln
EnableOut
OR SourceA  SourceB
Dest

SourceA‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O o‘1‘0‘1‘0‘1‘0‘1‘0‘1‘0‘1‘1‘1‘1‘1‘1‘1‘1‘1

SourceB‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O 1‘1‘1‘1‘1‘1‘1‘1‘0‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o

Dest‘O’O’O’O’O’O’O’O’O’O’O’O 1’1’1’1’1’1’1’1’0’1’0’1’1’1’1’1’1’1’1’1

R
— Bitwize Inclusive OR

Source & walle_1
SR0000_0000_ 0000 010 _01_010_ 11111111 &

Source B walug_2
2R0000_0000_0000_17117_1111_0000_0000_0000 <

[est walue_result_or
SR0O000_0000_0000_ 111 _1111_ 01 _ 11111111 =

value_result or := value_1 OR value_2;
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

il

KX
1]
[z

OR_01

a3

1

Bitwize Inclusive OR

Sourced

SourceB

Drest

u]
] walue_result_or
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

(XOR) XOR Source A Source B
Destination

331

S0R

— Bitwize Exclusive DR [—
Source &, ?
K
Source B ? A SINT Source B
Y (Source A)
Diest T INT
K
DINT
SINT INT DINT
B SINT Source A
(Source B)
INT
DINT
SINT INT DINT
SINT
(Destination)
INT
DINT
dest := A XOR B
es source source XOR SOUTCGA XOR
sourceB
B XOR_04
A0R |ZI
Bitwise Exclusive OR
d Seurcen Dest XOR FBD_LOGICAL XOR
O SaurceB

318



(MOV MVM BTD MVMT

BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

FBD_LOGICAL

Enableln BOOL

SourceA DINT SourceB

SourceB DINT SourceA

EnableOut BOOL

Dest DINT

Source A Source B Destination

0 0 0
0 1 1
1 0 1
1 1 0
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

Enableln EnableOut
Enableln
EnableOut
XOR SourceA  SourceB

value_l‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O‘O o‘1‘0‘1‘0‘1‘0‘1‘0‘1‘0‘1‘1‘1‘1‘1‘1‘1‘1‘1

vame_z|o|o|o|o|o|o|o|o|o|o|o|o 1|1|1|1|1|1|1|1|o|o|o|o|o|o|o|o|o|o|o|o

vaIue_resuIt_xor’O’O’O’O’O’O’O’O’O’O’O’O 1’0’1’0’1’0’1’0’0’1’0’1’1’1’1’1’1’1’1’1

#0R
—{ Bitwize Excluzive OR
Source & wvalue_1
210000_0000_0000_mo1_01o1_0o1on_1111_1111 &
Source B value_2

2H0000_0000_0000_1111_1111_0000_0000_0000 «
Dest walue_result_wor
2RO000_0000_0000_1010_1010_010i_1111_1111 &

value_result _xor := value_1 XOR value 2;
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

walue_1 N
walue_2 ;

0

0

HOR_01

XOR

=l

Bitwize Exclusive OR

Sources

SourceB

Drest

il

] walue_result_sor
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

(NOT) NOT Source
Destination
334
HOT
— Bitwize HOT —
Source 7
77 (Source) | SINT
Dest 7
7 INT
DINT
SINT INT DINT
SINT
(Destination)
INT
DINT
dest := NOT
es souree NOT NOT source
B NOT 01
NOT ]
Bitwize HOT
NOT FBD_LOGICAL NOT
O Source Crest O
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/ (MOV

MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

7

FBD_LOGICAL
Enableln BOOL
Source DINT
EnableOut BOOL
Dest DINT
Source Destination
0
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

Enableln EnableOut
Enableln
EnableOut
NOT Source

324

vame_l‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘o‘1‘0‘1‘0‘1‘0‘1‘0‘1‘0‘1‘1‘1‘1‘1‘1‘1‘1‘1‘

vaIue_resuIt_not‘l’ 1’ 1’ 1’ 1’ 1’ 1’ 1’ 1’ 1’ 1’1’1’0’1’0’1’0’1’0’1’0’1’0’0’0’0’0’0’0’0’0‘

Bitwizge MOT
Source

Dest

WOT

280000_0000_0000_0101_0101_mo_1111_11711 €
21111111 _ 11711101 0_1010_1010_0000_0000 €

value_1

walue_result_not

value_result_not := NOT value_1;




(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

(BAND) BAND
_ 311
IF opertantdA Al\::D operandB THEN AND ceg> BOOL
< > -
S_ atement=: BOOL operandA
END_IF: operandB ( )
B
E BAND_O1
BAND D
Boolean And

el in1 Out BAND FBD_BOOLEAN_AND BAND

EH In2

i FBD_BOOLEAN_AND

H In
Enableln BOOL
In1 BOOL
In2 BOOL
In3 BOOL
In4 BOOL
In5 BOOL
In6 BOOL
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

In7 BOOL
In8 BOOL
EnableOut BOOL
Out BOOL
BAND
1)
Out = In1 AND In2 AND In3 AND In4 AND In5 AND In6 AND In7 AND In8
Enableln EnableOut
Enableln
EnableOut
1 bool_in1  bool_in2

value_result_and

VALUE_RESULT_AND
BOOL_IN1 BOOL_IN2
0 0 0
0 1 0
1 0 0
1 1 1
value_result_and := bool_inl AND bool _in2;
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

BAND_01

BAND |
Boolean And
il 0
(oo p® — ouip et
5 | —] In2
E Ind
2 bool_in1  bool_in2 ( ) lightl ( )
light1 ( )

IF bool_inl AND bool _in2 THEN

lightl = 1;
ELSE

lightl := 0;
END_IF;
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

(BOR) BOR
314
IF operandA OR operandB THEN OR BOOL
<statement>; BOOL operandA  operandB
END_IF;
- ()
B
E BOR_04
BOR E
Boalean Or

o] in out o BOR FBD_BOOLEAN_OR BOR

=] In2

i FBD_BOOLEAN_OR
Enableln BOOL
In1 BOOL
In2 BOOL
In3 BOOL
In4 BOOL
In5 BOOL
In6 BOOL
In7 BOOL

328



/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

In8 BOOL
EnableOut BOOL
Out BOOL

BOR

©)

Out=1n1 OR IN2 OR IN3 OR In4 OR In5 OR In6 OR In7 OR In8
Enableln EnableOut
Enableln

EnableOut
1 bool _in1  bool_in2

value_result_or

VALUE_RESULT_OR
BOOL_IN1 BOOL_IN2
0 0 0
0 1 1
1 0 1
1 1 1
value_result_or := bool_inl1 OR bool_in2;
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

BOR_01
BOR _I
Boolean Or
- 0 a
(oo p e oo —a et
—F] In2
o | d
E Ind
2 lightl ( )
. bool_inl ( )
*  bool_in2 ( )
e bool_in1  bool_in2 ()
lightl ( )

IF bool _inl1 OR bool_in2 THEN

lightl = 1;
ELSE

lightl := 0;
END_IF;
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/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

(BXOR) BXOR
318
IF operandA XOR operandB THEN XOR BOOL
< >
S_tatement ’ BOOL operandA
END_1F; operandB ( )
B
E BXOR_01
BXOR E
Boolean Exclusive Or
&]in1 out 71 BXOR FBD_BOOLEAN_XOR BXOR
= In2
FBD_BOOLEAN_XOR
Enableln BOOL
Inl BOOL
In2 BOOL
EnableOut BOOL
Out BOOL

BXOR

Out = In1 XOR In2
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

Enableln EnableOut
Enableln
EnableOut
1 bool_in1  bool_in2
value_result_xor
BOOL_IN1 BOOL_IN2 VVALUE_RESULT_XOR
0 0 0
0 1 1
1 0 1
1 1 0
value_result_xor := bool _inl XOR bool in2;
BX0OR_01
BXOR ]
Boolean Exclusive Or
(oot Out o — e _vatve ey |
o —F] In2
[z
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(MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

2 lightl ( )
bool_inl ( )
e bool_in2 ( )

light1 ()

IF bool_inl XOR bool_in2 THEN

lightl = 1;
ELSE

lightl := 0;
END_IF;
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

(B NOT) BNOT

322
=]
IF NOTtopterandt THEN NOT BOOL
< >
statement>; BOOL operand ( )
END_IF;
B BHOT_04
BNOT  []
Boolean HOT
aIn out B BNOT FBD BOOLEAN_NOT BNOT
FBD_BOOLEAN_NOT
Enableln BOOL
In BOOL
EnableOut BOOL
Out BOOL
BNOT
Out =NOT In
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/ (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT) 7

Enableln EnableOut
Enableln
EnableOut
1 bool_inl

value_result_not

BOOL_IN1 VALUE_RESULT_NOT

0 1
0
value_result_not := NOT bool_inl;
BNOT_01
BHOT _I
Boolean Mot
u} u]
(oo p i ouin’ —ar v |
2 bool_inl lightl ( ) lightl
( )

IF NOT bool_inl THEN

lightl := 0;
ELSE

lightl := 1;
END_IF;
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7 / (MOV MVM BTD MVMT BTDT CLR SWPB AND OR XOR NOT BAND BOR BXOR BNOT)

336



C )

(FAL FSC COP CPS FLL AVE SRT STD
SIZE)

FAL 343
(1)
FSC 354
COP 363
CPS 363
FLL 369
(1)
AVE 373
(1)
SRT 378
STD 383
(1)
SIZE 389
SV
( DINT

REAL)

337



8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

FAL FSC
(1-2147483647)
(.POS)
.POS LEN

16639

338



)

FSC COP CPS FLL AVE SRT STD SIZE)

8

.EN

.DN

.EN

.POS

.POS

40010
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(FAL FSC COP CPS FLL AVE SRT STD SIZE)

340

-
<« — -«
<« -

! ]

J ]

47
T
DN
— -~ -
L] ] |

.DN i



)

(FAL

FSC COP CPS FLL AVE SRT STD SIZE)

8

.POS

.DN

.POS

.EN

.EN

.DN

.EN

16643
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)

(FAL FSC COP CPS FLL AVE SRT STD SIZE)

342

.DN

UL

.EN
.DN
.EN .DN .POS



( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

(FAL) FAL
FaL:
— File Arith/Logical —EN2— Control CONTROL
Cotibrol ?
Length ? (=HDH3—  Length DINT
Paosition ? —
tode 7 =<ER>—  Position DINT
Dest ?
77 0
Eupreszion ?
Mode DINT
INC ALL
Destination | SINT
INT
DINT
REAL
Expression | SINT (
INT )
DINT
REAL
SINT INT DINT
FAL SIZE FOR...DO
SIZE(destination,0, length-1);
FOR position = 0 TO length DO
destination[position] := numeric_expression;

END_FOR;
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)

(FAL FSC COP CPS FLL AVE SRT STD SIZE)

CONTROL
.EN BOOL FAL
.DN BOOL (.POS = .LEN)
.ER BOOL (S:v )
.ER .POS
.LEN DINT FAL
.POS DINT
FAL CPT
350 .POS
Destination FAL
( 4 20)
20
POS <0 LEN<O 21

344




)

(FAL FSC COP CPS FLL AVE SRT STD SIZE)

.POS

.POS

POS=.POS+1

=.POS-1

.DN

.EN

mode = .LEN

Q 349
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

.ER

Shre

STE

-

loop_count =
loop_count - 1

\

loop_count <0 >——p-|[.POS = .POS +1

v
—

-

|

DN .POS=.POS+1
.EN
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( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

.EN

.POS=.POS+1

S
T

.POS=.POS-1
loop_count=1

.POS=.POS -1 <

DN
—>
& EN \ /
346

347



8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

.POS=.POS +1 | — .EN

loop_count = .LEN - .POS .POS=.POS-1

.POS=.POS-1

.DN
.EN

346 *

348



( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

-

SN

POS=.POS-1
mode = .LEN
- | J
.DN

.EN .EN
loop_count = .LEN - .POS *

.POS=.POS-1

mode =
loop_count

346

.EN
loop_count = mode
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)
1 FAL array 2 array 1
FAL: :
——— File Arith/Logical F—EMT——
Cantrol contral_2 ::
Length 10“: DM —
Position 1]
Mode ALL —CERTD— ::
Dest array_1[control_2 poz]
no*
Expression array_2[contral_2. pos]
array_2[control_2.pos]  array_1[control_2.pos]
2 FAL value_1 array_2 10
FaL
— File &uith/Logical FENT—
Cortrol control_2
Length 10¢ < DN3—
Pasition ne
tode ALL —CERD—
Dest arra_l,J_2[D,contr0I_2.pos‘]_
0
Expression wvalue_1 value_1 array_2[0,control_2.pos]
3 FAL array 1 value_ 1 FAL
value_1 array_1
FasL
—— File Aith/Logical —CEN ——
Contral cantrol_1
Length 10% FCDND—
Pasition ne
Mode inc —CERT—
Dest value_ 1
oe
Expression aray_1[control_1.pos]
array_1[control_1.pos] value_1
4 FAL value_1 value 2
array 1
( + )
Fal
—\ File Arith/Logical —CEN—
Cotitrol contral_1
Length 0% —DN—
Position ne
tode al ERT—
Dest array_T[contral_1.poz]
ne
Expression value_1 + valus_2
value_1 + value_2 array_1[control_1.pos]

350




( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8
5 FAL array 2 array_3
array_1
(
FAL:
File Arith/Logical L CENS— :: ::
Cantral cantral_2
Length 10 | —DN—
Hpie — —
tod Il
B} gste array_1 [control_2.poase :: ::
0o
Expreszion anay_2[contral_2.pog] £ aray_3[control_2.pos)
array_23[control_2.pos]/ array_1[control_2.pos]

6 FAL array 1
array_3
array_3 10
( +
FaL
—— File Arith/Logical —EN—
Contral cantral_1
Length G0 *® 1 DN»—
Pasition ne
Mode g —ERT—
Dest array_3control_1.pos]
ne
Expression [aray_1[contral_1.pos]+value_1]
array_1[control_1.pos] + value_1
7 FAL value_1
value_2 FAL
value 1
value_2
( +
Fisl
—— File Arith/Logical FEM T —
Coantral contral_1
Length 10¢ DN—
Pasition ne
tiode inc —CERT—
Dest value_2
e
Ewpression value_1 + aray_1[contral_1.poz]

value_1 + array_1[control_1.pos]

value 1
array_1

array_3[control_1.pos]

array_1

value_2
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)

(FAL FSC COP CPS FLL AVE SRT STD SIZE)

352

8 FAL array 1 array_3
value_1 FAL
value_1
( * )
Fal
| B ety [ ——
e e e —
e ey [ —
E xpression array_1[control_1.pos] * aray_3[control_1.pas]
array_1[control_1.pos] * array_3[control_1.pos] value_1
FAL
FAL CPT
+ DINT REAL LN REAL
- / DINT REAL LOG 10 REAL
* DINT REAL MOD DINT REAL
/ DINT REAL NOT DINT
*x (x y ) |DINT REAL OR DINT
ABS DINT REAL RAD DINT REAL
ACS REAL SIN REAL
AND DINT SQR DINT REAL
ASN REAL TAN REAL
ATN REAL TOD BCD DINT
COoS REAL TRN DINT REAL
DEG DINT REAL XOR DINT
FRD BCD DINT



)

(FAL

FSC COP CPS FLL AVE SRT STD SIZE)

8

( ) ABS(tag_a)

a b stag b+5
*tag_c AND tag_d

* (tag_e ** 2) MOD
(tag_f/tag_g)

0)

2. ABS ACS ASN ATN COS
DEG FRD LN LOG RAD SIN
SQR TAN TOD TRN

3. xx

4. —( ) NOT

5. * | MOD

6. - ) +

7. AND

8. XOR

9. OR

353



8 ( )

(FAL

FSC COP CPS FLL AVE SRT STD SIZE)

(FSC)  Fsc
FSC
File Search/Compare CEN
Control ? DN Control CONTROL
Length ? —CER>
Position ? Length DINT
Mod ?
Efprzssion ? Position DINT
0
CONTROL
EN BOOL FSC
.DN BOOL (.POS = .LEN)
.ER BOOL
IN BOOL FSC
.FD BOOL FSC
.LEN DINT
.POS DINT
FSC .FD .POS
N
POS<0 .LEN<O 4 21
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( )

(FAL FSC COP CPS FLL AVE SRT STD SIZE)

.POS

POS=.POS+1

.POS=.POS-1

.DN

.EN

mode = .LEN

Q 349

355



)

(FAL

FSC COP

CPS FLL AVE SRT STD SIZE)

349

-

loop_count =
loop_count - 1

loop_count <0

\/

.POS=.POS+1

'

-

— g |POS=.POS+1

v

.EN
.FD

———p» | .POS=.POS+1

-

-
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11111111111111111111111111111111

11111111111111111111111111111111

11111111111111111111111111111111

11111111111111111111111111111111

( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8
1 FSC array 1
10 array_2
FSC
— File Search/Caormpare - EM
Contral control_ 3 —CDM—
Length 0% ER—
Pazition ne
b ode ALL
Eupreszion array_1[control_3.poz] <> aray_2[control_3.poz)
array_]_ array_z control_3.pos
00000000000000000000000000000000 00000000000000000000000000000000 0
00000000000000000000000000000000 00000000000000000000000000000000 1
00000000000000000000000000000000 00000000000000000000000000000000 2
00000000000000000000000000000000 00000000000000000000000000000000 3 FSC
00000000000000001111111111111111 11111111111111110000000000000000 4 —> N POS ('4F)D
1111111111121111211111111111111111 1111111111111211112111111111111111 5 - .
11111111111111111111111111111111 111111111111111112111111111111111 6
.IN
7
8
9

11111111111111111111111111111111

11111111111111111111111111111111
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

2 FSC MySearchKey
array_1 10
FSC
—— File Search/Compare - EM
Contral control 1 —CDM—
Length 0% ER—
Pasition ne
b ode all
Eupreszion tySearchi.ey = reference(control_1.poz]

MySearchKey control_3.pos
00000000000000000000000000000000 0
00000000000000000000000000000000 1
00000000000000000000000000000000 2
00000000000000000000000000000000 3 FSC

11111111111111110000000000000000 | | 11111111111111110000000000000000 4 — MySearchKey
111111111112121121121111212112111 5 .FD IN
11111111111111111111111111111111 6 POS  (4)
111111212112121221212211212172121 7
111111111112111121121212112121112111 8 .IN
9

11111111111111111111111111111111
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( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8
3 FSC code
code_table 10
FSC
— File Search/Compare —F M o—
Contral code_table_search —DM—
Length 10 #—ER>—
Fozition 0e
Mode ALl
Ewpreszion code = code_table[code_table_search.POS]
Code code_table code_table_search.POS
AFG 0
BEH 1
HUO 2
SAK 3
FSC
SAM SAM 4 —® code FD N
FQG 5 POS (4)
CLE 6
N
CAK 7
DET 8
BWG 9
FSC
FSC CMP
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

+ DINT REAL DEG DINT REAL
- / DINT REAL FRD BCD DINT
* DINT REAL LN REAL
/ DINT REAL LOG 10 REAL
= DINT REAL MOD DINT REAL
< DINT REAL NOT DINT
<= DINT REAL OR DINT
> DINT REAL RAD DINT REAL
>= DINT REAL >N REAL
<> DINT REAL SQR DINT REAL
i x vy ) [DINT REAL TAN REAL
ABS DINT REAL Tob BCD DINT
ACS REAL TRN DINT REAL
AND DINT XOR DINT
ASN REAL
ATN REAL
CcosS REAL
( )
( ) ABS(tag_a)
_a _b | etag_ b+5

etag c AND tag d

* (tag_e ** 2) MOD
(tag_f/tag_g)
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)

FSC COP CPS FLL AVE SRT STD SIZE)

1. ()

2. ABS ACS ASN ATN COS
DEG FRD LN LOG RAD SIN
SQR TAN TOD TRN

3. **

4. —( ) NOT

5. * | MOD

6. <, <=, >, >, =

7. () +

8. AND

9. XOR

10. OR
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362

ASCII
. ASCI|
<
<=
>
>=
<>
. ASCII “<A77 ($41)
““a”” ($61)
ASCII
lab $31$61%$62
A 1b $31$62
A $41
AB $41%42 — AB<B
]
$42 —
a $61 — a>B
\ ab $61%$62




( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

(COP) COP CPS Source Destination
(CPS) Source

[ COP

—— Copy File —
Source ?
Dest ? Source SINT
Length ?
INT Source  Destination
CPS DINT
Synchronous Copy File
Source ? REAL
Dest ?
Length ?
Destination | SINT Source
INT Source  Destination
DINT
REAL
Length DINT Destination
COP(Source,Dest,Length);
COP CPS

CPS(Source,Dest,Length);
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

COP CPS
. CPS . CPS
« /O . CPS
. ControlLogix
( 1756-UMO001)
COP
p |COP
= Length * (Destination )
COP CPS
length
Length
Length
Length Destination Length

364



) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

N/A

N/A

Enableln

N/A

Enableln

+ (Length =
)

= Source

-y

+1
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

1 array 4 array 5 COP array_4
10 array 5 10

COP

— Copy File

Source array_4[0]
Dezt  array_5[0]
Length 10

COP(array_4[0],array 5[0],10);

2 COP timer_1 array_timer 5

COP

— Copy File

Source tirmer_1
ezt array_timer[5]
Length 1

COP(timer_1,array_timer[5],1);
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) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

3

project_data (100 )
project_data
CPS project_data

produced_array

« CPS I/O

» produced_array ControlNet

. ( )

CPS
CPS

i Synchronous Copy File
Source project_data[0]

Dest produced_array[0]
Length 100

CPS(project_data[0],produced_array[0],100);

Local:0:l.Data 0 1756-DNB
DeviceNet CPS
input_buffer
- CPS I/0
. input_buffer
CPS

1 Synchronous Copy File
Source Local:0:l.Data[0]
Dest input_buffer[0]
Length 20

CPS(Local:0:1_Data[0], input_buffer[0],20);
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

5 MOV
array_timer .PRE .ACC COP
array_timer[0]
array_timer[0] timer[0]
—\' timer[1]
array_timer[1] timer[1]
\ timer[2]
array_timer[2] timer[2]
—\\\\* timer[3]
array_timer[3] timer[3]
\ timer[4]
array_timer[4]
2
2
2
array_timer[9] timer[9]
timer[10]
array_timer[10]
S:FS b O 0
] E Move b ove
Source 500 Source a
Dest  aray_timer0]. pre Dest  array_timer[0] acc
ks Tha
COp:
Copy File
Source  array_timer[0]
Dest array_timer[1]
Length 10

IF S:FS THEN
array_timer[0].pre := 500;
array_timer[0].acc := 0;
COP(array_timer[0],array_timer[1],10);

END_IF;
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( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

(|:|_ |_) FLL Source Source
FLL
— Fill File —
Source 7
Dzt T Source SINT
Length ?
INT Source Destination
DINT
REAL
Destination | SINT Source
INT Source  Destination
DINT
REAL COP
Length DINT
FLL SIZE FOR...DO

S1ZE(destination,0, length);

FOR position = 0 TO length-1 DO
destination[position] := source;

END_FOR;
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) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

370

= Length * (Destination )
FLL
length
Length
Length
Length Destination Length

Source  Destination

COP ( 359 3)
Source  Destination Destination

Source

Source Destination Source
SINT INT DINT SINT SINT
REAL
SINT INT DINT INT INT
REAL
SINT INT DINT DINT DINT
REAL
SINT INT DINT REAL REAL
REAL
SINT SINT( )
INT INT( )
DINT DINT( )
REAL REAL( )




( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

= + (Length *
)
-
= Source
» ¢
¢ y
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) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

372

FLL value_1 dest 1
FLL:
—— FillFile
Source walue_1
Dzt dest_1
Length 1
Source Source Destination FLL
(value_1) (value_1) (dest_1) Destination
(dest_1)
SINT 16#80 (-128) DINT 16#FFFF FF80
(-128)
DINT 16#1234 5678 SINT 16#78
SINT 16#01 REAL 1.0
REAL 2.0 INT 16#0002
SINT 16#01 TIMER 16#0101 0101
16#0101 0101
16#0101 0101
INT 16#0001 TIMER 16#0001 0001
16#0001 0001
16#0001 0001
DINT 16#0000 0001 TIMER 16#0000 0001
16#0000 0001
1640000 0001
dest 1 := value_1;



( )

(FAL

FSC COP CPS FLL AVE SRT STD SIZE)

8

(AVE)

AWE
Average File
Array
Crirn. to weary
Dest

Contral
Length
Pozition

)

L CEN——
DN
- ERT—

AVE
Array SINT
INT
DINT
CONTROL.POS
REAL
Dimension | DINT
to vary
0,1,2)
array[dim_0,dim_1,dim_2]
array[dim_0,dim_1]
array[dim_Q]
Destination | SINT
INT
DINT
REAL
Control CONTROL
Length DINT
Position DINT
AVE SIZE FOR...DO
S1ZE(array,0, length);
sum = O;
FOR position = 0 TO length-1 DO
sum := sum + array[position];
END_FOR;
destination := sum / length;
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8 ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)
CONTROL
.EN BOOL AVE
.DN BOOL (.POS = .LEN)
ER BOOL .ER
.POS
.LEN DINT
.POS DINT
AVE
_ Length Dimension to
vary Destination
POS<0 .LEN<O 4 21
Dimension to vary 4 20
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( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8
.EN
.DN
.ER
DN DN =0
DN =1
EN
ER
DN
POS
-
AVE
FAL
FAL 345

375



)

(FAL

FSC COP CPS

FLL AVE SRT STD SIZE)

376

1 array_dint DINTI[4,5]
1
0 1 2 3 4
0l20 [19 |18 |17 |16 AyF = 9+14+9+4 _ 46 _ 4 ¢
4 4
1 (15 14 13 12 11
dint_ave =12
2 (10 9 8 7 6 -
3|5 4 3 2 1
#ME
—— dwverage File BN
Array array_dint[0,1]
Ciirr. to swary 0 —CDN—
Dzt dint_ave
0® ~ER—
Cantral cantral_1
Length 1€
Pazition ne

SIZE(array_dint,0, length);

sum = 0;
FOR position = 0 TO (length-1) DO
sum = sum + array_dint[position];
END_FOR;
dint_ave := sum / length;



( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8
array_dint DINTI[4,5]
1
0 1 2 3 4
20 |19 |18 |17 |16 JVF=2+t4+3+2+1 _ 15 _ 4
5 5
15 |14 |13 |12 (11
dint_ave =3
10 |9 8 7 6
5 4 3 2 1
AE
—— Awerage File BN
Array array_dint[3,0]
Ciirr. to swary 1 —DNa—
Dzt dint_ave
0® ~ER—
Contral contral_1
Length ha
Pazition ne

SIZE(array_dint,1,length);

sum = 0;
FOR position = 0 TO (length-1) DO
sum = sum + array_dint[position];
END_FOR;
dint_ave := sum / length;
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

(S RT) SRT Array (Dim to vary)
SRET
— Sort File L EMT—
Ay ! Arra SINT
Ciirr. to swary 7 =DN— y
Contral 7
Length ? INT
Positi 7
e DINT CONTROL.POS
REAL
Dimension | DINT
to vary
0,1,2)

array[dim_0,dim_1,dim_2]

array[dim_0,dim_1]

array[dim_0]
Control CONTRO
L
Length DINT
Position DINT
0
SRT(Array,Dimtovary,
Control); SRT Length
Position CONTROL .LEN .POS

CONTROL
.EN BOOL SRT
.DN BOOL
ER BOOL LEN<O .POS<O0
.LEN DINT
.POS DINT

378



) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

SRT Array (Dim to vary)

SRT

length

- Length Dimension

to vary
POS<0 LEN<O 4 21
Dimension to vary 4 20
4 20
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

.EN .EN
.DN .DN
.ER .ER
N/A
DN DN =0
DN =1
EN
ER
DN
POS
-
N/A
Enableln N/A Enableln
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( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

1 int _array DINTI[4,5]
1 1
o 1 2 3 4 o 1 2 3 4
20 (19 |18 |17 |16 0|20 |19 |3 |17 |16
15 |14 |13 |12 |11 . 1]15 |14 |8 |12 |11
0 |9 |8 |7 |6 210 |9 |13 |7 |6
5 (4 |3 |2 |1 3|5 |4 |18 |2 |1

SRT
— Sart File BN
Array int_array[0.2]
Dirm. ba vary 0 —CDN—
Control contral_1
Length 1€
Paositian ne

control _1_LEN := 4;
control _1.POS := O;

SRT(int_array[0,2],0,control_1);
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8 ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)
int _array DINTI[4,5]
1 1
0 1 2 3 4 0 1 2 3 4
020 |19 |18 |17 |16 0|20 (19 |18 |17 |16
1115 |14 |13 |12 |11 1115 |14 |13 |12 |11
0
2110 |9 8 7 6 2|6 7 8 9 10
3|5 4 3 2 1 3|5 4 3 2 1
SRT
— Sart File ) Wy —
Array int_array[2.0]
Ciirr. to swary 1 —DNa—
Contral contral_1
Length ha
Pazition ne
control _1.LEN := 5;
control _1.POS := 0O;

382

SRT(int_array[2,0],1,control_1);




( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8
(STD) STD Array
Destination
STD
— Standard Deviation - CENT—
Ay ! Arra SINT
Drirn. bor vary 7 DN— y
Dest 7 INT
7 ERT—
Contral 7
Length ? DINT
Pasition ? CONTROL.POS
REAL
SINT INT DINT
Dimension | DINT
to vary
0,1, 2
array[dim_0,dim_1,dim_2]
array[dim_0,dim_1]
array[dim_0]
Destination | REAL
Control CONTROL
Length DINT
Position DINT
0
CONTROL
.EN BOOL STD
.DN BOOL
.ER BOOL .ER
.POS
.LEN DINT
.POS DINT
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

STD SIZE FOR...DO

SI1ZE(array,0, length);

sum = O;
FOR position = 0 TO length-1 DO
sum := sum + array[position];
END_FOR;
average := sum / length;
sum = O;
FOR position = 0 TO length-1 DO
sum := sum + ((array[position] - average)**2);
END_FOR;

destination = SQRT(sum /(length-1));

N
2
z [<X(start+ i)_’4'/5> ]
i=1

(V-1)
. start = dimension-to-vary
. X| =
. N =

384



) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

- AVE= ,
z X(start+ I
i=1
N
_ Length Dimension
to vary Destination
POS<0 LEN<O 4 21
Dimension to vary 4 20

385



8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

.EN
.DN
.ER
DN DN =0
DN =1
EN
ER
DN
POS
-
STD
FAL
FAL 345

386



( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

AVE =

STD =

16+11+6+1

4

1 dint_array DINT[4,5]

1

-34 _gc 2/10 |9 |8 |7 |6
4

Jﬂ6—85f+<11—&5f+(6—&5f+<1—85f

real_std = 6.454972

= 6.454972
(4-1)

STD
—— Standard Deviation L EMT—

Array dint_array[0.4]
Ciirr. to swary 0 —CDN—
Dzt real_sztd

o€ ERD—
Contral contral_1
Length 1€
Pazition ne

SI1ZE(dint_array,0, length);
sum = O;
FOR position = 0 TO (length-1) DO
sum := sum + dint_array[position];
END_FOR;
average := sum / length;
sum = O;
FOR position = 0 TO (length-1) DO
sum := sum + ((dint_array[position] - average)**2);
END_FOR;
real_std = SQRT(sum / (length-1));
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

2 dint_array DINTI[4,5]

AI/E:20+19+18+17+16:%):18
5 5 3|5 4 3 2 1

(20-18)°+ (19-18)" + (18 -18) + (17 - 18)* + (16 - 18)* _
(5-1)

STD = 1.581139

real_std = 1.581139

STD
—— Standard Deviation L EMT—

Array dint_array[0.0]
Drirn. bor vary 1 —DW—
Dzt real_sztd

o€ ERD—
Contral contral_1
Length ha
Pazition ne

SIZE(dint_array,1,length);
sum = 0;
FOR position = 0 TO (length-1) DO
sum = sum + dint_array[position];
END_FOR;
average := sum / length;
sum = 0;
FOR position = 0 TO (length-1) DO
sum = sum + ((dint_array[position] - average)**2);
END_FOR;
real_std := SQRT(sum / (length-1));
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( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE) 8

(SIZE) SIZE

SIZE:

— Size in Elements —

S ?
ouree 2 Source | SINT
Dim. To Vary ?
Size ? INT
??
DINT
REAL

Dimensio | DINT

n to Vary o 1 2
0
2
Size SINT
INT
DINT
REAL
S1ZE(Source,Dimtovary,Size);
€ Y.Size) SIZE
SIZE Source ( )
Size

389



8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

N/A
N/A
Enableln N/A Enableln
1 array_a o( )
array_a_size array_a 0 10

SIZE
—— Size in Elements —
Source array_a[0]
255

Dim. To Vary 0
Size array_a_size
10

SI1ZE(array_a,0O,array_a size);

2 string_1( ) DATA
string_1_size string_1  DATA
( STRING )
string_1 82

SIZE
— Size in Elements —
Source string_1.DATA[O]

'$00'

Dim. To Vary 0
Size string_1_size
82

SIZE(string_1.DATA[0],0,string_1_size);
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)

(FAL FSC COP CPS FLL AVE SRT STD SIZE)

Strings_a SIZE

DATA data_size a
DATA 24 (

24 )

SIZE
— Size in Elements —
Source strings_a[0].DATA[O]

'$00'

Dim. To Vary 0
Size data_size_a
24

SIZE(strings_a[0].DATA[0],0,data _size a);
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8 ( ) (FAL FSC COP CPS FLL AVE SRT STD SIZE)

392



C )

(BSL BSR FFL FFU LFL LFU)

( )/
BSL 394
BSR 398
FFL 402
FFU 408
LFL 414
LFU 420

( DINT
REAL)
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9 ( ) (BSL BSR FFL FFU LFL LFU)

(BSL) BSL
BSL

— Bit Shift Left - CEN—

Biray ? Array DINT

Contral 7 =DN—

Source Bit 7

Length ?

CONTROL.POS
Control CONTROL
Source bit | BOOL
Length DINT
CONTROL
.EN BOOL BSL
.DN BOOL
.UL BOOL .UL
.ER BOOL .LEN<O
.LEN DINT
UL
0
BSL
( )

394



)/ (BSL BSR FFL FFU

LFL

LFU)

9

20

.EN

.DN

.ER

.POS

.EN

.DN

.ER

.POS
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) (BSL

BSR FFL FFU LFL LFU)

396

.LEN=0

UL

source|

it

'

.DN
.POS = .LEN

.source bit =1

.source bit=0

\ uL

|

|.UL

A

-




( ) (BSL BSR FFL FFU 9
1 BSL array_dint[0]
array_dint[0].9 .UL
array_dint[0].0 (20 31)
B5L
— Bit Shift Left 2y e —
Array array_dint[0]
Contral control 1 —CDN—
Source Bit input_1
Length 10
9876543210
_[1]a[1]1]o[ofo]o[1]1]1[1]o]o[o[o]1[1[1]1]o[o0]o[o[1]1]1[1]0[0[0] ]
array_dint[0] ; :
@ input_1
.UL
9876543210
LT ITTITPITPITPTPLT T[] [ofsfa]2[2]o]o[ofo]1]
array_dint[0]
2 BSL array_dint[0] 0
array_dint[1].25 UL input_1

array_dint[0].0
array_dint[0].31

(array_dint[1] 31 26)
array_dint[1].0

BSL
—— Bit Shift Left ) Wy —
Array array_dint[0]
Contral control 1 —CDN—
Source Bit input_1
Length T

array_dint[0] ‘ 1|.1| 1| 1|o|o|o|o| 1| 1| 1| 1|o|o|o|o| 1| 1| 1| 1|o|o|o|o| 1| 1| 1| 1|o|o|o|9|

i t1
* input__

eyt [ ] | [ [ [o[o[[s[z[<[o[a[o[o[<[x[x[t[o[e[o[e[[s]<[[e[o[o]e]
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) (BSL

BSR FFL

FFU LFL LFU)

(BSR) BSR
| ,E,irtrasyhifmight , L EMT— Array DINT
Contral 7 HIDN»—
Source Bit 7
Length ?
CONTROL.POS
Control CONTROL
Source bit | BOOL
Length DINT
CONTROL
.EN BOOL BSR
.DN BOOL
UL BOOL .UL
.ER BOOL .LEN<O
.LEN DINT
.UL
BSR

398




) (BSL BSR FFL FFU LFL LFU) 9

.EN

.DN

ER

.POS

.EN

.DN

ER

.POS
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9 « ) (BSL BSR FFL FFU LFL LFU)

LEN=0 - \ .DN

.source bit=1

.source bit=0

> | <«
source| gy, | UL — P | -

3

DN
POS = .LEN %
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( ) (BSL BSR FFL FFU LFL LFU)

9

1 BSR array_dint[0] 9
array_dint[0].0 UL input_1
array_dint[0].9 (10 31)
BSR
—— Bit Shift Right ) Wy —
Array array_dint[0]
Contral control 1 —CDN—
Source Bit input_1
Length 10*e

(2] 2[2[2]oe[e]o]+]1[1]+]o[o]o]o[2[]1]1]o[o[o]o]1]1]1]1]o] o] o] o]

array_dint[0] J : \»
e e @

. .UL
input_1
9876543210
1/0|0|1f{1|1|1|/0|0]|0
ey gy AL LT LT LT L LT LT [fofofajsfajajofofol
2 BSR array_dint[1] 25
array_dint[0].0 .UL input_1
array_dint[1].25 (dint_array[1] 31...26)
array_dint[1].0 array_dint[0].31
— BitShiftHiShStn ) Wy —
Array array_dint[0]
Contral control 1 —CDN—
Source Bit input_1
Length s

31 0
array_dint[0] | 1‘ 1‘ 1‘ 1‘0‘0‘0‘0‘ 1‘ 1‘ 1‘ 1‘0‘0‘0‘0‘ 1‘ 1‘ 1‘ 1‘0‘0‘0‘0‘ 1‘ 1‘ 1‘ 1‘o‘o‘o‘o|

f _________________________________________________________ \@

UL

31 0
array_dint[1]| ‘ ‘ ‘ ‘ ‘ ‘0‘0‘1‘1‘1‘1‘0‘0‘0‘0‘1‘1‘1‘1‘0‘0‘0‘0‘1‘1‘1‘1‘o‘o‘o‘o|

input_1
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9 ( ) (BSL BSR FFL FFU LFL LFU)

FIFO  (FFL) FFL FIFO

FFL
— FIFO Laad —(Errj):'_—

Source ? =D

Contral 7

Length ? INT

Position 7
DINT
REAL
Source

FIFO SINT FIFO

INT FIFO
DINT CONTROL.POS
REAL

Control CONTROL

FFU
CONTROL
Length DINT FIFO
Position | DINT FIFO
0

Source  FIFO
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( ) (BSL BSR FFL FFU LFL LFU) 9
CONTROL
.EN BOOL FFL
.DN BOOL FIFO (.POS =.LEN) .DN FIFO
.POS < .LEN
.EM BOOL FIFO .LEN =0 POS <0 .EM
.DN
.LEN DINT FIFO
POS DINT FIFO
FFL FFU
FFL FFU
Source FIFO
FFL Source FIFO .POS
FIFO
FFL
( +.POS) > FIFO 20
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( ) (BSL

BSR FFL FFU

LFL LFU)

-

.EN

-

.LEN <O

.POS <0

o

.EM
.DN

.EM

.DN

.EM
.DN

O«*Aé«
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)

(BSL BSR FFL

FFU

LFL

LFU)

9

-—

.EN ‘

-

.LEN <O

.POS <0

<>

.EM
.DN

.EM

.DN

.EM
.DN

T
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)/ (BSL

BSR FFL FFU

LFL LFU)

.LEN<O

POS<0

Q
Q

.EM
.DN

POS = .LEN

¥

.LEN<O

.POS <0

e

.EM
.DN
.POS=.POS+1

.EM
.DN

@V
Y

| FIFO[.POS - 1] = source ‘

.EM
.DN

H

.POS=.POS -1

> | =

y
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( )

(BSL BSR FFL

LFL LFU)

9

array_dint[0]

array_dint[5]

FIFO

00000

11111

22222

33333

44444

00000

00000

00000

00000

00000

FFL value_1 FIFO
array_dint[5])
FFL
FIFO Load ) Ny —
Source walue 1 —DMNI—
FIFO anay_dint[0] [—EM—
Contral contral_1
Length 10
Pozition A
FIFO
00000
11111
22222
control_1.pos =5 33333
value_1 = 55555 44444
—_— 55555
00000
00000
00000
00000

control_1.pos = 6
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9 ( ) (BSL BSR FFL FFU LFL LFU)
FIFO (FFU) FFU FIFO 0( )
FIFO
FFL
— FIFO Urload _CEIFIq:':.:
FIFO ? =D
Dt 7 [oEMS— FIFO SINT FIFO
Contral 7
Length ? INT FIFO
Position 7
DINT CONTROL.POS
REAL
Destination | SINT FIFO
INT
DINT
REAL
Destination
Control CONTROL
FFL
CONTROL
Length DINT FIFO
Position DINT FIFO
0
FIFO
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( ) (BSL BSR FFL FFU LFL LFU) 9
CONTROL
.EU BOOL FFU .EU
.DN BOOL FIFO (.POS = .LEN)
.EM BOOL FIFO .LEN=O0 .POS <0 .EM
.DN
.LEN DINT FIFO
.POS DINT FIFO
FFU FFL
FFU FIFO
Destination FIFO
FIFO FFU O Destination
FFU
> FIFO 4 20
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( ) (BSL

BSR FFL FFU

LFL LFU)

-

.EU

-

.LEN<O

.POS <0

ot

.EM

.DN

.EM

.DN

.EM
.DN

T
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) (BSL BSR FFL FFU LFL LFU) 9
.EU
é}
@
.EM .EM
.DN .DN

.EM

.DN

0«*Aé«
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)/ (BSL

BSR FFL FFU

LFL LFU)

.LEN<O

.POS <0

-
T

.EM
.DN

POS = .LEN

.DN

.LEN<O

.POS <0

-

.EM
.DN

-

o

.POS =.POS -1

Destination = FIFO[0]

i=1

A

FIFO[i]- 1] =
=i+l

\

.EM
.DN

D
e

Destination =0
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( ) (BSL BSR FFL FFU LFL LFU) 9
FFU array_dint[0] value_2
array_dint
FFLI
——! FIFO Unload - EU

FIFD aray_dint[0] DM —

Dest walue 2 CEMI—

Contral cotrol_1

Length 10

Pozition G
FIFO FIFO

array_dint[0] 00000 — 11111
11111 22222
22222 33333
33333 44444
44444 55555
array_dint[5] 55555 00000 control_1.pos =5

00000 control_1.pos =6 00000 value_2 = 00000
00000 00000
00000 00000
00000 00000
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9 ( ) (BSL BSR FFL FFU LFL LFU)
LIFO  (LFL) LFL LIFO
LFL
— LIFO Laad _CErrqq))f
Source ? =D
LIFD 7 LCEMS_ Source SINT LIFO
Contral 7
Length ? INT
Position 7
DINT
REAL
Source
LIFO SINT LIFO
INT LIFO
DINT CONTROL.POS
REAL
Control CONTROL
LFU
CONTROL
Length DINT LIFO
Position DINT LIFO
0
LIFO
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( ) (BSL BSR FFL

FFU LFL LFU) 9

CONTROL
EN BOOL LFL
DN BOOL LFL (POS = .LEN) .DN LIFO
POS < .LEN
EM BOOL LIFO LEN=0 .POS<0 EM
.DN
LEN DINT LIFO
POS DINT LIFO
LFL LFU
LFL LFU
LIFO
LFL LIFO .POS
LIFO
LFL
( + .POS) > LIFO 4 20
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( ) (BSL

BSR FFL FFU

LFL LFU)

-

.EN

-

.LEN<O

.POS <0

ot

.EM
.DN

.EM

.DN

.EM
.DN

0«*A6«
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)

(BSL BSR FFL

FFU

LFL

LFU)

9

-—

.EN ‘

-

.LEN<O

.POS <0

<>

.EM
.DN

.EM

.DN

.EM
.DN

T
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)/ (BSL

BSR FFL FFU

LFL LFU)

.LEN<O

POS<0

Q
Q

.EM
.DN

¥
H

POS = .LEN

.POS <0

.EM
.DN
.POS=.POS+1

.EM
.DN

@+

.POS > .LEN .POS=.POS -1

y

| LIFO[.POS - 1] = source |

.EM
.DN

H

O

> | =

y

4

U

8




( )

(BSL BSR FFL

LFL LFU)

9

array_dint[0]

array_dint[5]

LIFO

00000

11111

22222

33333

44444

00000

00000

00000

00000

00000

LFL value 1 LIFO
array_dint[5])
LFL
LIFO Load - CEM
Source walue 1 —DMNI—
LIFD anay_dint[0] [—EM—
Contral contral_1
Length 10
Pozition A
LIFO
00000
11111
22222
control_1.pos =5 33333
value_1 = 55555 44444
- > 55555
00000
00000
00000
00000

control_1.pos = 6
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9 « ) (BSL BSR FFL FFU LFL LFU)

LIFO (LFU) LFU LIFO  .POS

LFU
—| LIFD Urload _CEIr-Iq))__
LIFO ? D
Dust 5 [ CEMS— LIFO SINT LIFO
Contral 7
Length ? INT LIFO
Position 7
DINT CONTROL.POS
REAL
Destination | SINT LIFO
INT
DINT
REAL
Destination
Control CONTROL
LFL
CONTROL
Length DINT LIFO
Position DINT LIFO
0
LIFO
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( ) (BSL BSR FFL FFU LFL LFU)

CONTROL
.EU BOOL LFU .EU
.DN BOOL LFL (.POS = .LEN)
.EM BOOL LIFO LEN=0 .POS<O0 .EM
.DN
.LEN DINT LIFO
.POS DINT LIFO
LFU LFL
LFU LIFO .POS

LIFO LIFO LFU O

LFU

> LIFO 4 20
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( ) (BSL

BSR FFL FFU

LFL LFU)

-

.EU

-

.LEN<O

.POS <0

ot

.EM
.DN

.EM

.DN

.EM
.DN

0«*A6«
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)

(BSL BSR FFL

FFU

LFL

LFU)

9

-—

.EU ‘

-

.LEN<O

.POS <0

<>

.EM
.DN

.EM

.DN

.EM
.DN

T
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9 ( ) (BSL

BSR FFL FFU LFL LFU)

.LEN<O

POS <0

LEN<O

POS <0

Q
Q

.EM
.DN

@
Q

.EM

.EM
.DN

H

E

.DN

POS = .LEN .DN

.POS = .LEN

Destination = LIFO[control.POS]
LIFO[control.POS) = 0

Destination = 0

-
v

-
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( ) (BSL BSR FFL FFU LFL LFU) 9
LFU array_dint[5] value 2
LFLI
LIFO Unload Iy [y —
LIFD aray_dint[0] DM —
Dest walue 2 CEMI—
Contral contral_1
Length 10
Pozition G
LIFO LIFO
array_dint[0] 00000 — 00000
11111 11111
22222 22222
33333 33333
44444 44444
array_dint[5] 55555 00000 control_1.pos =5
00000 control_1.pos =6 00000 value_2 = 55555
00000 00000
00000 00000
00000 00000
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9 « ) (BSL BSR FFL FFU LFL LFU)

426



10

(SQI SQO SQL)
SQl 428
SQO 432
SQL 436
DINT

REAL)
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10 (SQI SQO SQL)
(SQ|) SQI SQO SQI
=10
— Seqguencer Input
Array ?
b 2zk 7
Source ? DINT
Control 7
Length ? (Array)
Pozition 7
CONTROL.POS
SINT
(Mask)
INT
DINT
SINT INT DINT
SINT
(Source)
INT
DINT
SINT INT DINT
CONTRO
(Control) |L
SQO SQL
CONTROL
DINT ( )
(Length)
DINT
(Position)
0
CONTROL
.ER BOOL .LEN =0 .POS<O0 .POS > .LEN
.LEN DINT
.POS DINT
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(SQI  SQO SQL) 10

SQl
SQO  SQL CONTROL
SQl
16#
16#0FO0F
8#
8#16
21
2#00110011
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10 (SQI SQO  sQL)

.ER

Source =
Array[.POS]

430



(SQI SQO SQL) 10

SQl value_2
array_dint

=10
Sequencer lnput —
Array array_dint[0]
b azk, 1EHOFOF

Source walue_2
Contral contral_1
Length 10*
Pasition ne
SQl ( DINT)
(Source) XXXXXXXXK XXXXXXXX XXXX0101 xxxx1010

(Mask) 00000000 00000000 00001111 00001111

(Array) XOXXXXXXX XXXXXXXX XXXX0101 xxxx1010
0 ( XXXX)
SQl SQO
SQl SQO
SQI ADD GRT
MOV
Sal A0D
Sequencer lnput Add
Array array_1[0] Source & control_1.pos
bazk  TERODOOMOH ne
Source walue_1 Source B 1
Contral contral_1
Length 10* Dzt contral_1.pos
Pazition ne ne
GRT b 1%
Greater Than [&:B] b ove
Source & control_1.pos Source 1
n*

Source B control_1.len Dest control_1.poz

mn* ne
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10

(SQI SQO SsQL)

(SQO) SQO SQO/SAQl
Saa
— Sequencer Output —EM—
Array ?
b azk 7 =DN— (Array) | DINT
Deszt 7
Control 7
Length ?
Pozition 7
CONTROL.POS
SINT
(Mask)
INT
DINT
SINT INT DINT
DINT
(Destination)
CONTROL
(Control)
SQI SQL
CONTROL
DINT ( )
(Length)
DINT
(Position)
0
CONTROL
.EN BOOL SQO
.DN BOOL Destination
.ER BOOL LEN=0 .POS<O .POS > .LEN
.LEN DINT
.POS DINT
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(SQI  SQO SQL) 10

SQO

POS > .LEN
POS=1
SQI  SQL CONTROL

SQO

16#
16#0FO0F

8#
8#16

2
2#00110011

.EN

.EN

433



10 (SQI SQO  sQL)

EN=0 EN
LEN=0 EN S g ER
POS <0 DN

EN=1 ¢

POS=1

.POS=.POS +1

:

o

.POS > .LEN

y

ER Destination = (Destination AND (NOT(Mask))
— : - (Array[control.POS] AND Mask)

.

>
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(SQI SQO sQL) 10
SQO array_dint
value_1
500
—— Sequencer Dutput L EMT—
Array array_dint[0]
Mask 1EHOFOF | DN—
Dzt walue_1
Contral contral_1
Length 10*
Pazition ne
SQO ( INT)
(Array) XXXXXXXX  XXXXXXXX XXxX0101 xxxx1010
(Mask) 00000000 00000000 00001111 00001111
(Destination) | XXXXXXXX XXXXXXXX XXxXxX0101 xxxx1010

0 ( XXXX)
SOl SQO
SQl SQO
Control Length  Position
Sal SQ0
Sequencer lnput Sequencer Jutput BN
Array array_dint[0] Array array_dint[0]
b azk, 1EHOFOF b azk, 1E#OFOF < DMN—
Source walue_2 Dzt walue_1
Contral contral_1 Contral contral_1
Length 10* Length 10*
Pazition ne Pazition ne
SQO Position
SQO (
).POS POS (.POS = 0) RES
.POS
S:FS cantrol 1
1 E RES
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10 (SQI SQO SQL)
(SQL) QL
SOL
— Sequencer Load BN
Array ? DINT
Euurce 7 DN— (Array)
ontrol 7
Length ?
= A
Posiion ' CONTROL.POS
SINT
(Source)
INT
DINT
SINT INT DINT
CONTRO
(Control) |L
SQl SQO
CONTROL
DINT ( )
(Length)
DINT
(Position)
0
CONTROL
.EN BOOL SQL
.DN BOOL
ER BOOL .LEN=0 .POS<0 .POS>.LEN
.LEN DINT
.POS DINT
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(SQI

SQO  SQL) 10

SQL
DN POS = .LEN

SQI  SQO CONTROL

.POS=1

SQL

length

Length > 4 20

.EN

.EN

437



10 (SQI SQO  sQL)

-

.LEN=O0
.POS <0

N

3

.POS

=.POS+1

.POS > .LEN

-

-

Array[control.POS] = Source‘

.

>
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(SQI  SQO SQL) 10

SQL value_3
array_dint[5]
SOL
—— Sequencer Load BN
Array array_dint[0]
Source walue 3 DMNI—
Contral contral_1
Length 10
Pozition A
array_dint[0] 00000 00000
11111 11111
22222 22222
33333 control_1.pos=5 33333
44444 value_3 = 55555 44444
array_dint[5] 00000 _— > 55555
00000 00000 control_1.pos =6
00000 00000
00000 00000
00000 00000
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10 (SQI SQO  sQL)

440



11

(JMP LBL JSR RET SBR JXR TND MCR
UD UIE AFI NOP EOT SFP SFR EVENT)

JMP 442
LBL
JSR 436
SBR
RET

(  SoftLogix5800 JIXR 455
TND 458
MCR 460
uiD 462
UIE 462
AFI 464
NOP 465
EOT 466
SFP 468
SFR 470
EVENT 472

441



11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

(J MP) JMP  LBL
(LBL)
Y
— CIMP
) JMP
LBL — LBL
(Label name)
LBL
(Label name) LBL
JMP LBL
JMP
JMP

LBL JMP LBL
. 40
. O
4 42

442



(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11

LBL

JMP
label 20 LBL

label 20
E—— T

label 20
LBL ——
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

(JSR) JSR SBR RET
(SBR)  (RET) ISR

JSR

J5R
— Jump to Subroutine —
Routing name ? ROUTINE ( )

|mput par .
Rieturm par 5 (Routine name)

=

BOOL
(Input parameter)
SINT
INT

DINT

REAL

BOOL
(Return parameter)
SINT
INT

DINT

REAL

444



(UMP LBL JSR RET SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR EVENT)

11

JSR(RoutineName, InputCount,

JSR (

InputPar ,ReturnPar);

HooasR [

Jump to Subroutine

Foutine: T

ROUTINE
(Routine
name)
SINT
(Input
count) INT
DINT
REAL
BOOL
(Input
parameter) | SINT
INT
DINT
REAL
BOOL
(Return
parameter) | SINT
INT
DINT
REAL
=] [=]
¥ o= [

Jump to Subroutine

Routine:

T

JSR
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

JSR (

yAN )

SBR SBR

SER

— Subroutine —
|mput par ?
BOOL
(Input JSR
parameter) | SINT
INT
DINT
REAL
SBR(InputPar);
SBR
B *oosER ]
Subroutine r,|
»*oser ]
Subroutine
SBR
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(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

11

fa

RET

—{ Retumn

Returm

RET

par

RET(ReturnPar) ;

RET

Return

=]

BOOL
(Return JSR
parameter) | SINT
INT
DINT
REAL
RET
= |
RET [
Return
RET
JSR ( )
. JSR

——

. JSR
. JSR

31

RET
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11 (MP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)
SBR
1. JSR
SBR
JSR JSR 2. SBR
1.
3. JSR
2.
42974
3.
RET
RET
JSR
JSR
RET
(
RET )
1 2 3
cions SO RO
JSR
action_2 action_3
ISR
RET RET RET

448




(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11

JSR SBR 4 31
JSR 4 0
RET JSR 4 31
RET 4 31
RET (  RET )
. 6.X
. 7.X
( )
( )
N/A
JSR
N/A
Enableln N/A Enableln
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11

(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFl

NOP EOT SFP SFR EVENT)

JSR

SBR

JSR

RET
JSR

JSR
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(JMP LBL JSR RET

SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR

EVENT)

11

SBR

IREF

OREF

RET

SBR

RET

JSR

SFC
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11

(JMP LBL JSR

RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

JSR value_1 value 2 routine_1

SBR JSR value_1 value_2
value_a value b

RET float_a JSR JSR float_a
float_value_1 JSR
JSR

— Jump to Subroutine

Routing name  routing_1
|mput par walue_1
|mput par walue_2
Return par  float_walue_1

SER
Subroutine —
Input par - walue_a
Input par - walue_b

[ ]

RET
— FRetumn
Return par float_a

JSR(routine_1,2,value_1,value_2,float_value_1);

SBR(value_a,value_b);
<statements>;

RET(float_a);
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(IMP

LBL JSR RET SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR EVENT)

11

2
abc subroutine_1 cookie cookies_1
abc: JSH
1 E Jump to Subroutine
Routing name  subroutine_1
Return par cookies_1
cookies 1 cookies 2 total_cookies
A00
Add
Source & cookies_2
G
Source B cookies_1
0+
Dest  total_cookies
0%
Subroutine_1
def RET value_1 JSR cookies_1
def RET
= Returm
Return par  walue_1
def ( ) ghi RET value_2 JSR cookies_1
_cljhi RET
1 E Return
Return par  walug_2
def ghi ( RET value_3 JSR cookies_1
RET
Return
Return par  walue_3
3
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(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFl

NOP EOT SFP SFR EVENT)

11
Routine_A JSR
J5SR EI
Jump to Subroutine
Fautine: Add_Three_Inputs
Add_Input_1 Add_Three_Result
Add_Input_z \
Add_Input_3
42972
1.Add_Input_1 3.Sum A B C
Add_Input_2 Add_Three_Result
Add_Input_3

Input_A Input_B

Input_C

\/

Add_Three_lInputs

454

ADD_0O2 ADD_ 02
SER = ADD = ADD =
Subroutine Add Add
Input_A — Sourced Dest [— Sources Dest
Input_B [— SourceB SourceB
Input_C :|—| |
2.ADD Input_A Input_B Input_C

RET

Return

O——] Sum_&_B_C

Sum_ A B C

42973



(UMP LBL JSR RET SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR EVENT)

11

(JXR) xR SoftLogix5800
¥R
—— Jump To External Routine —<F W o——
Extermal routine name T —DN—
External rautine cortral T =ER—
Parameter ?
Fieturn Par ?
ROUTINE
(External
routine
name)
EXT_ROUTI
(External NE_CONTR
routine oL
control)
BOOL
(Parameter)
SINT .
INT '
. 10
DINT
REAL
BOOL
(Return
parameter) SINT .
INT '
DINT
REAL
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11

(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFl

NOP EOT SFP SFR EVENT)

EXT_ROUTINE_CONTROL

ErrorCode SINT
0-255
NumParams SINT -
ParameterDefs | EXT_ROUTINE_ -
PARAMETERS[10] 10
ReturnParamDef | EXT_ROUTIN_ -
PARAMETERS
EN BOOL IXR
ReturnsValue | BOOL R
DN BOOL
ER BOOL
FirstScan BOOL
FirstScan
EnableOut BOOL
Enableln BOOL
Userl BOOL
User0 BOOL
ScanTypel BOOL
ScanTypeO BOOL

00

01

10
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(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11

L > (JXR)
JXR
JIXR e ”” (JSR) JXR
. JXR
2 DLL 4 88
2 DLL
2DLL
JXR DLL DLL
JXR
SoftLogix5800 ( 1789-UM002)

457


http://literature.rockwellautomation.com/idc/groups/literature/documents/um/1789-um002_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/um/1789-um002_-en-p.pdf

11

(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR

EVENT)

(TND)

—CTND -

TNDQ);

TND

0
TND
TND TND
TND
TND
N/A
N/A
Enableln N/A Enableln

458



(JMP  LBL JSR

RET SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR EVENT)

11

TND
TND

TND

—THD

TNDQ);
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

(MCR) MCR MCR

—CMCRY—
MCR MCR
MCR
MCR

MCR

. MCR

. MCR MCR
. MCR

. MCR MCR

MCR
I/0

MCR

MCR MCR
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(UMP LBL JSR RET SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR EVENT) 11

MCR (input_ 1 input 2 input 3 )
MCR ( MCR )
MCR (input_1 input_ 2 input_3
MCR ( MCR )
MCR
input_ 1 input_2  input_3
S L LY MCR—]
in%uttd Du,tﬁ'uxt, 1
inp_lut_r'l'l inp_lut_r'IE Du,tﬁ'uxt, 2
L L
inpLt_3
4/
|n|g|ut]_E| |n|:u_|ut_r'|EI Du,tﬁ'uxt, 3
L L
CR ™ —
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11

(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFl

NOP EOT SFP SFR EVENT)

—UD> —CUIE>—

462

(UID)
(VIE)

uIbQ;
UIEQ:

uiD

« UID

« UIE

UIE

UIE

UID/UIE

0

uibD



(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11

N/A

N/A

Enableln N/A Enableln

uiD
UIE
(error_bit ) FSC
FSC (error_check.FD )
uiD UIE
UlD >—
error_bit FSC
q E File Search/Compare —CEND>—

Control error_check —(DN>—

Length 10 —CER>—

Position 8

Mode ALL

Expression error_code=error_list[error_check.POS]

error_check.FD alarm
T C
JC
UIE D>—
UibQ;
<statements>
UIEQ;

463



11

(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFl

NOP EOT SFP SFR EVENT)

(AFI)

L aF

AFI

AFI

464

AFI

AFI

}_[m —



(JMP  LBL JSR

RET SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR EVENT)

11

(NOP) NOP
- HOP -
NOP NOP
NOP
NOP
NOP XIC

[irmit_zwibch_1 light_1

1 F s

L [HOF
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFl NOP EOT SFP SFR EVENT)
(EOT) EOT SFC
7
—EOT>—
BOOL
(Data bit) (0= 1= )
EOT(data_bit);
EOT
EOT SFC EOT
EOT
TND ( 458 )
EOT Logix PLC-5 PLC-5
EOT PLC-5 EOT
Logix
Logix
N/A
N/A
Enableln N/A Enableln
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(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11

limit_switchl interlock 1 timer_1
EOT state
lirit_zwitchl  interlock_1 ztate
1 E J1E L
J L L
timer_1.0M hate
] F CEO0T—
state = limit_switchl AND interlock 1;

IF timer_1.DN THEN
EOT(state);

END_IF;
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFl

NOP EOT SFP SFR EVENT)

SFC  (SFP)

SFP
— 5SFC Pausze

SFC Routine Mame
Target State

SFP(SFCRoutineName,

TargetState);

468

SFP SFC
SFC ROUTINE SFC
(SFCRoutine Name)
DINT
(TargetState)
( 0)
( 1)
SFP
SFP SFC
SFP
SFR ( ) SFC
SFP SFC
SFC 85




(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11
N/A
N/A
Enableln N/A Enableln
SFC
sfc_en_p normal SFC sfc_en_e
SFC
SFC
‘ zfp_en_p SFP
1 E SFC Pause
SFC Routine Mame normnal
Target State Fauzed
SFC
sfp_er_e SF
1 F SFC Pause
SFC Routine Mame normal
Target State Executing
SFC IF (sfp_en_p) THEN

SFP(normal, paused);
sfp en p := 0;

END_IF;
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

SFC IF (sfp_en_e) THEN
SFP(normal ,executing);

sfp_en_e := 0;

END_IF;
SFC  (SFR) SFR SFC
.
SFC ROUTINE SFC

(SFCRoutine Name)
(Step Name) | SFC_STEP

SFR(SFCRoutineName,StepName) ;

SFR
SFR
. SFC ( )

+ SFC

0

SFR Logix PLC-5 PLC-5
SFR SFC
SFR
PLC-5 SFR /
SFP
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(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11

SFC 4 85
SFC 4 89
N/A
N/A
Enableln N/A Enableln
SFC SFC
(shutdown ) initialize
SFC
zhutdown SFR
1 E SFC Reset
SFC Routing Mame  mySFC
Step Mame initialize:

IF shutdown THEN
SFR(mySFC, initialize);

END_IF;
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

(EVENT)  EVENT

EVENT
— Trgger Event Task |-
Tazk ?
TASK
(Task)
EVENT (task_name);
EVENT
EVENT
. EVENT
EVENT
EVENT (GSV)
“ 7 (Status)
TASK
(Status) | DINT GSV
SSv
EVENT 0
( )
( ) 1
2
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(JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT) 11

“ 7 (Status)

. (SSV)

N/A

N/A

Enableln N/A Enableln

473



11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)

1
Shut_Down_Line
Shut_Down_Line = ( )
Shut_Down
A
| Shut_Daown_Line  Shut_Down_Line_One_Shat EVEMNT
1 F [ONS ] Trigger Event Tazk
‘ Tazk Shut_Down
B
| Shut_Daown_Line  Shut_Down_Line_One_Shat EVEMNT
i E e Trigger Event Task
‘ Task Shut_Down
A

IF Shut Down_Line AND NOT Shut Down_Line_One_Shot THEN
EVENT (Shut_Down);

END_IF;

Shut_Down_Line_One_Shot := Shut_Down_Line

B

IF Shut Down_Line AND NOT Shut Down_Line_One_Shot THEN
EVENT (Shut_Down);

END_IF;

Shut_Down_Line_One_Shot := Shut_Down_Line
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(UMP LBL JSR RET SBR JXR TND MCR UID UIE AFI

NOP EOT SFP SFR EVENT) 11

2 EVENT (
)
Initialize_Task 1=1
ONS EVENT
EVENT Task_1(
| Initialize_Tazk_1  Storage.0 EVEMT
1 F [OMS ] Trigger Ewent Tazk
‘ Task  Task_i
Task_1( )
GSV Task_Status(DINT )= “ 77 (Status) “ 7z
(Instance Name) THIS TASK ( Task_ 1)
5
Get System Value
Clazs Mame TASK
Ingtance Mame THIS
Attribute Mame Status
Dest Tazk_Status
0+
Task_Status.0 =1 EVENT ( EVENT
)
RES
Tazk_Status. Counter_1
| 1 F THES™ |
“c ”” (Status)
Task_Status.0 =1
OTU Task Status.0=0
SSsV THIS (Task 1) “* 7” (Status) = Task_Status
Tazk_Status0 Tazk_Statusz.0 SO
1 F {10 Set System Yalue
Clazs Mame TASK,
Inztance Mame THIS
Attribute Mame Status
Source Tazk_Status
0+
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11 (JMP LBL JSR RET SBR JXR TND MCR UID UIE AFI NOP EOT SFP SFR EVENT)
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12

/

(FOR FOR...DO

BRK EXIT RET)

FOR BRK
FOR 478
FOR...DO®W
BRK 481
EXITD
FOR RET 482

€]

477



12 /

(FOR FOR..DO BRK EXIT RET)

(FOR)

FOR

FOR

— Fuar -
Routine name ?
e 73 ROUTINE
Initial walue 7 (Routine name)
i ?
Lo ol : (Index) DINT
SINT
(Initial value)
INT
DINT
SINT
(Terminal value)
INT
DINT
(Step size) SINT FOR
INT
DINT
FOR count:= initial_value TO
final_value BY increment DO FOR...DO
<statement>; 7
END_FOR;
(

478

I FOR

. FOR
y FOR

4 31)




/ (FOR FOR..DO BRK EXIT RET)

12

FOR

FOR

RET

31

FOR
FOR
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12

(FOR FOR..DO BRK EXIT RET)

v

=+ )

ﬁ
— o

O

'
-

480

FOR
BRK

routine_2 value_2
FOR

FOR
For
Routing name
|ridex

[ritial walue
Terminal walue
Step zize

routing_2
walue_2
e

1]

10

1

1 value_2
routine_2



/ (FOR FOR..DO BRK EXIT RET)

12

(BRK) BRK FOR
—CBRK—
EXIT;
EXIT
B
BRK FOR
FOR BRK FOR
FOR
BRK FOR

—CBHK)—{
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12 / (FOR FOR..DO BRK EXIT RET)
(RET) RET FOR
RET
—{ Retumn —
Return par ?
( 4 31)
RET FOR FOR
FOR
FOR
FOR FOR RET
TND
RET 31
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/ (FOR FOR..DO BRK EXIT RET) 12

FOR routine_2 value 2 1 value 2>10
BRK FOR routine_2
RET FOR FOR
FOR
FOR
FOR RET
For _ _ 4———  — Retumn
Routing name  routine_2
Indesx walue_2
e
Iritial walue 1
Terminal value 10
Step zize 1
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12 / (FOR FOR..DO BRK EXIT RET)
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13

(FBC

DDT DTR PID)

FBC 486
DDT 494
DTR 502
PID PID 505

485



13 (FBC DDT DTR PID)

(FBC) FBC
FBC
— File Bit Comparizgon o EWN——
Source 7 DN —
iy 7 (Source) | DINT
?
st ; CONTROL.POS
Prasgition ?
ﬁesulLControl 3 DINT
en_g_t ?
Foston : (Reference) CONTROL.POS
DINT
(Result CONTROL.POS
CONTROL
(Cmp
control)
DINT
(Length)
DINT
Position
(Position) 0
CONTROL
(Result
control)
DINT
(Length)
DINT
(Position) 0

A /
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(FBC DDT

DTR PID)

13

COMPARE
.EN BOOL FBC
.DN BOOL FBC Source  Reference
FD BOOL FBC ( )
)
IN BOOL FBC
0= <= -
1 = £ >
.ER BOOL compare.POS <0 compare.LEN <0 resultPOS<0 result.LEN<O
.ER
.LEN DINT
.POS DINT
RESULT
.DN BOOL
.LEN DINT
.POS DINT
FBC

FBC

length

DDT FBC DDT
FBC
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13

(FBC DDT DTR PID)

488

CONTROL AN
FBC
.FD
CONTROL .IN
FSC
Result.POS > 4 20




(FBC DDT DTR PID) 13

v

compare.EN
compare.FD

'

compare.DN =0

compare.DN

compare.DN =1

compare.DN
compare.POS
result.DN
result.POS

-
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13 (FBC DDT DTR PID)

v

compare.EN
compare.FD

v

compare.DN =0

compare.DN

compare.DN =1

compare.DN
compare.POS
result.DN
result.POS

-
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(FBC DDT DTR PID) 13

compare.EN

compare.EN =1
o

compare.EN =0
Q

compare.DN =0
compare.LEN =0

compare.DN =1
compare.EN —

compare.ER
compare.FD

_>

compare.POS <0 ﬁ

‘ compare.ER

¢
A O O
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13 (FBC

DDT DTR PID)

compare.POS =
compare.LEN

Source[compare.POS] =

compare.POS =
compare.POS +1

compare.DN

compare.FD

compare.POS = compare.LEN > Q
491

result.DN = 1

result.DN =0
-

result. DN
result.POS

result.POS <0

y

compare.ER

e~

resulfresult. POS] = compare.POS
result POS =resuft POS + 1

v

result.POS >
result.LEN

result.DN

Y

491

492




(FBC DDT DTR PID) 13

FBC array_dintl array_dint2
array_dint3
FBLC
—— File Bit Comparizon - EM
Source aray_dint1[0] —DMN3—
Reference aray_dint2[0] | FD o —
Result aray_dint3[0] M —
Crp. Contral control 1 —CER—
Length 10*
Pazition ne
Rezult Contral contral_3
Length 10*
Pazition ne

[o]e[o[o]e[o]o]o[o]0]ofo]0] o[ o] o o] o] o] o] ] o] o] o] o] 0] o[ o] ] o] o]

'y

[o]e[o[o]e[o[0]o[o]0] o[ o] o] o[ o] o o] o] o] o] o] o] o[ o] ] o[ 1 ] o] o]

N2

HNEENENNERENENNEENENENENNEEEEEEE

array_dintl

array_dint2

array_dint3
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13 (FBC DDT DTR PID)

(DDT) DDT
ooT
— Diagnostic Detect Er
S 3 e S DINT
=gt (Souree)
Crp. Contral 7 ERD— CONTROL.POS
Length il
Posili 7
ﬁiiua%ontrol 3 Ref DINT
li !
Posiion 3 (Reference) CONTROL.POS
DINT
Result
( ) CONTROL.POS
CONTROL
(Cmp
control)
DINT
(Length)
DINT
(Position) 0
CONTROL
(Result
control)
DINT
(Length)
DINT
(Position) 0

A /

494



(FBC DDT

DTR PID)

13

COMPARE
.EN BOOL DDT
.DN BOOL DDT Source  Reference
FD BOOL DDT ( )
)
AN BOOL DDT
0= <= s
1 = (X3 >
.ER BOOL compare.POS <0 compare.LEN <0 resultPOS<0 result.LEN<O
.ER
.LEN DINT
.POS DINT
RESULT
.DN BOOL
.LEN DINT
.POS DINT
DDT

DDT

length

DDT FBC DDT
FBC
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13

(FBC DDT DTR PID)

496

CONTROL AN
DDT
.FD
CONTROL .IN
DDT
Result.POS > 4 20




(FBC DDT DTR PID) 13

v

compare.EN
compare.FD

'

compare.DN =0

compare.DN

compare.DN =1

compare.DN
compare.POS
result.DN
result.POS

-
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13 (FBC DDT DTR PID)

v

compare.EN
compare.FD

'

compare.DN =0

compare.DN

compare.DN =1

compare.DN
compare.POS
result.DN
result.POS

-
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(FBC DDT DTR PID) 13

compare.EN

compare.EN =1
o

compare.EN =0
compare.DN =1
compare.DN

compare.DN =0

compare.EN —

compare.ER

compare.FD »

compare.LEN =0

compare.POS <0 ﬁ

‘ compare.ER

¢
A o O
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13 (FBC DDT DTR PID)

compare.POS =
compare.LEN

compare.POS = compare.LEN
compare.DN

compare.FD
reference[compare.POS]

= source[compare.POS] >

compare.POS =
compare.POS + 1

result.DN =1

result.DN =0

result.DN
result.POS

-

result.POS <0

y

compare.ER

e

resultfresult. POS] = compare.POS
result.POS = result.POS + 1

Y

result.POS =
result.LEN

result.DN

Y

491
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(FBC DDT DTR PID) 13

DDT array_dintl array_dint2
array_dint3
array_dint2 array_dintl

DoT
— Diagniostic Detect L EM—
Source anay_dint1[0] —DN3—
Reference aray_dint2[0] | FD o —

Result aray_dint3[0] M —
Crp. Contral control 1 —CER—
Length 10*
Pazition ne
Rezult Contral contral_3
Length 10*
Pazition ne

‘00000000000000000000000000000000‘

array_dintl ¢ ¢

¢ [So[o[[efefe[o[o[e[efelo[e[o[eTefe[o[o[o[e[efe[o[o[: o] To[o[

array_dint2 \\\&

AR EENNEENEUENEEEEEEENEEEEEEE

¢ [ofo]ofo[o]o]o]o]o]o]o]o]o]o]o]o]o] o[ o]0]0] o] o] o] 0] o] o] o] o] o] o] o]

array_dint2
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13

(FBC DDT DTR PID)

502

DTR

[rata Tranzition

Source ?
T

b azk, ?
T

Reference ?
T

DTR

(Source) | DINT

DINT
(Mask)
DINT
(Reference)
DTR DTR
“1’, “O’,




(FBC DDT DTR PID) 13

16#
16#0FOF
8#
8#16
2#
2#00110011

Reference = Source AND Mask

Reference = Source AND Mask

source
= reference
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13

(FBC DDT

DTR PID)

504

DTR
LTH
[rata Tranzition
Source walue_1
e
b azk, azk_1
e
Reference  walug_2
e
8 3 value 1
= OFFF
1)11)1(1f1)12)1
v v
8 3 value 2
8 3

13385



(FBC DDT DTR PID) 13

(PID) PID
PO
—1 Proportional Integral Dereative —
8] ?
Process Yariable ?
Tieback ?
Control ¥ ariable ?
PID b aster Loop i
Inhild Bit ?
Inhiold ¥ alue: ?
Setpaint "
Process Yariable 7
Output & "7
PID PID PID
SINT
(Process variable) INT
DINT
REAL
SINT () /
(Tieback) INT 0
DINT
REAL
SINT ( )
(Control variable) )
INT Control variable REAL
DINT 0
REAL
PID PID ( ) PID PID
(PID master loop)
PID PID
0
BOOL (  )1756
(Inhold bit)
0
SINT (  )1756
(Inhold value) INT 0
DINT
REAL
(Setpoint)
(Process variable)
(Output %)
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13 (FBC DDT DTR PID)

PID(PID,ProcessVariable,

Tieback,ControlVariable, PID Setpoint
PIDMasterLoop, InholdBit, Process Variable  Output % PID .SP .PV
InHoldvalue); .OUT
PID

.CTL DINT .CTL 32 ( ) PID 07 15

31 .EN

30 .CT

29 .CL

28 PVT

27 .DOE

26 SWM

25 .CA

24 .MO

23 .PE

22 .NDF

21 .NOBC

20 .NOZC

PID

15 .INI

14 .SPOR

13 .OLL

12 .OLH

11 .EWD

10 .DVNA

09 .DVPA

08 .PVLA

07 .PVHA
.SP REAL
.KP REAL ( )

( )
Kl REAL x )
« / )
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(FBC DDT DTR PID)

13

.KD REAL (
(

.BIAS REAL

.MAXS REAL

.MINS REAL

.DB REAL

.SO REAL

.MAXO REAL )

.MINO REAL )

.UPD REAL

PV REAL PV

.ERR REAL

.OUT REAL

.PVH REAL

.PVL REAL

.DVP REAL

.DVN REAL

.PVDB REAL

.DVDB REAL

.MAXI REAL PV ( )

.MINI REAL PV ( )

.TIE REAL

.MAXCV REAL Ccv ( 100%)

.MINCV REAL Ccv ( 0%)

.MINTIE REAL ( 100%)

.MAXTIE REAL ( 0%)
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13

(FBC DDT DTR PID)

DATA REAL[17] |.DATA
.DATA[0]
.DATA[1]
.DATA[2] PV
.DATA[3] ERR
.DATA[4] Sp
DATA[5]
.DATA[6] PV
DATA[7]
.DATA[8] KP
.DATA[9] Kl
.DATA[10] KD
.DATA[11] KP
.DATA[12] Kl
.DATA[13] KD
.DATA[14] CcV
.DATA[15] CcV
.DATA[16]
.EN BOOL
CT BOOL ©= 1 )
.CL BOOL ©= 1= )
PVT BOOL (0= 1= )
.DOE BOOL O=Pv 1= )
.SWM BOOL (0= ] 1= [ D
.CA BOOL (@ E=SP-PV 1 E=PV-SP)
.MO BOOL (0= = )
-PE BOOL PID (0= = )
.NDF BOOL
(0= 1=
.NOBC BOOL
(0= 1=
.NOZC BOOL
(0= 1= )
NI BOOL PID (0= 1= )
.SPOR BOOL (0= 1= )
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(FBC DDT DTR PID) 13

.OLL BOOL CcvV (0= 1= )
.OLH BOOL cVv (0= 1= )
.EWD BOOL (0= 1= )
.DVNA BOOL (0= 1= )
.DVPA BOOL (0= 1= )
.PVLA BOOL PV (0= 1= )
.PVHA BOOL PV (0= 1= )

PID (PV)

(CV)
.EN .EN
.EN PID .DN
PID

.EN

| PID |

I !
UPD =0 4 35
4 36
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13 (FBC DDT DTR PID)

N/A
N/A
Enableln N/A Enableln
PID PID
PID PID PID PID
FID
— Proportional Integral Dervatpee \—
FID ] - PID
Process Warable
Tieback ?
Contral Y ariable ?
FID baster Loop ?
Inkald Bit T
[rhold W alue ?
Setpoint K
Process Warable K
Output & K
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(FBC DDT DTR PID) 13

“ ”” (Tuning) “ 77 (OK)
““ 77 (Apply)
(SP) (Setpoint (SP)) (.SP)
(Set output %)
(Output bias) (.BIAS)
(Kp) (Proportional gain (Kp)) (.KP)
( )
( )
(Ki) (Integral gain (K;)) (.KI
a )
¢ / )
(Kd) (Derivative time (Kg)) (.KD)
¢ )
¢ )
(.MO) (.SWM)
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13 (FBC DDT DTR PID)

”” (Configuration)

€ 77 (OK) == 7

(Apply)
PID (PID equation) (.PE)
P | D)
P 1 D)
(Control action) E=PV-SP  E=SP-PV (.CA)
(Derivative of) PV (.DOE)
PV
(Loop update time) (.UPD)
cvVv (CV high limit) (.MAXO) (1)
cv (CV low limit) (.MINO) (1)
(Deadband value) (.DB)
(No derivative (.NDF)
smoothing)
(No bias calculation) (.NOBC)
(No zero crossing in (.NOZC)
deadband)
PV (PV tracking) (.PVT)
(Cascade loop) (.CL)
(Cascade type) (.CT)
@ PID MAXO = MINO PID
MAXO = 100.0 MINO =0.0
cc >> (Alarm) cc 2 (OK) == >> (Apply)
PV (PV high) PV (.PVH)
PV (PV low) PV (.PVL)
PV (PV deadband) PV (.PVDB)
(Positive deviation) (.DVP)
(Negative deviation) (.DVN)
(Deviation deadband) (.DVDB)
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(FBC DDT DTR PID) 13

”” (Scaling)

(Apply)

£ 77 (OK)  =* 7

PV
(PV unscaled maximum)

PV ((MAXI)

PV

PV
(PV unscaled minimum)

PV (MINI)

PV

PV
(PV engineering units
maximum)

.MAXI

(MAXS)®D)

PV
(PV engineering units minimum)

.MINI

(MINS)®D

CcVv
(CV maximum)

100% Ccv

(.MAXCV)

Ccv
(CV minimum)

0% Cv

(.MINCV)

(Tieback maximum)

(MAXTIE)

(Tieback minimum)

(MINTIE)

PID
(PID Initialized)

(INI)

@ PID

PID PID

MAXO =MINO PID

MAXO =100.0 MINO=0.0

» | PID

O

14271

PID
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13

(FBC DDT DTR PID)

514

PID PID
(E)
(ISA ) ¢
ov= K E+ L[ Edr 1,2+ B1As
a="r; dat
0
(PV)
E=SP-PV
t
1 apy
V= k| E+ =[Eat-T 2|+ B14S
C[ 7,_[ a dt]
0
E=PV-SP
t
1 apv
CV = K| E+=[Edt+ T2 |+ BIAS
C[ TIJ a a’t]
0
(E)
t
CV = Kb+ K Edt+ /(d%:+ BIAS
0
(PV)
E=SP-PV
t
CV = K+ Ky Edt-/(d%/ +BIAS
0
E=PV-SP
t
CV = Kpf+ K;[ Edt+ Kd% + BIAS
0




(FBC DDT DTR PID)

13

Kp ( )
Kp = Ke( )
Ki (b
Ki( ) Ti( )
K, = e
77 607;
Kg ()
Ka( ) Tl )
Kg = K¢ (Tg) 60
Ke ( )
Ti ( 1/ )
Ty ()
SP
PV
E [(SP-PV)  (PV-SP)]
BIAS
cv
dt
PID
Ka Tg
PID Ccv .MAXO .MINO
Ccv
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13 (FBC DDT DTR PID)

PID
(.SWM)
(.SO)
(.MO)
MINTIE  .MAXTIE PID 0-100%
/
PID
PID Ccv
(.SO)
CVv
( Kij=0) PID
.BIAS
Ccv .BIAS
PID .NOBC
.BIAS .NOBC
PID
PID
PID
( )
( ) 250 ms

10 ms
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(FBC DDT DTR PID) 13

PID
(PV)

PID PID
(.UPD)
PID

FID

Proportional Integral Derivative

FID TICion ¢
Process wariable  Local:0:l.ChOData
Tieback Local:0:1.Ch1Data
Contral wariable Local:1:0.Chd4Data

FID Master Loop ]
[rhold bit Local:1:1.ChdlnHold
[rhold W alue Local:1:1.ChaData
Setpoirt no €
Process Yariable no €
Dutput 2 no €

PID(TIC101,Local:0:1.ChOData,Local:0:1.ChlData,
Local:1:0.Ch4Data,0,Local:1:1.Ch4InHold,
Local:1:1.Ch4Data);

PID
PID 250 ms 250 ms
(.UPD = .25) 25 ms
50 ms

PID ( )
PID
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13 (FBC DDT DTR PID)
FID_timer.dn TOM
=/ E Timer On Drelay - EM
Tirmner FID timer L DM—
Prezet 1000
Accum ne
FID_timer.OM FIC FID_timer
T E Proportional Integral Dervative - CREST—
FID TiIcio ¢
Process variable  Local:0:l.ChOData
Tieback Local:0:1.Ch1Data
Contral wariable Local:1:0.ChOData
FID baster Loop ]
|rhold bit Local:1:1.ChllnHold
|rhold W alue Local:1:1.ChaD ata
Setpoint no €
Process Yariable no €
Dutput 2 no €

518

PID_timer.pre := 1000

TONR(PID_timer);

IF PID_timer.DN THEN
PID(TIC101,Local:0:1.ChOData,Local:0:1.ChlData,
Local:1:0.ChOData,0,Local:1:1.ChOlnHold,
Local:1:1.ChOData);

END_IF;

PID

PID

PID 1756
(RTS)

RollingTimestamp )



(FBC DDT DTR PID) 13

PID

RTS

PID

Mat Equal

Source B

Source & Local:0:].RolingTimestamp

32,767 ms

PID

FELD
0%
PresiousTimestamp
0%

Local:0:1. ChiF ault
J1LC

TICT01. 5%/
o

J

100 ms
PID

RTS
250 ms PID
250
PV
PID
FID
Proportional Integral Derivative
FID TICion ¢
Process wariable  Local:0:l.ChOData
Tieback Local:0:1.Ch1Data
Contral wariable Local:1:0.ChiOData
FID Master Loop ]
[rhold bit Local:1:1.ChllnHold
[rhold W alue Local:1:1.ChaD ata
Setpoirt no €
Process Yariable no €
Dutput 2 no €
kA 014
b ove
Source Local:0:l.RolingTimestamp
0%
Dzt PresiousTimestamp
0%
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13 (FBC DDT DTR PID)

IF (Local:0:1.ChOFault) THEN
TIC101.SWM [:=] 1;

ELSE
TIC101.SWM := O;

END_IF;

IF (Local:0:1.RollingTimestamp<>PreviousTimestamp) OR
(Local:0:1.ChOFault) THEN

PreviousTimestamp := Local:0:1_.RollingTimestamp;
PID(TIC101,Local:0:1.ChOData,Local:0:1.ChlData,
Local:1:0.ChOData,0,Local:1:1.ChOlnHold,
Local:1:1.ChOData);

END_IF;

PID 1756

1756

PID Inhold bit  Inhold Value
PID
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(FBC DDT DTR PID) 13

PID 1756 e > (hold for
initialization)
( 0.1% )
.BIAS
PID 1756
( .Ch2InHold)
( .Ch2Data)
PID
PID
PID
PV
(
Kq > 10) “

”” (Configuration)
smoothing) PID .NDF

”” (No derivative

521



13

(FBC DDT DTR PID)

522

PID

41026

”” (Configuration)
”” (no zero crossing for deadband)

.NOZC

Control variable REAL
0



(FBC DDT DTR PID)

PID

.BIAS
PID

FID
Proportional Integral Derivative
PID mazter \a
Process wariable  pv_master
Tieback, 1
Contral wariable  ov_master
FID Master Loop ]
Inhold bit 1]
Inkold % alue 1
Setpoirt 500 0®
Process Yarable oo ®
Dutput 2 no €

/
PV
.MAXS .MINS
FID
Proportional Integral Derivative
PID slave [
Process wariable  pv_slave
Tieback, 1
Contral wariable ov_glave
FID Master Loop mazter
Inhold bit 1]
Inkold % alue 1
Setpoirt no €
Process Yarable oo ®
Dutput 2 no €

PID(master,pv_master,0,cv_master,0,0,0);

PID (slave,pv_slave,0,cv_slave,master,0,0);
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13

(FBC DDT DTR PID)

524

(PID

pid_2.sp

)
ALIL
kdualtiply
Source & uncontrolled_flow
noe
Source B ratio
noe
Dzt pid_2.=p
noe
FID
Proportional Integral Derivative
FID pid 2 []®
Process variable p_2
Tieback tieback_2
Contral wariable ov_2
FID Master Loop ]
Inhold bit 1]
Inkold % alue 1
Setpoirt no €
Process Yarable oo ®
Dutput 2 no €

uncontrolled flow * ratio

PID(pid_2,pv_2,tieback 2,cv_2,0,0,0);

(Destination)

A (Source A)

B (Source B)

(Ratio)




(FBC DDT DTR PID) 13

PID PID

PID

) [

SP-PV ( )"

AM
KW NED 1 <+
- X 100 cv
SP (::)— ?L
>>_ PV-SP maxs-mins cv
PVT [ -9| CV%(maxcv-mincv) | .o 9>
i_ 100

—
- e [ F
[ EUW cv) W
L ) EU
. )

(PV-mini)(maxs-mins)

+ mins tieback-mintie
i mini — _ —~_ x100
maxi-mini maxtie-mintie
7\
PV

/ PID

AIM
AM
AIM
!
@( )_| < S PID ~,/\£()
sp 8 @_ X 100 — b
> PV-SP maxs-mins . @ (Master.Out)
PVT |
i_

AM

|
| |
| % |
i
(PV-mini)(maxs-mins) . | .y > 0 < |
! |
! |

X 100 <
maxi-mini maxs-mins | »}———
7\
ryV - — —

SP-PV AM
(Master.Out) (SP) AM
—X (maxs-mins) = Kﬁ
——— *ming @— X 100 o cv
100 PV-SP maxs-mins %>
| — CV%(maxcv-mincv) ooy

(PV-mini)(maxs-mins)

S + mins
maxi-mini
A tieback-mintie
——————=—x 100
N maxtie-mintie
PV
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13 (FBC DDT DTR PID)

526



14

(SIN COS TAN ASN ASIN ACS ACOS ATN
ATAN)
SIN 528
coS 531
TAN 534
ASN 537
ASIN®
ACS 540
Acos®
ATN 543
ATAN@
@
(S:v)
( DINT

REAL)

527



14

(SIN COS

TAN ASN ASIN ACS ACOS ATN ATAN)

dest

528

=1
— Sine
Source ?
K
Dzt ?
K
= SIN(source);
SIN_01
SN |Z|
Sine
O Source Lest 4

SIN

(Source)

SINT
INT
DINT
REAL

(Destination)

SINT
INT
DINT

REAL

SIN
dest

source

SIN FBD_MATH_ADVANCED

SIN




(SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)

14

FBD_MATH_ADVANCED

Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL

(2nx21%)

-205887.4 (-2nx21°)

205887.4
1
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14

(SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)

Enableln

EnableOut
Enableln

EnableOut

value result

SIM

—— Sine

Source walue
073533319 ¢

Dest result
070710677 €

result := SIN(value);

SIN_04

SN _|
Sine

oo
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(SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)

14

dest

(COS)

Cos
— Cogine
Source

Dzt

7

7

= COS(source);

COS_04

cos

Cosing

O Source

=]

Lest O

COS ( )
(Source) | SINT
INT
DINT
REAL
SINT
(Destination)
INT
DINT
REAL
COoSs source
dest
cOoSs FBD_MATH_ADVANCED CcOSs
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14 (SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)
FBD_MATH_ADVANCED
Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL

(2nx219)

-205887.4 (-2nx21°)

205887.4
1
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(SIN COS TAN ASN ASIN

ACS ACOS ATN ATAN) 14
Enableln EnableOut
Enableln
EnableOut
value result
cos
— Cosine
Source walue
1.0471976 €
Drest result
05*
result := COS(value);
cos_o1
cas _|
Cosine

a0
l Source Cest

O result
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14

(SIN COS

TAN ASN ASIN ACS ACOS ATN ATAN)

dest

534

(TAN)

TAM
— Tangent
Source

Dzt

7

7

= TAN(source);

TAN_D1

TAH
Tangent

O Source

=

[rest

TAN ( )
(Source) SINT
INT
DINT
REAL
SINT
(Destination)
INT
DINT
REAL
TAN source
dest
TAN FBD_MATH_ADVANCED TAN




(SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)

14

FBD_MATH_ADVANCED

Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL
-102943.7 (-2nx21%) 102943.7
(2nx21%)
Enableln EnableOut
Enableln
EnableOut
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536

14

(SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)

value result
TaM
—— Tangent
Source walue
20343952 €
Dest result
-1.7320507 €
result := TAN(value);
TAN_O2
TAN ]
Tangent

a 0.0
I Source Drest

] result



(SIN COS TAN ASN

ASIN ACS ACOS ATN ATAN)

14

(ASN)
A5
— Arc Sine —
Source ?
T
Dzt ?
T

dest := ASIN(source);

B ASH_O1
ASN [

A Sine

O Source Crest O

ASN

(Source)

SINT
INT
DINT

REAL

(Destination)

SINT
INT
DINT

REAL

ASIN
dest

source

ASN FBD_MATH_ADVANCED

ASN
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14 (SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)
FBD_MATH_ADVANCED
Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL

-1t/2

-1
Tul2(

1
7 = 3.141593)
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(SIN COS TAN

ASN ASIN ACS ACOS ATN

ATAN)

14

Enableln EnableOut
Enableln
EnableOut
value result
A5H
— Arc Sine
Source walue
0z%
[Dest rezult
0.20135795 €
result := ASIN(value);
ASN_O1
ASH _|
Arc Sine
a 0.0
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14 (SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)

(ACS)
ACS
— Arc Cogine —
Source ?
Ei
Dzt ?
Ei

dest = ACOS(source);

Eij ACS_04
A5 L]

Arc Cosine

O Source Crest O

540

ACS

(Source) SINT
INT
DINT

REAL

SINT
(Destination)
INT

DINT

REAL

ACOS
dest

source

ACS FBD_MATH_ADVANCED

ACS




(SIN COS TAN ASN ASIN ACS ACOS ATN

ATAN)

14

FBD_MATH_ADVANCED

Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL

0 o(

-1

1
n = 3.141593)
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14

(SIN COS TAN

ASN ASIN ACS ACOS ATN ATAN)

Enableln

EnableOut

Enableln

EnableOut

542

value

L5

— Az Cosine

Source value
-0.60000002 €
Dt result
22142975 €

result := ACOS(value);

u]
value ;

ACS_04

result

ACE

Arc Cosine

Source

=

oo

] result



(SIN COS TAN ASN ASIN ACS ACOS ATN ATAN) 14

(ATN) ATN (
)
ATH
— Arc Tangent —
?
Source 7 (Source) SINT
Dzt ?
7 INT
DINT
REAL
SINT
(Destination)
INT
DINT
REAL
dest := ATAN(source); ATAN source
dest
B ATH_OM
ATH |I|
Arc Tangent
ATN FBD_MATH_ADVANCED ATN
O Source Crest O
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14 (SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)
FBD_MATH_ADVANCED
Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL
-m/2 /2( =
3.141593)
Enableln EnableOut
Enableln
EnableOut
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(SIN COS TAN ASN ASIN

ACS ACOS ATN ATAN)

14

value result

ATH
— Arc Tangent

Source value

086000001 €

Dest result

071027106 ¢

result := ATAN(value);
ATH_O1
ATH =
Arc Tangent

o 0.0
' Source Dest

(] result
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14 (SIN COS TAN ASN ASIN ACS ACOS ATN ATAN)

546



15

LN LOG XPY

LN 548
10 LOG 551
XPY 554
@)
@
SV
( DINT
REAL)

547



15 LN LOG XPY
(|_N) LN
LM
— Matural Log —
5 ?
ME (Source) | SINT
Dzt ?
7 INT
DINT
REAL
SINT
(Destination)
INT
DINT
REAL
dest := LN(source); LN source
dest
E LN_01
T
Matural Lag
LN FBD_MATH_ADVANCED LN
O Source Lest 4
FBD_MATH_ADVANCED
Enableln BOOL
(Source) REAL
EnableOut BOOL

548



LN LOG XPY 15

(S:Vv)
-87.33655 88.72284

Enableln EnableOut

Enableln

EnableOut

549



15 LN LOG XPY

value result

LM
— Matural Log
Source value
50%
Dest result
1.6034378 €

result := LN(value);

LH_od

]

Matural Log

oo
- Source Dest

- result
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LN LOG XPY 15

10 (LOG) LOG 10

LOG
— LogBaze 10 —
5 ?
PHIEE 77 (Source) | SINT
Dzt ?
7 INT
DINT
REAL
SINT
(Destination)
INT
DINT
REAL
dest := LOG(source); LOG source
dest
B Lo o4
Loe [
Log Base 10
LOG FBD_MATH_ADVANCED LOG
O Source Dest O
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15 LN LOG XPY

FBD_MATH_ADVANCED

Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL
(S:v)
-37.92978 38.53184

Enableln EnableOut

Enableln

EnableOut

552



LN LOG XPY

value result

LOG
— LogBaze 10
Source walue
3.4000001 €
Drest result
053147388 €

result := LOG(value);

LOG_ 01

LO& _I

Log Base 10

.o
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15 LN LOG XPY
X Y (XPY) XPY A B(Y)
— # To Pawer OFY —
Source # 7
T
Source 7 X (Source X) SINT
T
Dest T INT
T
DINT
REAL
Y (Source Y) SINT
INT
DINT
REAL
(Destination) | SINT
INT
DINT
REAL
dest := sourceX ** sourceY; “Exx??
sourceX  sourceY dest
B XPY_01
XPY o |
A To Power OF %
0.0 XPY FBD_MATH XPY
O Sources [rest
O Sourced
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LN LOG XPY 15
FBD_MATH
Enableln BOOL
X (Source X) | REAL
Y (Source Y) | REAL
EnableOut BOOL
(Dest) REAL
X Y
XPY Destination = X**Y
x%=1  0%=0
Source X Source Y 4 4
X Y

555



15

Enableln EnableOut
Enableln
EnableOut
value_1 value_2 result
—— ¥ ToPower OFY —
Source # walue_1
J3e
Sourcer walue_2
4€
Dzt result
1186921 &
result := (value_1 *x value_2);
HPY_0d
=
A To Power OF %
jeic] 0.0
SourceB

556

|
KT




16

(DEG RAD TOD FRD TRN TRUNC)

DEG 558
RAD 561
BCD TOD 564
BCD FRD 567
TRN 569

TRUNC®

@
SV
( DINT

REAL)

557



16 (DEG RAD

TOD FRD TRN TRUNC)

(DEG)
DEG
— Radianz To Degrees —
Source 7
"
Deszt 7
"

dest := DEG(source);

E DEG_01
DEG E]

Radians Tao Degrees

O Source Crest O

558

DEG (
(Source) |SINT
INT
DINT
REAL
SINT
(Destination)
INT
DINT
REAL
DEG source
dest
DEG FBD_MATH_ADVANCED DEG




(DEG RAD TOD FRD TRN TRUNC)

16

FBD_MATH_ADVANCED

Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL

DEG

e*180/n(

n = 3.141593)

Enableln

EnableOut

Enableln

EnableOut
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16

(DEG RAD TOD FRD TRN TRUNC)

560

value

DEG
— Radians To Deagrees

Source walue
150%

Dest result
859.43671 €

result := DEG(value);

DEG_04

result

DEG

u]
walue O Source

Fadians To Degraes

=




(DEG RAD TOD FRD TRN TRUNC)

16

(RAD)
EI RaD
— Degrees To Radians —
Source 7
7
Dest 7
7

dest := RAD(source);

Eij RAD 01
R Ej

Cegrees To Radians

O Source Cest O

RAD ( )
(Source) SINT
INT
DINT
REAL

(Destination) | SINT

INT
DINT
REAL
RAD source
dest
RAD FBD_MATH_ADVANCED RAD
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16

(DEG RAD TOD FRD TRN TRUNC)

FBD_MATH_ADVANCED

Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) REAL
RAD
*1/180( n = 3.141593)
Enableln EnableOut
Enableln

EnableOut

562



(DEG RAD

TOD FRD TRN TRUNC)

16

value

— Degree: To Radians
Source

ezt

RAD

value
4h0€
result
078539819 ¢

result := RAD(value);

[l
e

result

RAD_01

RAD

Degrees To Radians
]
Source Dest

] result

563



16

(DEG RAD TOD FRD TRN TRUNC)

BCD (TOD) TOD (O Source 99,999,999) BCD
Destination
Tao
—{ ToBCD
Source ?
- (Source) SINT
Deszt ?
7 INT
DINT
SINT INT DINT
(Destination) | SINT
INT
DINT
B ToD_o4
TOD E
To BCD
TOD FBD_CONVERT TOD
0 Source [rest
FBD_CONVERT
Enableln BOOL
(Source) DINT
EnableOut BOOL
(Dest) DINT
BCD - 4

564

© 9



(DEG RAD TOD FRD TRN TRUNC)

16

Source <0

source > 99,999,999

source

BCD

BCD

565



16 (DEG RAD TOD FRD TRN TRUNC)

Enableln EnableOut

Enableln

EnableOut

TOD value_1 BCD result_a

TaD
— TeBCD
Source  walue_1
22e
Dest result_a
16H0022 €

TOD_01

o L

To BCD
ul u]

walue_1 t Source [rest ] result_al
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(DEG RAD TOD FRD TRN TRUNC)

16

(FRD) FRD BCD ( )
FRD
—1 From BCD —
Source 7
b (Source) SINT
Dest 7
7 INT
DINT
SINT INT DINT
(Destination) | SINT
INT
DINT
B FROD_OM
FRD E|
From BCD
FRD FBD_CONVERT FRD
O Source Lrest [
FBD_CONVERT
Enableln BOOL
(Source) DINT
EnableOut BOOL
(Dest) DINT
FRD BCD ( )

567



16 (DEG RAD TOD FRD TRN TRUNC)

Enableln EnableOut

Enableln

EnableOut

FRD value_a result_1

FRD
— From BCD
Source  walue_a
1EHO043 €
[rest result_1
43€

FRO_01

FR L]

From BCD

1] a
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(DEG RAD TOD FRD TRN TRUNC)

16

(TRN)

— Trun
Sour

Dest

TRM

cate —

ce ?
7

7

TRN ()

(Source) REAL

(Destination) | SINT

INT
DINT
REAL
dest := TRUNC(source); TRUNC source
dest
E TRH_O1
TRH E|
Truncate
TRN FBD_TRUNCATE TRN
O Source Lest O
FBD _TRUNCATE
Enableln BOOL
(Source) REAL
EnableOut BOOL
(Dest) DINT
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16 (DEG RAD TOD FRD TRN TRUNC)

Enableln EnableOut

Enableln

EnableOut

570



(DEG RAD TOD FRD TRN TRUNC) 16

float_value 1

float_value_1_truncated

TRM
— Tncate
Source float_walue_1

Deszt float_value_1_tuncated

3355654 €
f83.0%

float value_1 truncated := TRUNC(Ffloat value 1);

oo

float_walue_1 — Source

Truncate

D—Gi float_walue_1_truncated
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16 (DEG RAD TOD FRD TRN TRUNC)

572



17

ASCI
(ABL ACB ACL AHL ARD ARL AWA AWT)

ASCII ASCII
Logix5000
( 1756-PM001)
1756-L7x ASCIl [
ASCIl  /
USB
ABL 578
ACB 581
ACL 583
ASCII
AHL 585
DTR
RTS
ARD 589
ARL 593
(
)
AWA 597
AWT 602

573


http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf

17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

ASCII

ASCII ASCII

Al W N]| P

ASCII

ASCII (ACL ) SERIAL_PORT_CONTROL

574



ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17

.EN

.EU

.RN

.DN

.FD

.EM

.EN

.EU

ABL

ER ‘

ASCII 16

.DN

.ER
.EM

L.

575



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

ASCII
ASCII SERIAL_PORT_CONTROL
ERROR
16#2
16#3 CTS
16#4
16#A UL
16#C ASCII
16#D < ”” (Controller Properties) “< ”* (User Protocol)
ASCII
16#E ACL
16#F ASCII ASCII
16#51 LEN DATA
16#54
16#55
ASCII

D Contraller name_of_cantraller

D Tasks STRING 82

[ Trends .

=4 Data Types _

Eﬁ, Uszer-Defined Logix5000

— -], Strings ( 1756-PM001)
f [ STRING

Eﬁ, Predefined

576


http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf

ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17
LEN DINT LEN
. “ ”” (String Browser)
LEN DATA
DATA SINT ASCII | »
string_1 string_1
* DATA

577



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)
ASCI| (
(ABL) )
ABL:
— ASCII Test For Buffer Line :((EN))_—
Channel ? DN
Segglr:fort Control ? —CER>— (Channel) DINT
Character Count ?
SERIAL_PORT _
(Serial Port Control) | CONTROL
DINT
(Character Count)
ABL(Chan_neI ABL
SerialPortControl);
SERIAL_PORT_CONTROL .POS Character
Count
SERIAL_PORT_CONTROL
.EN BOOL
.EU BOOL ASCII
.DN BOOL
.RN BOOL
.EM BOOL
.ER BOOL )
.FD BOOL
.POS DINT )
.ERROR DINT

578



ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

17

ABL
. .FD
. (
)
“ ”” (Controller Properties) “ i
(User Protocol) ASCII
ABL
1.
2.
N/A
N/A
Enableln N/A Enableln
.EN
.UL
ASCII

579



580

17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)
MV _line.EN ABL
= /E ASCII Test For Buffer Line —CEND>—
Channel 0 —OOND>—
SerialPort Control MV_line —CER>—
Character Count 0

ABL(O,MV_line);




ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17

ASCII ACB
(ACB)
ACB
— ASCII Chars in Buffer :((EN)_)—
Ch | ? DN
Sefilglr:f’eort Control ? —CER>— (Channel) DINT 0
Character Count ?

SERIAL_PORT _

(Serial Port Control) | CONTROL

DINT 0
(Character Count)
ACB(CSZTiTIIPo rtControl); ACB Character
Count SERIAL_PORT_CONTROL .POS
SERIAL_PORT_CONTROL
.EN BOOL
.EU BOOL ASCII
.DN BOOL
.RN BOOL
.EM BOOL
.ER BOOL ( )
.FD BOOL
.POS DINT ( )
.ERROR DINT
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17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

ACB
ACB
1.
2
N/A
N/A
Enableln N/A Enableln
.EN
.UL
ASCII
bar_code_count.EN -ACB:
4/E ASCII Chars in Buffer —CEN
Channel 0 —ON—
SerialPort Control bar_code_count —CER>—
Character Count 0

ACB(0,bar_code_count);
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ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17
ASCII (ACL) AcCL ASCII
ACL:
— ASCII Clear Buffer
Ch I ?
Cleaar:nseerial Port Read ? (Channel) DINT 0
Clear Serial Port Write ?
BOOL ARD
(Clear Serial Port ARL Yes
Read)
BOOL AWA  AWT
(Clear Serial Port Yes
Write)
ACL(Channel,
ClearSerialPortRead, ACL
ClearSerialPortWrite);
ACL
. ASCII
. ASCII
ACL
1.
ARD ARL
ARD ARL
2.
- .ER
« . ERROR 16#E

583



17

(ABL ACB ACL AHL

ARD ARL AWA AWT)

N/A
N/A
Enableln N/A Enableln
ASCII
. SFS ACL
1 F ASCII Clear Buffer
Channel

584

Clear Serial Port Read
Clear Serial Port Write

=)

osri_1.InputBit := S:FS;

OSRI(osri_1);

IF (osri_1.0utputBit) THEN

ACL(0,0,1);

END_IF;




ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17

ASCI| (AHL) AHL DTR RTS

— ASCII Handshake’i’i_'nljes —CEN>—
A Mask 2 |—oN—
OR Mask 2 ER—
SerialPort Control . ”
Channel Status(Decimal) ?
(Channel) DINT 0
ANDMask DINT
ORMask DINT
(Serial Port Control) SERIAL_PORT_
CONTROL
)(Channel Status | DINT 0
(Decimal))

CTS
RTS
DSR
DCD
DTR
XOFF

g | W| N[ F,| O

AHL(Channel ,ANDMask , ORMask, AHL

SerialPortControl); Character

Status SERIAL_PORT_CONTROL .POS

585



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)
SERIAL_PORT_CONTROL
EN BOOL
EU BOOL ASCII
.DN BOOL
RN BOOL
EM BOOL
ER BOOL ( )
FD BOOL
POS DINT
.ERROR DINT
AHL
. (DTR)
. (RTS)
AHL
1.
ARD ARL
ARD ARL
2. ANDMask  ORMask
DTR RTS
ANDMask ORMask
3 0
1 2
1 0
2 1
0 3
0 1
2 0
0 2
0 0

586




ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17

4 57 AHL
. AHL
N/A
N/A
Enableln N/A Enableln
DTR RTS
.EN
.UL
ASCII

587



17

ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

get_control_line_status

get_control_line_status
Channel Status

588

= =
3 B

SerialPortControl POS
AHL

ASCII Handshake Lines E=CEN D=
Channel 0

AND Mask 0 E=(DN ==
OR Mask 0 —ER>—
SerialPort Control serial_port

Channel Status(Decimal) 29

osri_1.InputBit := get _control_line_status;

OSRI(osri_1);

IF (osri_1.0utputBit) THEN
AHL(0,0,0,serial_port);
END_IF;



ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17
ASCI| (ARD) ARD
-ARD
— ASCII Read —CEND—
Channel 2
Destination ? —ON—
SerialPort Control 2 —CER>—
SerialPort Control Length ?
Characters Read ?
(Channel) DINT 0
(Destination) ( ) .
SINT .
INT . STRING
DINT d S|NT INT .
DINT
SERIAL_PORT _
(Serial Port CONTROL
Control)
DINT ( ) « Serial Port Control Length
(Serial Port .
Control Length) . Serial Port Control Length
0
DINT 0
(Characters
Read)
ARD(Channel ,Destination, ;
SerialPortControl); ARD Serial Port
Control Length  Characters Read
SERIAL_PORT_CONTROL .LEN .POS

589



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

SERIAL_PORT_CONTROL

.EN BOOL
.EU BOOL ASCII
.DN BOOL
.RN BOOL
.EM BOOL
ER BOOL ( )
FD BOOL
.LEN DINT ( )
POS DINT
.ERROR DINT
ARD
« ARD (Serial Port
Control Length)
. ARD ASCI|
ARD
1.
2. ACB ARD ARD
ASCI|
3.

590



ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17

N/A
N/A
Enableln N/A Enableln
.EN
UL
ASCII
( 0)
24 ACB
24
ARD bag_bar_code
( ) DATA
bar_code_count.EN ACB
3/ ASCII Chars in Buffer —CEND—
Channel 0 FOON>—
SerialPort Control bar_code_count —CER>—
Character Count 0
GEQ ARD
Grtr Than or Eql (A>=B) ASCIl Read —CEND—
Source A bar_code_count.pos Channel 0
0 Destination bag_bar_code —CDND—
Source B 24 "
SerialPort Control bar_code_read —CERD—
SerialPort Control Length 24
Characters Read 0

591



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

ACB(0,bar_code_count);

IF bar_code_count.POS >= 24 THEN
bar_code _read.LEN := 24;
ARD(0,bag_bar_code,bar _code_read);

END_IF;
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ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17
ASCII (ARL) ARL
-ARL:
— ASCII Read Line —CEND>—
Channel 2
Destination ? —ON—
SerialPort Control 2 —CER>—
SerialPort Control Length ?
Characters Read ?
(Channel) DINT 0
(Destination) ( ) .
SINT .
INT . STRING
DINT d S|NT INT .
DINT
SERIAL_POR
T_
(Serial Port Control)
CONTROL
DINT . (
(Serial Port Control )
Length)
3 6
6
« Serial Port Control Length
. Serial Port Control Length
0
DINT 0
(Characters Read)
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17

ASCII

(ABL ACB ACL AHL ARD ARL AWA AWT)

ARL(Channel ,Destination,

SerialPortControl); ARL Serial Port

Control Length  Characters Read
SERIAL_PORT_CONTROL .LEN .POS
SERIAL_PORT_CONTROL

.EN BOOL

.EU BOOL ASCII

.DN BOOL

.RN BOOL

EM BOOL

ER BOOL ( )

.FD BOOL

.LEN DINT (

.POS DINT

.ERROR DINT

594

ARL
« ARL
- (Serial Port Control Length)
. ARL ASCII



ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17
ARL
1.
a.
b.
2. ABL ARL ARL
ASCII
3.
4. EM
N/A
N/A
Enableln N/A Enableln
Destination
.EN
UL
ASCII

595



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)
MessageView
($r) e ”? (Controller Properties)
“ 7 (User Protocol)
ABL FD
ABL (MV_line.FD )
ARL ( )
MV_msg ( ) DATA
MV_line.EN -ABL
= /E ASCII Test For Buffer Line —CEND—

Channel 0 —OOND>—
SerialPort Control MV_line —CER>—

Character Count 0

MV_line.FD ARL:
J E ASCII Read Line —CEND>—

Channel 0
Destination MV_msg H—DOND—
SerialPort Control MV_read —CERD—

SerialPort Control Length 12

Characters Read 0

596

ABL(O,MV_line);

osri_1.InputBit := MVLiIne.FD;
OSRI(osri_1);

IF (osri_1.0utputBit) THEN
mv_read.LEN := 12;
ARL(O,MV_msg,MV_read);

END_IF;



ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17

ASCI| (AWA)  AWA

-AWA

— AﬁCIIV\llrite Append —CEND>—
goﬁr”cle 2 —oND—
SerialPort Control 2 —CER>—
SerialPort Control Length ?
Characters Sent ?
(Channel) DINT 0
(Source) .
SINT .
INT . STRING
DINT . SINT INT .
DINT
SERIAL_PORT _
(Serial Port CONTROL
Control)
DINT « Serial Port Control Length
(Serial Port
Control Length) _
. Serial Port Control Length
0
DINT 0
(Characters Sent)
AWA(Channel ,Source, -
SerialPortControl); AWA Serial Port
Control Length  Characters Sent
SERIAL_PORT_CONTROL .LEN .POS

597



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)
SERIAL_PORT_CONTROL
.EN BOOL
.EU BOOL ASCII
.DN BOOL
RN BOOL
EM BOOL
ER BOOL ( )
.FD BOOL
LEN DINT
.POS DINT
.ERROR DINT
AWA
. (Serial Port Control Length)
° ( ) [ X 9
(Controller Properties) “ ”” (User Protocol)
AWA
1.
a. ARD ARL
b.
2.

598



ASCII

(ABL ACB ACL AHL ARD ARL AWA AWT) 17

Serial Port Control Length

LEN Serial
Port Control LEN
N/A
N/A
Enableln N/A Enableln
.EN

UL

ASCII

599



17

ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

600

1 (temp_high ) AWA
MessageView string[1] (
) DATA (%14 Ctrl-T
) ( )
AWA ($0D)
tem£) high -AWA
1 E ASCII Write Append —CEND—
Channel 0
Source string[l] F—COND—
'$1425\1"
SerialPort Control temp_high_write —CERD—
SerialPort Control Length 5
Characters Sent 6

IF temp_high THEN
temp_high_write.LEN := 5;
AWA(O,string[1],temp_high_write);
temp_high = 0;

END_IF;



ASCII (ABL ACB ACL AHL ARD ARL AWA

AWT) 17

2 alarm AWA alarm_msg
alarm_msg
(alarm_msg.LEN) AWA Serial Port
Control Length (alarm_write.LEN) alarm_msg $14
Ctrl-T
alarm MOV AWA
] E Move ASCII Write Append —CEND——
Source alarm_msg.LEN Channel 0
5 Source alarm_msg —COND>—
Dest  alarm_write.LEN '$1425\1"
5 SerialPort Control alarm_write —CERD—
SerialPort Control Length 5
Characters Sent 6

osri_1.lnputBit := alarm;

OSRI(osri_1);

IF (osri_1.0utputBit) THEN
alarm_write.LEN := alarm _msg.LEN;
AWA(O,alarm_msg,alarm write);

END_IF;

601



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

ASCIl  (AWT) AWT

— ASCII Write —CEND>—

Channel 2

Source ? —ON—

SerialPort Control D) —CERD—

SerialPort Control Length ?

Characters Sent ?

(Channel) DINT 0

(Source) .
SINT .
INT . STRING
DINT . SINT INT .

DINT
SERIAL_PORT _
(Serial Port CONTROL
Control)
DINT « Serial Port Control Length
(Serial Port
Control Length) i
. Serial Port Control Length
0
DINT 0
(Characters Sent)
AWT(Channel ,Source, AWT Serial Port
SerialPortControl);
Control Length  Characters Sent
SERIAL_PORT_CONTROL .LEN .POS

602



ASCII (ABL ACB ACL AHL

ARD ARL AWA

AWT)

17

SERIAL_PORT_CONTROL

.EN BOOL
.EU BOOL ASCII
.DN BOOL
.RN BOOL
.EM BOOL
ER BOOL ( )
.FD BOOL
.LEN DINT
.POS DINT
.ERROR DINT
AWT (Serial Port Control Length)
AWT
1.
ARD ARL
ARD ARL
2.
3.

Serial Port Control Length

Port Control

LEN

LEN

Serial

603



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)
N/A
N/A
Enableln N/A Enableln
.EN
.UL
ASCII
1 (temp_low ) AWT
MessageView string[2]
( ) DATA ($14
Ctrl-T )
($r)
tem_P low AWT
1 E ASCII Write —CEND—
Channel 0
Source string[2] F—COND—
'$142224\01%r'
SerialPort Control temp_low_write —CER>—
SerialPort Control Length 9
Characters Sent 9

604




ASCII (ABL ACB ACL AHL ARD ARL AWA AWT) 17
osri_1._lnputBit := temp_low;
OSRI(osri_1);
IF (osri_1._0OutputBit) THEN
temp_low write.LEN := 9;
AWT(0,string[2],temp_low write);
END_IF;
MV_update AWT MV_msg
MV_msg
(MV_msg.LEN) AWT Serial Port Control Length
(MV_write.LEN) MV_msg $16 Ctrl-v
MV_update MOV AWT
J E Move ASCII Write —CEND—
Source MV_msg.LEN Channel 0
10 Source MV_msg —COND—
Dest MV_write.LEN '$161365\8\1%r"
10 SerialPort Control MV_write —CERD—
SerialPort Control Length 10
Characters Sent 10

osri_1_lnputBit := MV_update;
OSRI(osri_1);

IF (osri_1.0utputBit) THEN
MV_write.LEN := Mv_msg.LEN;
AWT(O0,MV_msg,MV_write);

END_IF;

605



17 ASCII (ABL ACB ACL AHL ARD ARL AWA AWT)

606



18

(CONCAT DELETE FIND INSERT MID)
ASCII ASCII|
CONCAT 609
DELETE 611
FIND 613
INSERT 615
MID 617
ASCII
CMP 214
EQU 219
NEQ 250
GEQ 219
GRT 227
LEQ 231
LES 235
INT DINT REAL SWPB 307
FSC 354
SINT INT DINT REAL STOD 621

607



18 ASCII (CONCAT DELETE FIND INSERT MID)

REAL STOR 624
SINT INT DINT REAL ASCII DTOS 627
REAL ASCII RTOS 629
ASCII
D Contraller name_of_cantraller .
D Tasks STRING 82
[ Trends .
=4 Data Types _
- L UserDefined Logix5000
—— =] Shiings ( 1756-PM001)
- [8) STRING
Eﬁ, Predefined
- L Module-Defined
LI 140 Configuration
LEN DINT LEN
. “ ”” (String Browser)
LEN DATA
DATA SINT ASCII |
string_1 string_1
* DATA

608
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ASCII (CONCAT DELETE FIND INSERT MID) 18
(CONCAT)  CONCAT ASCII
CONCAT
— String Concatenate
Source A
2?
Source B ?
??
Dest ?
??
A (Source A)
B (Source B) . STRING
(Destination) .
CONCAT (SourceA, SourceB, CONCAT
Dest);
CONCAT ““  A?7 “€ B??
° T & A’ k4 [ ¥ B E
° (X3 A’ > [ X9 > (X3 A’ >
4 51 LEN 1. LEN
DATA
2. LEN

609



18 ASCII (CONCAT DELETE FIND INSERT MID)

N/A
N/A
Enableln N/A Enableln
MessageView
ASCII String_1 add_node
CONCAT node_num_ascii( )
string_1 msg
add_node CONCAT
J E String Concatenate
Source A string_1
'$1423\'
Source B node_num_ascii
1
Dest msg
'$1423\1

IF add_node THEN

CONCAT(string_1,node_num_ascii,msg);
add_node := 0;

END_IF;

610




ASCII (CONCAT DELETE FIND INSERT MID) 18
(DELETE)  DELETE ASCI
DELETE:
— String Delete —
Source ” DELETE
Qty ?
??
Start ? . cc EX) >
??
Dest ? >3
??
(Source)
STRING
(Quantity) SINT »» ce >3
77 DATA
INT
DINT
(Start) SINT 1 << *» DATA
INT
DINT
(Destination)

DELETE(Source,Qty,Start,
Dest);

DELETE

611



18 ASCII (CONCAT DELETE FIND INSERT MID)
4 51 LEN 1. LEN
DATA
2. LEN
4 N 1. == << 77 DATA
2. T & 7 (X3 7 (X3 7
DATA
N/A
N/A
Enableln N/A Enableln
ASCII
(term_read.EM ) DELETE
DELETE

term_read.EM
3 E

4 C

612

IF term_read.EM THEN

DELETE(term_input,1l,1,term_text);

term_read.EM :=
END_IF;

0;

String Delete
Source term_input

'$0655'

Qty 1
Start 1
Dest term_text
55




ASCII (CONCAT DELETE FIND INSERT MID) 18
(FIND) FIND
FIND:
— Find String
Source ?
??
Search ?
??
Start ?
??
Result ?
??
(Source)
(Search) o STRING
(Start) SINT “e 7z 1 “< 77 DATA
INT
DINT
(Result) | SINT
INT
DINT
FIND(Source,Search,Start, FIND
Result);
FIND [ ¥ > [ ¥ >
4 51 LEN 1. LEN
DATA
2 LEN
4 56 “ >z “ >z 1 “« 77 DATA

613



18 ASCII (CONCAT DELETE FIND INSERT MID)
N/A
N/A
Enableln N/A Enableln

MessageView

[\]
find_pos

MV_read.EM
1 E

FIND

4 C

IF MV_read.EM THEN

FIND(MV_msg,find,1,find_pos);

MV_read.EM := O;

END_IF;

614

FIND
Find String
Source MV_msg
'$06324\12\1\$r'
Search find
W
Start 1

Result  find_pos
5




ASCII (CONCAT DELETE FIND INSERT MID) 18
(INSERT) INSERT AsCI
INSERT:
— Insert String —
Source A ?
??
Source B ?
2?2
Start ?
2?2
Dest ?
??
A (Source A)
B (Source B) . STRING
(Start) SINT ““ A7 1 = 7”7 DATA
INT
DINT
(Result)
INSERT(SourceA, SourceB, INSERT
Start,Dest);
INSERT (X3 B’, [ X A’,
° [ ¥ > [ X1 B’, (X3 A’,
° = £ A,, T & 9 = £ A,,
4 51 LEN 1. LEN
DATA
2 LEN
4 56 “ 77 “e 77 “< 77 DATA

615



ASCII (CONCAT DELETE FIND INSERT MID)

18
N/A
N/A
Enableln N/A Enableln
temp_high INSERT string_2
string_1 2 string_3
tem$ high INSERT
J_E Insert String

Source A string_1
"AD'
Source B string_2
BC'
Start 2
Dest string_3
'ABCD'

616

IF temp_high THEN

INSERT(string_1,string 2,2,string _3);

temp_high := 0;

END_IF;




ASCII

(CONCAT DELETE FIND INSERT MID)

18

(MID)

MID:
— Middle String —

Source ?
??
Qty ?
??
Start ?
??

Dest ?
??

MID

ASCII

(Source)

. STRING

(Quantity) SINT
INT

DINT

““ 77 DATA

(Start) SINT
INT

DINT

1 << 7”7 DATA

(Destination)

MID(Source,Qty,Start,
Dest);

617



18 ASCII (CONCAT DELETE FIND INSERT MID)
4 51 LEN 1. LEN
DATA
2. LEN
4 56 |= v == 2> 1 S 1 == *7 DATA
2. X3 7 T & 7 (X3 7
DATA
N/A
N/A
Enableln N/A Enableln
9 17
(bag_read.EM ) MID

bag_read.EM
2 E

bag flt and_dest

4 C

618

IF bag read.EM THEN

MID:
Middle String
Source bag_barcode
'NWA HOP 5058 AMS 01"

Qty 9
Start 9

Dest bag_flt_and_dest
'5058 AMS '

MID(bar_barcode,9,9,bag_flt_and _dest);

bag read.EM := 0O;

END_IF;




19

ASCII

(STOD STOR DTOS RTOS UPPER LOWER)

ASCII
ASCII ASCII STOD 621
SINT INT DINT REAL
ASCII ASCII STOR 624
REAL REAL
SINT INT DINT REAL ASCII DTOS 627
ASCII MessageView
REAL ASCII ASCII RTOS 629
MessageView
ASCII UPPER 631
ASCII LOWER 633

619



19 ASCII (STOD STOR DTOS RTOS UPPER LOWER)

ASCII
CONCAT 609
DELETE 611
FIND 613
INSERT 615
MID 617
INT DINT REAL SWPB 307
CMP 214
EQU 219
NEQ 250
GEQ 223
GRT 227
LEQ 231
LES 235
FSC 354
ASCII

-[Z3 Controller name_of_contraller .

. 7 Tasks STRING 82

- 3 Trends .

El B Data Types '

L UserDefined Logix5000

— A3, Strings ( 1756-PM001)
- [ STRING
v Predefined

Eﬁ, Madule-Defined
------ 310 Configuration

620


http://literature.rockwellautomation.com/idc/groups/literature/documents/pm/1756-pm001_-en-e.pdf

ASCII

(STOD STOR DTOS RTOS UPPER LOWER)

19

LEN DINT

LEN

LEN

”” (String Browser)

DATA

DATA SINT

ASCIl |

* DATA

string_1 string_1

DINT
(STOD)

STOD

— String To DINT —
Source ?
??

Dest ?
??

STOD

ASCII REAL

(Source)

ASCII

. STRING

(Destination) | SINT
INT
DINT

REAL

( e

STOD(Source,Dest);

STOD

621



19 ASCII (STOD STOR DTOS RTOS UPPER LOWER)
STOD
4 51 LEN LEN
DATA
LEN
4 53
ASCII
N/A
N/A
Enableln N/A Enableln
SC
S:Z

622



ASCII (STOD STOR DTOS RTOS UPPER LOWER) 19

MV_read.EM STOD MV_msg
($06) (\)
MV_read.EM STOD
3 E String To DINT
Source MV_msg
'$06324\12\1\$r'
Dest MV_msg_nmbr
324

IF MV_read.EM THEN
STOD(MV_msg,MV_msg_nmbr) ;
MV_read.EM := O;

END_IF;

623



19 ASCII (STOD STOR DTOS RTOS UPPER LOWER)
REAL ASCII REAL
(STOR)
STOR
— String to Real
Source ?
??
Dest ?
22
(Source) ASCII
o STRING
(Destination) | REAL REAL
STOR(Source,Dest);
STOR
[ X >y R EAL ® & >
e 2z STOR
[.]
(
)

624

I)



ASCII (STOD STOR DTOS RTOS UPPER LOWER)

19

4 51 LEN 1. LEN
DATA
2. LEN
4 53
o ASCII
N/A
N/A
Enableln N/A Enableln
S:.C
S:Z

weight_read.EM
T E

(weight_read.EM ) STOR
weight_ascii REAL

STOR

4 C

String to Real
Source weight_ascii
'428.259'
Dest weight
428.259

625



19 ASCII (STOD STOR DTOS RTOS UPPER LOWER)

IF weight_read.EM THEN
STOR(weight_ascii,weight);
weight_read.EM := O;

END_IF;

626



ASCII (STOD STOR DTOS RTOS UPPER LOWER)

19

DINT DTOS ASCII
(DTOS)
DTOS
— DINT to String
Source ?
??
Dest ?
2?2
(Source) SINT “< 77 REAL
DINT REAL
INT 648
DINT
REAL
(Destination) ASCII
J STRING
DTOS(Source,Dest);
DTOS
DTOS <= 77 ASCII
4 51 LEN 1. LEN
DATA
2. LEN
4 52 cc 3

627



19 ASClI (STOD STOR DTOS RTOS UPPER LOWER)
N/A
N/A
Enableln N/A Enableln
temp_high DTOS msg_num
msg_num_ascii
Msg_num_ascii
temji) high DTOS:
4 E DINT to String
Source msg_num
23

628

IF temp_high THEN

temp_high

DTOS(msg_num,msg_num_ascii);

Dest msg_num_ascii

93




ASCII (STOD STOR DTOS RTOS UPPER LOWER) 19
REAL RTOS REAL ASCII
(RTOS)
RTOS
— Real to String —
Source ?
??
Dest ?
??
(Source) REAL REAL
(Destination) ASCII
. STRING
RTOS(Source,Dest);
RTOS
RTOS =< 77 ASCII
4 51 LEN 1. LEN
DATA
2 LEN
4 52 cc 3

629



19 ASCII (STOD STOR DTOS RTOS UPPER LOWER)
N/A
N/A
Enableln N/A Enableln
send_data RTOS data 1 ASCII
data_1 ascii
data_1_ascii
send_data RTOS
3 E Real to String
Source data_1
15.3001
Dest data_1_ascii
'15.3001003'

630

IF send_data THEN

RTOS(data_1,data 1 ascii);

send_data := O;

END_IF;



ASCII (STOD STOR DTOS RTOS UPPER LOWER) 19

(UPPER) UPPER
UPPER
—— Upper Case —
Source ?
7
Dest ? (Source)
77

(Destination)

UPPER(Source,Dest);

UPPER
UPPER “e 7z
- ASCII <<A”7 ($41)
<<a”” ($61)

. ASCII
N/A
N/A

Enableln N/A Enableln

631



632

19 ASCII (STOD STOR DTOS RTOS UPPER LOWER)

ASCII

(terminal_read.EM ) UPPER
catalog_number

catalog_number_upper_case
catalog_number_upper_case

terminal_read.EM
J E
= =

LPPER

Ipper Caze

Source catalog_number
‘abcd'

Dest catalog_number_upper_caze
BRECD' &

IF terminal_read.EM THEN

UPPER(catalog_number,catalog_number_upper_case);
terminal_read.EM := O;

END_IF;




ASCII (STOD STOR DTOS RTOS UPPER LOWER) 19

(LOWER) LOWER

LOWER
Lower Caze —
Source ?
7

Dest ? (Source)
7

(Destination)

LOWER(Source,Dest);

LOWER
LOWER “e 7z
- ASCII <<A”7 ($41)
<<a”” ($61)

. ASCII
N/A
N/A

Enableln N/A Enableln

633



19 ASCII (STOD STOR DTOS RTOS UPPER LOWER)

ASCII
(terminal_read.EM ) LOWER
item_number
item_number_lower_case
item_number_lower_case

terminal_read.EM LOWwER
4 E Lawer Caze
Source itern_number
BRECD' &
Dest item_number_lower_caze
‘abcd' €

IF terminal_read.EM THEN
LOWER(item_number, item_number_lower_case);
terminal_read.EM := O;

END_IF;
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20

(BPT TPT)

RSLogix Emulate 5000

Logix5000
BPT 635
TPT 639
(BPT)
BFT
- Breakpomnt —
Farrnat rrfarmat
'Breakpoint: The input’ € (Format)
Trace This  analogvalue
BOOL
(Trace SINT INT
This) DINT REAL
(BPT) BPT
BPT
Siot #1

o Stopped At Breakpoint. OK to Continue?

635



20

(BPT TPT)

636

<< *7(OK)

heading:(text)%(type)

heading text
( ) %(type)

My tracepoint:Tag 1 = %e and Tag 2 = %d

%e %d

REAL INT



(BPT TPT)

20

REAL

%e)

(

: Slot 1: My Tracepoint

Tag1=6.488484e+002 and Tag 2 = 443

Tag1=6617994e+002 and Tag 2 =447

INT (
%d)

Freeze Dizplay

Clear Display

i

Freeze Log I

LBL

82

BPT

BPT

BPT 41

41

637



20 (BPT TPT)

3.02 2.01
GEQ BFT
Grtr Than or Eql [&>=E] Ereakpoint —
Source & analogvalue Farmat ryfarmat
0.0# 'Breakpoint: The input’ €
Source B 302 Trace Thiz analogvalue
LEQ
Less Than or Eqgl[<=B) ——
Source & analogvalue
noe
Source B 2Mm
“ 7z (myformat)

Breakpoint:The input value is %F

(““Breakpoint”) 0pf
( ) ( ““analogvalue””)
: Slot 1: Breakpoint ™ [=] B3

The input value is 3.040000
The input value is 3.030000

The nput value 1 3.122000

Freeze Display ’ Freeze Log

Clear Display

638



(BPT TPT) 20

(TPT)

TPT
Tracepaint
Format myformat
‘Analog inputs trace;” €
Trace This  analogvaluel
Trace This  analogvalue2
Trace This  analogvalue3

(Format) )

BOOL
(Trace This) | SINT INT

DINT
REAL

(TPT) TPT
TPT
TPT
82
TPT 41

TPT 41

heading:(text)%(type)

heading text (
) %(type)

My tracepoint:Tag 1 = %e and Tag 2 = %d

639



20 (BPT TPT)

%e %d

- ” (

REAL INT

: Slot 1: My Tracepoint

Tag 1 =6.488484e+002 and Tag 2 = 443 ;l
Tag1 =6.617994e+002 and Tag 2 = 447

REAL ( |
%e) INT (
%(d)

Freeze Display Freeze Log I

Clear Display

i

LBL

640



(BPT TPT) 20

(30.01)
GRT TPT
Greater Than [4>B] Tracepoint =
Source & analogvalus] Farmat rnyfiarmat
noe ‘Analog inputs trace:" &
Source B J0m Trace This analogvaluel
Trace This analogvalue?
Trace This analogvalue3

GRT
Greater Than (438
Source & analogvalue?
00«
Source B 30.0M

GRT
Greater Than [438) —
Source &  analogvalue3
00«
Source B 30.01

“ 7z (myformat)

Analog inputs trace:Analog inputs = %f, %f, and %f

( ““Analog inputs trace””)
%f
( ““analogvaluel”” ““analogvalue2”” ““analogvalue3~”)

i Slot 1: Analog inputs trace M= B3

Analog inputs = 31.002007, 30.282000, and 30170007
Analog inputs = 30.224001, 30.214007, and 30. 226000
Analog inputs = 30.320000, 30.233000, and 30.422001
thmalog inputs = 29.993000 30, 346001, and .30.445399

Freeze Display I Freeze Log

Clear Display

i

641



20 (BPT TPT)

““Analog inputs trace:””

Analog inputs trace:Analog inputs = 31.00201, 30.282000, and
30.110001

642



Logix

643
644
( ) -2 3)
32 ( )
32
( )
-1 1G#ff ffff (-1)
16#fff (-1) 16#0000 ffff (65535)

8#1234 (668)

16#0000 029c (668)

2#1010 (10)

16#0000 000a (10)

643



- DINT REAL
- (
)
. REAL
( )
REAL
DINT
. (DINT REAL )
REAL BOOL
. SINT INT

DINT REAL

SINT INT

644



SINT INT DINT
SINT INT DINT e
( )
32
32
2#1111_ 1111 1111 1111 (-1)
241111 1111 11111111 1111 1111 1411 1111 | (1)
2#0000_0000_0000_0000_ 1111 1111 1111 1111 | (65535)
SINT INT
Source A (INT)
Source B( )

Equal
Source A

Source B

EQU

remote_rack_1:1.Data[0]
2#1111 1111 1111 1111
2#1111 1111 1111 1111

645



646

SINT INT
32
32
- MOV
. MEQ
INT
1771 1/0
1771 1/0 INT 16
remote_rack_1:l.Data[0] INT
INT
EQU
Equal
Source A remote_rack_1:1.Data[0]
2#1111 1111 1111 1111
Source B int_0
2#1111 1111 1111 1111
remote_rack_1:1.Data[0] INT
int_0( )
EQU
MOV EQU
Move Equal

Source 2#1111 1111 1111 1111

Dest

2#1111 1111 1111 1111

int_0 Source B

Source A remote_rack_1:1.Data[0]

2#1111_1111 1111 1111
int_0
2#1111_1111 1111 1111

42093




REAL
|EEE REAL 1
23 8 ( 32 )
(SINT INT DINT) REAL
REAL
« SINT INT REAL
« DINT REAL
- REAL 24 (23 1
<77 )
- DINT 32 ( 31
)
- DINT 24
REAL 24
REAL
DINT SINT INT
DINT SINT INT DINT
DINT
SINT  INT
_ DINT INT  SINT
DINT
16#0001_0081 INT | 1640081 (129)
(65,665)
SINT | 16#81 (-127)

647



REAL
REAL
*+ X.5
+ X.5
REAL DINT

REAL DINT
-2.5 -2
-1.6 -2
-1.5 -2
-1.4 -1
1.4 1
15 2
1.6 2
2.5 2

648



(IREF)

+/
_10+/-15

(+/_1o+/-38)

(OREF)
= o
) 3__ﬁﬂ::]
E::}?J }_Wﬂ(::D<————
(OCON)
o

(ICON)

649



(IREF)

(OREF)

(OCON) (ICON)

(OCON)

(ICON)

IREF
IREF IREF

IREF

IREF—®» [ »—— u]
d

tagA Block_01
Blcock 02
tagA IREF tagA

Block 01
=

At -

Block_02
=

650



tagA
Block_01
=]
-
Block 02
=]
g
0
RSLogix 5000 11
IREF OREF
IREF IREF
OREF
tagA 254
Block 01 tagA 50.9 Block 02
Block_02 IREF 25.4
tagA 50.9 IREF
Blod_01
[
Block_02
N -
O

651



652

RSLogix 5000

[ ] [ ]
] d ]
2 3
2 3
= =
- D—G
(
3 5
= =
- D—G
4 6
= =
- D—G




|
o ]
= E—
4> |—C
|
2 ? 2
* [ " [ S [
[ o—o — H— o—ac_ |
<< 7”7 (Assume Data
Available) ( )
1 3
1 2 3
=] =] =]
I:: ) P g 1 ——u
4>
<< 77 (Assume Data Available)
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”” (Assume Data Available)

oY

3—@E) )—‘

”” (Assume Data

Available)
“ ”>” (Assume Data Available)
¥, = » = ¥, = » =
O — —rf m = B —— -]
g ] d ]
d d
“ ”” (Assume Data “ ”” (Assume Data Available)
Available)
x, || *, . |
= — —r m]
dJ
“ ”” (Assume Data
Available)
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r¥

7”7 (Assume Data

Available) 1
2
2 1
. | . |
O :—4@ m|
O
1. IREF
2.
3. OREF

655



=+ NAN

INF
1 2 3
=+ NAN
=+ INF #+ NAN +=NAN  *=INF
=+ INF =+ NAN HighLimit
=+ INF LowLimit =+ INF
+ NAN
+ NAN
ALMNTCH HLL BANDOSRI
DEDTPMUL INTG BNOTRESD
DERVPOSP Pl BORRTOR
ESELRLIM PIDE BXORSETD
FGENRMPS SCL CUTDTOFR
HPFSCRV SOC D2SDTONR
LDL2SEL D3SD
LDLGSNEG DFF
LPFSRTP JKFF
MAVESSUM OSFI
MAXCTOT
MINCUPDN
MSTD

MUX

656



DEDT LDLG RLIM
DERV LPF SCRV
HPF NTCH SOC
INTG Pl TOT
LDL2 PIDE
(DeltaT)
DeltaT
(ms)
10.5 ms DeltaT 10 ms
5-10
(DeltaT) OversampleDT

OversampleDeltaT

Enableln
5-10
(DeltaT)
RTSTimeStamp
RTSTime DeltaT
DeltaT 1

RTSMissed
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DeltaT
DeltaT
DeltaT

658



TimingMode DINT
0
1
2
=0 2
=0
TimingMode = 0 DeltaT
TimingMode = 0
DeltaT
TimingMode = 1 DeltaT
OversampleDT
TimingMode = 2 DeltaT
TimingMode Status
OversampleDT REAL DeltaT
TimingMode =1 OversampleDT = 0.0
TimingMode DeltaT = 0.0 Status
=0 4194.303
=0.0
RTSTime DINT DeltaT
Status
RTSMissed
=1 32,767ms
=1
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RTSTimeStamp DINT

DeltaT Status
RTSMissed
=1...32,767ms 32767 0
=1
=0
DeltaT REAL
DeltaT =
DeltaT =
DeltaT = OversampleDT
DeltaT = (RTSTimeStamp,, - RTSTimeStampy,_1)
Status DINT
TimingModelnv (Status.27) | BOOL TimingMode
RTSMissed (Status.28) BOOL ABS | DeltaT - RTSTime | > 1(.001
RTSTimelnv (Status.29) BOOL RTSTime
RTSTimeStamplnv BOOL RTSTimeStamp
(Status.30)
DeltaTInv (Status.31) BOOL DeltaT
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TimingMode =0 TimingMode =1 TimingMode = 2

C ) C ) C )
, ’

DeltaT = OversampleDT

DeltaT = RTSTimeStamp,, - RTSTimeStamp,,.;
DeltaT <0 DeltaT >

>
4194303 s DeltaT >0
DeltaT = 0.0 Status IRTSTIME - DeltaT| > 1
\ Status RTSMissed
DeltaT > 0

C ) C )

DeltaT = DeltaT =
DeltaT >0 DeltaT >0
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/ /

. (ESEL)
. (TOT)
. PID (PIDE)
. / (RMPS)
. 2 (D2SD)
. 3 (D3SD)
/
.ProgProgReq
.ProgOperReq
.OperProgReq
.OperOperReq
ProgOper
ProgOper
ProgOper
ProgProgReq ProgOperReq
ProgProgReq

ProgOperReq “ 72

662



Leeal:1:.ChOData [,

[

1

ProgOperReq

OperProgReq

“<17” ProgOperReq

TOT

TOT_0M
TOT B
Totalizer

In Total [—
= FrogFrogReq OldTotal &
—= FrogOperReq FrogQper [0
= FrogStartReq RunStop [
=] F topReq FrogReszethone [0
c] FrogResetReq TargetFlag [0
TargetDeviFlag @
TargetDevZFlag @

ProgOperReq
Totalizer : program:MainProgram.TOT_01 b
Total: 403,292 gallons | Mode: ”” (Program) (
Old Tatal: 0 gallans  |Operator OperProgReg )
Input: 5507 galfmin  |Run OperProgReq
TOT
Target
pee | EEEy
—Dev 1 Operatar |
Start |
Stop |
Reset |
i
B Detail.._|
Status: Ok
ProgProgReq “ i
ProgProgReq
ProgProgReq ProgProgReq
ProgOperReq
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664

FuelFlowContraller

FIDE I:I
Enhanced PIL

O SPFrog SP O
[ SPCascade FWHHAlamm [0
@—I—é RatioProg FWHAlam [
CWFrag FwLAlarm [
o FF FYLLALamm [0
O HandFB FWROCFosAlarm [0
II —— —z ProgProgReq PWROCHegAlarm [0
| 5 FrogOperReq LewHHAlarm [0
] ProgCasRatReq DevHAlarm [0
| ] ProgAutoReq CevlAlarm 5
|- —— —| FroghlanualReq CevllAlarm [
StanupSequenceActive 5 FrogOverideReq FrogQOper [0
PIDE 5 FragHandReq CasRat[n
Auto [
Stanupcv Manual =
Owerride [0
Hand 5

OperAutoReq PIDE
OperAutoReq

ProgValueReset

PIDE ProgAutoReq

ProgAutoReq
Auto

PIDE

PIDE

PIDE



TIC101AutoReq
ProgValueReset

ProgAutoReq

TIC101 AutoReqPB

TIC1 01 AutoR eqPB OneShot

PIDE

TIC101 ProgAutoReq TIC101
PIDE

J1 E
‘ J O

[ONS ]

TIC101. ProgtwtoReq
s
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667

669

671

678

679

695

667



669
) (BOOL
(
671
valuel
(BOOL SINT INT DINT REAL
)
4
tagl + tag2
tagl >= valuel
(tagl)
0
(
678
( )
( 1, 3);

G)

668



679 )

G)

IF.. THEN

CASE

FOR...DO
WHILE...DO
REPEAT...UNTIL
EXIT

695

I

(*

/*

)

*/

BOOL SINT INT DINT

REAL

BOOL BOOL

SINT
INT
DINT

REAL
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/ 671

. RUN

. SFC ( SFC “< ““(Automatic reset)
X Action
Action JSR

[=] ;

BOOL SINT INT DINT REAL

(=]

BOOL BOOL

SINT
INT

DINT

REAL
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ASCII
ASCII DATA
DATA
stringl.DATA[O]:= 65; stringl.DATA[O] := A;
stringl.DATA[O]:= string2.DATA[O]; stringl := string2;
ASCII
CONCAT
INSERT
. ( )
. ( )
. ABS, TRUNC
. + -,<, >, And, Or

““AND”” AND And and

677

671



672

BOOL BOOL

+ BOOL

. BOOL
. BOOL

tagl+s

. BOOL
(tagl+5)>65

1(

0(

tagl>65

BOOL

673

674

676

677




+ DINT REAL
/ - DINT REAL
* DINT REAL
(x o DINT REAL
/ DINT REAL
MOD DINT REAL
ABS (numeric_expression) DINT REAL
ACOS (numeric_expression) REAL
ASIN (numeric_expression) REAL
ATAN (numeric_expression) REAL
COS (nhumeric_expression) REAL
DEG (numeric_expression) DINT REAL
LN (numeric_expression) REAL
10 LOG (numeric_expression) REAL
RAD (numeric_expression) DINT REAL
SIN (numeric_expression) REAL
SQRT (numeric_expression) DINT REAL
TAN (numeric_expression) REAL
TRUNC (numeric_expression) DINT REAL

673



valuel operator value?2

gain_4 gain_4 adj DINT
¢ 15 gain_ 4
gain_ 4 adj ~~

gain_4_adj := gain_4+15;

operator valuel alarm  high_alarm DINT alarm:= -high_alarm;
““  high_alarm
alarm i
function(numeric_expression) overtravel overtravel POS overtravel POS :=
DINT cc ABS(overtravel);
overtravel

overtravel POS

valuel operator adjustment  position DINT position := adjustment +
(function((value2+value3)/2) sensorl  sensor2 REAL |ABS((sensorl +
cc sensorl sensor2)/2);
sensor2
adjustment
position ?
BOOL
0
= DINT REAL
< DINT REAL
<= DINT REAL
> DINT REAL
>= DINT REAL
<> DINT REAL
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valuel operator value2 temp  DINT o IF temp<100 THEN...
temp 100- .77
stringtagl operator bar_code dest IF bar_code=dest THEN...
stringtag?2 << bar_code dest
charl operator char2 bar_code IF bar_code.DATA[0]=65 THEN...
“ bar_code.DATA[O] ““A””
ASCII >
bool_tag := count length  DINT Done := (count >= length);
bool_expressions done BOOL
“c count length
ASCII
ASCII
lab $31$61$62
A 1b $31$62
A $41
AB $41$42 — AB<B
1
B $42 —
$61 — a>B
\ ab $61%$62
. “A,’ ($41) “a’,
($61)

675



BOOL
0
& AND BOOL
OR BOOL
XOR BOOL
NOT BOOL
BOOLtag photoeye = BOOL IF photoeye THEN...
“ photoeye 7z
NOT BOOLtag photoeye  BOOL IF NOT photoeye THEN...
“ photoeye 7
expressionl & expression2 photoeye  BOOL temp | IF photoeye & (temp<100) THEN...
DINT “
photoeye temp 100 -
expressionl OR expression2 photoeye = BOOL temp | IF photoeye OR (temp<100)
DINT << THEN...
photoeye temp 100 -
expressionl XOR expression2 photoeyel photoeye?2 IF photoeyel XOR photoeye2
BOOL << THEN...
 photoeyel photoeye 2
 photoeyel photoeye 2
BOOLtag := expressionl & photoeyel photoeye?2 Open := photoeyel & photoeye?2;
expression2 BOOL open BOOL
“e photoeye photoeye2
open 7z
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& AND DINT
OR DINT
XOR DINT
NOT DINT
valuel operator value2 inputl input2  resultl  DINT resultl := inputl AND input2;
“c inputl  input2
resultl 7z
()

1. ()

2. function ()

3. *

4. —( )

5. NOT

6. * | MOD

7. + ()

8. <, <=, >, >=

9. =<

10. & AND

11. XOR

12. OR
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15
Enableln
Enableln
ABL ABL
tag_xic tag_xic
tag_xic ABL
tag_wic AL
1 E H5CI Test For Buffer Line —E
Charinel 0 —DH—
SerialPort Control zemnial_contral  —CER>—
Character Count 0«
IF tag_xic THEN ABL(O,serial_control);
END_IF;
ABL tag_xic tag_xic
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ABL tag_xic

osri_1.IlnputBit := tag_xic;

OSRI(osri_1);

IF (osri_1.0utputBit) THEN
ABL(O,serial_control);

END_IF;

IF...THEN 680
CASE...OF 683
FOR...DO 686
WHILE...DO 689
REPEAT...UNTIL 692

+ GOTO
« REPEAT

RSLogix 5000
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IF..THEN IF THEN

IF bool_expression THEN

<statement>;
END_IF; _ BOOL BOOL (BOOL
- BOOL
(Bool_expression)
IF bool_expressionl THEN
<statement >; - bool_expressionl

bool_expression2

END_IF;
ELSIF ELSE
1. ELSIF
. ELSIF
. ELSIF
. IF  ELSIF ELSIF
ELSE
2. IF  ELSIF
ELSE

680



IF THEN ELSIF ELSE

IF THEN
IF THEN ELSE

IF THEN ELSIF

IF THEN ELSIF
ELSE

1 IF THEN
>3 IF rejects > 3 THEN
= (0) conveyor := 0O;
= (1) alarm:= 1;
END_IF;
2 IF THEN ELSE
= (1) IF conveyor_direction THEN
= light := 0;
= ELSE
|Iight [:=] 1;
END_IF;
[:=] light
RUN
SFC ( SFC << 7”(Automatic reset)
) Action
Action JSR )
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3 IF THEN ELSIF

= ) IF Sugar.Low & Sugar.High THEN
= ( )
= ( ) Sugar.Inlet [:=] 1;
= ) ELSIF NOT(Sugar.High) THEN
‘Sugar.lnlet = 0;
END_IF;
[= Sugar.Inlet
. RUN
. SFC ( SFC “< 77 (Automatic reset)
X Action
Action JSR )
4 IF THEN ELSIF ELSE
> 100 IF tank.temp > 200 THEN

= pump.fast :=1; pump.slow :=0; pump.off :=0;

> 200 ELSIF tank.temp > 100 THEN

= pump.fast :=0; pump.slow :=1; pump.off :=0;

= ELSE

pump.fast :=0; pump.slow :=0; pump.off :=1;

END_IF;
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CASE...OF

E numeric_expression OF
selectorl:statement;
selectorN:statement;

ELSE
statement;

END_CASE;

CASE

SINT ( )
INT
(Numeric_expression)
DINT

REAL

(Selector) SINT numeric_expression
INT
DINT

REAL

REAL

CASE numeric_expression OF

selectorl:

<statement>; q— numeric_expression =
selectorl

selector2: <statement>; @4— numeric_expression =
selector2

selector3: <statement>; @4— numeric_expression =

selector3
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ELSE
<statement>; @— numeric_expression
z=
END_CASE;
685
value:statement
valuel, value2, valueN :<statement>
()
valuel..valueN :<statement>
(-)
valuea, valueb, valuel..valueN :<statement>
CASE C C++ switch CASE

END_CASE
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=1 CASE recipe_number OF
1= Q) L
4= (1) Ingredient_A.Outlet_1 :=1;
Ingredient_B.Outlet_4 :=1;
=2 3 2,3
4= (1) Ingredient_A.Outlet_4 :=1;
_ (1) Ingredient_B.Outlet 2 :=1;
=4 5 6 7 4 7
4= (1) Ingredient_A.Outlet_4 :=1;
2= @) Ingredient_B.Outlet_2 :=1;
=8 11 12 13 8,11 13
1= Q) Ingredient_A.Outlet_1 :=1;
4= Q) Ingredient_B.Outlet_4 :=1;
= (0) ELSE

Ingredient_A.Outlet_1 [:=]0;
Ingredient_A.Outlet_4 [:=]0;
Ingredient_B.Outlet_2 [:=]0;

Ingredient_B.Outlet_4 [:=]0;

END_CASE;

RUN

SFC (  SFC
)(

Action JSR

£c

7”(Automatic reset)
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FOR DO FOR DO

FOR count:= initial_value TO
final_value BY increment DO

<statement>; (count)
END_FOR;

SINT
INT
DINT

FOR DO

(initial_ value)

SINT
INT
DINT

(final_ value)

SINT
INT

DINT

(increment)

SINT
INT

DINT

IF.. THEN
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FOR count := initial_value

TO final_value

{ BY increment 1
DO
<statement>;
IF bool_expression THEN
J EXIT, -
- ( IF..THEN )
{ END_IF; EXIT
END_FOR;
FOR...DO EXIT
X X
1 1
2 3 2
J \ ?
A 4 _—>
N il
FOR DO EXIT
6 1
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1
BOOL 0..31 For subscript:=0 to 31 by 1 do
1. subscript 0 array[subscript] := 0;
End_for;
2. array[ subscript ]
subscript =5 array[5]
3.  subscript 1
4. subscript Y 31 2 3
2
( ) SIZE(Inventory,0,Inventory_Items);
For position:=0 to Inventory_Items - 1 do
. ID( ) If Barcode = Inventory[position].ID then
. (DINT ) Quantity := Inventory[position].Qty;
Exit;
( ) End_if;
End_for;
1. Inventory ( )

Inventory_ltems(DINT )

2. position 0
3. Barcode ID
a. Quantity = Inventory[position].Qty
b.
Barcode
position =5 Barcode Inventory[5].ID
4. position 1
5. position =| (Inventory_ltems -1)
3 4 0

1
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WHILE DO WHILE DO

WHILE bool_expression DO
<statement>;

END_WHILE; BOOL BOOL BOOL

(Bool_expression)

. IF.. THEN

WHILE bool_expressionl DO

<statement>; - bool_expressionl

IF bool expression2 THEN

EXIT; -
END_IF;

(  IF..THEN )
EXIT

END_WHILE;
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WHILE...DO EXIT
1 1
2 2
\ 4 3 3
v
N/ A4 E—
N v
bool _expression EXIT
WHILE DO
6 1
1
WHILE...DO pos :=0;

REPEAT...UNTIL
REPEAT...UNTIL

REPEAT...UNTIL
WHILE...DO

While ((pos <= 100) & structarray[pos].value <>
targetvalue)) do

pos = pos + 2;

String_tag.DATA[pos] := SINT_array[pos];

end_while;
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2

SINT ASCII element_number := 0;

( SINT ) SIZE(SINT array, 0, SINT array_size):
While SINT_array[element_number] <> 13 do
1.~ Element_number 0 String_tag.DATA[element_number] :=
2 SINT array( ASCII ) SINT_array[element_number];
element_number := element_number + 1;

SINT_array_size(DINT ) String_tag.LEN := element_number;
3. SINT_array[element_number] If element_number = SINT _array_size then

13( ) -

exit;

4, String_tag[element_number] = end if:

SINT_array[element_number] —

end_while;

5. element_number 1

SINT_array
6. String_tag =

element_number ( String_tag

)
7. element_number = SINT_array_size
( )

8. 3
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REPEAT...UNTIL REPEAT...UNTIL

REPEAT
<statement>;
UNTIL bool_expression — BOOL BOO?_OOL (BOOL
END_REPEAT; (Bool_expression)
. IF...THEN
REPEAT
<statement>; - bool_expressionl

IF bool expression2 THEN

EXIT; -
END_IF; EXIT

(  IF..THEN )

UNTIL bool_expressionl

END_REPEAT;
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REPEAT...UNTIL EXIT
2 2
3 3
BOOL
v
BOOL e
bool _expression EXIT
REPEAT...UNTIL
6 1
REPEAT...UNTIL pos :=-1;
REPEAT

WHILE...DO
WHILE...DO

REPEAT...UNTIL
WHILE...DO

pos = pos + 2;

UNTIL ((pos = 101) OR (structarray[pos].value =
targetvalue))

end_repeat;
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2
SINT ASCII element_number := 0;
( SINT ) SIZE(SINT _array, 0, SINT _array_size);
Repeat
1. Element_number 0 String_tag.DATA[element_number] :=
0 SINT _array( ASCII ) SINT_array[element_number];

SINT _array_size(DINT )

3. String_tag[element_number] =
SINT_array[element_number]

4. element_number 1
SINT_array

5. String_tag =
element_number ( String_tag

)

6. element_number = SINT_array_size

(
)

7. SINT_array[element_number]
13( )

element_number := element_number + 1;

String_tag.LEN := element_number;

If element_number = SINT_array_size then

exit;

end_if;

Until SINT_array[element_number] = 13

end_repeat;
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Ik

"

L

"

L

(* %)
I* *
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696

//comment

//Check conveyor belt direction

IF conveyor_direction THEN...

ELSE //1f conveyor isn’t moving, set alarm light

light = 1;
END_IF;
(*comment*) Sugar.Inlet[:=]1; (*open the inlet*)
IF Sugar.Low (*low level LS*)& Sugar.High (*high level
LS*)THEN. ..
(*Controls the speed of the recirculation pump.The
speed depends on the temperature in the tank.*)
IF tank.temp > 200 THEN...
/*comment*/ Sugar.iInlet:=0;/*close the inlet*/

IF bar_code=65 /*A*/ THEN...

/*Gets the number of elements in the Inventory array
and stores the value in the Inventory_ ltems tag*/

SIZE(Inventory,0, Inventory_ltems);




ABL 578
ABS 285
ACB 581
ACL 583
ACS 540
ADD 260
AFI 464
AHL 585
ALMA 42
ALMD
30
30
AND 311
ARD 589
ARL 593
ASCII
589
593
578
581
671
583
585
602
597
ABL 578
ACB 581
ACL 583
AHL 585
ARD 589
ARL 593
AWA 597
AWT 602
CONCAT 609
615
613
DTOS 627
631
MID 617
RTOS 629
STOD 621
STOR 624

SWPB 307

611

633
ASN 537
ATN 543
AWA 597
AVE 373
AWT 602

AND 311
314
NOT 322

318

677

B
BAND 325
BNOT 334
BOOL

671

BOR 328
BRK 481
BSL 394
BSR 398
BTD 299

BTDT 302
BXOR 331

126
114
512

ALMA 42
68
68

69
65
71
62
214
487, 495

217, 360



698

CMP 214

EQU 219

GEQ 223

GRT 227

213

LEQ 231

LES 235

LIM 239

MEQ 245

NEQ 250
216, 360

217, 361

505

BOOL
671
217, 258, 353, 360

677
671

674
673

676

673

671
216, 258, 352, 360
217, 259, 353, 361

677
442, 635, 639
383
250

AND 325
328
NOT 334

331

C
CASE 683
CLR 305
CMP 214
CONCAT 609
COP 363
COS 531

CPS
CPT
CTD
CTuU

363
256
134
130

CTUD 138

338

615
615
613
613
266

662

AFI 464
EOT 466
JMP 442, 635, 639
JSR 444
441
LBL 442, 635, 639
MCR 460
NOP 465
RET 444
SBR 444
472
TND 458
UID 462
UIE 462

389
269

472
472

574, 576, 578, 581,
586, 590, 594, 598,

603

ABL 578
ACB 581
ACL 583
AHL 585



ARD 589
ARL 593
AWA 597
AWT 602

573

ASCII 576
MSG 154

D

227
DDT
494
496
DEG 558
DINT 627
DIV 269
DTOS 627
DTR 502
631
631

223
90
98
101
93
96
219
635
513

10 551
551
548

GSVISSV 185

E

EOT 466
EQU 219

FAL
338

343
FBC
486
488
FBD_BIT_FIELD_DISTRIBUTE
302

FBD_BOOLEAN_AND 325
FBD_BOOLEAN_NOT 334
FBD_BOOLEAN_OR 328
FBD_BOOLEAN_XOR 331
FBD_COMPARE 220, 224,
228,232, 236, 251
FBD_CONVERT 564, 567
FBD_COUNTER 138

FBD _LIMIT 240
FBD_LOGICAL 312, 315,
319,323

FBD_MASKED_MOVE 296
FBD_MASK_EQUAL 246
FBD_MATH 261, 264, 267,
270,275, 283, 555
FBD_MATH_ADVANCED
279,286, 529, 532, 535, 538, 541,
544, 548, 552, 559, 562
FBD_ONESHOT 98, 101
FBD_TIMER 118, 122, 126
FBD_TRUNCATE 569

FFL 402
FFU 408
FIFO 408
FIFO 402
FLL 369
FOR 478
FOR DO 686
FRD 567
FSC
338
354
540
543
537
444, 482
466
653

699



143
SFC 470

ASCII 671
669
670
363

G
GEQ 223
GRT 227
GSV
182
185

551

547
LN 548

XPY 554
209

653
649

674

673
464

670
561

179
644
182

J
ICON 649
if...then 680

655

654

JMP 442, 635, 639

10T 209
IREF 649

700

JSR 444
657

122
118
110
106, 110, 114
106

105
RES 143

RTO 114
RTOR 126
TOF 110
TOFR 122
TON 106
TONR 118

134
130
/138
130, 134

CTD 134
CTU 130
CTUD 138
105
RES 143

256

ABS 285
ADD 260
258, 353
CPT 256
DIV 269
255
MOD 274
MUL 266
NEG 282
SQR 278
SUB 263
258, 352
259, 353
JXR
456
653, 654, 655



260
81
263
558
307
569

487, 495
574, 576, 578, 581,
586, 590, 594, 598, 603
FBD_CONVERT 564, 567
FBD_COUNTER 138
FBD_MATH 555
FBD_MATH_ADVANCED 529,
532, 535, 538, 541, 544,
548, 552, 559, 562
FBD_ONESHOT 98, 101
FBD_TIMER 118, 122, 126
FBD_TRUNCATE 569
106, 110, 114
130, 134
679
487, 495
344, 354, 374, 378, 383,
428, 432, 436
PID 506
RES 143
146
575, 608, 620

677
671
CASE 683
FOR DO 686
670
669
674
673
if...then 680
ASCII 671
679
676
REPEAT  UNTIL 692
671
673
while  do 689

F

695
675
667

BD_BIT_FIELD DISTRIBUT
E 302

FBD_BOOLEAN_AND 325
FBD_BOOLEAN_NOT 334
FBD_BOOLEAN_OR 328
FBD_BOOLEAN_XOR 331
FBD_COMPARE 220, 224,

228, 232, 236, 251

FBD_LIMIT 240
FBD_LOGICAL 312, 315, 319,

323

FBD_MASKED_MOVE 296
FBD_MASK_EQUAL 246
FBD_MATH 261, 264, 267,

270, 275, 283

FBD_MATH_ADVANCED 279,

394,

286

394, 398, 403, 409, 414,
415, 421

487, 495
285

K

465
344, 354, 374, 378, 383,
398, 403, 409, 414, 415, 421,

428, 432, 436, 456

LBL
LEQ
LES
LFL
LFU
LIFO
LIFO
LIM
LN

L

442, 635, 639
231

235

414

420
420
414

239

548

209
643

701



702

OSR
OSRI
OTE
OTL
OTU

93
98
84
86
88

PID
506

512
505
513
523
523
522
511
510
378

296
293
503
245
278
373

523

305
274

282

R

RAD
REAL

REPEAT

RES
RET
RTO
RTOR

561
629
UNTIL 692
143
444, 482
114
126

179
649
458
676
AND 311
289
NOT 322
OR 314
XOR 318
M
MCR 460
MEQ 245
MID 617
MOD 274
MOV 291
MSG
161
181
146
154
179
146
178
MUL 266
MVM 293
MVMT 296
N
NEG 282
NEQ 250
NOP 465
NOT 322
o)
OCON 649
ONS 90
OR 314
OREF 649
OSF 96
OSFI 101

RTOS 629

472
209



S

SBR 444
SFP 468
SFR 470
SIN 528
SQl 428
SQL 436
SQO 432
SQR 278
SRT 378
SSV
182
185
STD 383
STOD 621
STOR 624
SUB 263
SWPB 307
ACS 540
ASN 537
ATN 543
COS 531
527
SIN 528
TAN 534
655
611
182
472
649
84
88
209
649
523
86
502
339

472
209

649
649

/
GSV 182

10T 209

145
MSG 146

SSV 182

643

DEG 558
FRD 567

557
RAD 561

TOD 564
TRN 569

671

AVE 373
BSL 394
BSR 398
COP 363
CPS 363

338

389
DDT 494

FAL 343
FBC 486
FFL 402
FFU 408
FLL 369
FSC 354
LFL 414
LFU 420
RES 143
SQI 428
SQL 436
SQO 432
SRT 378
STD 383

644

673

703



704

427
/ 337
393

432
428

427
SQI 428

SQL 436
SQO 432

436

695
522

488, 496
613

673

656
650

TAN 534
TND 458
TOD 564
TOF 110
TOFR 122
TON 106
TONR 118
TRN 569

DDT 494
DTR 502
FBC 486
485
PID 505
SFP 468
SFR 470
442, 635, 639
444
363
643

643
644

wW
while  do 689
uiD 462
UIE 462

302
398
299

77
ONS 90
OSF 96
OSFI 101
OSR 93
OSRI 98
OTE 84
OTL 86
OTU 88
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